
Sabre Industries - Sample Price List

Part Number Part Description MSRP

LDA Towers 
C05109707 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 7  $ 5,354.00 
C05109706 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 7  $ 4,404.00 
C05109705 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 7  $ 3,502.00 
C05109704 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 7  $ 2,747.00 
C05109703 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 7  $ 2,066.00 
C05109702 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 7  $ 1,421.00 
C05109608 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 6  $ 5,945.00 
C05109607 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 6  $ 4,996.00 
C05109606 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 6  $ 4,093.00 
C05109605 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 6  $ 3,338.00 
C05109604 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 6  $ 2,658.00 
C05109603 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 6  $ 2,012.00 
C05109602 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 6  $ 1,361.00 
C05109508 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 5  $ 5,570.00 
C05109507 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 5  $ 4,667.00 
C05109506 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 5  $ 3,912.00 
C05109505 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 5  $ 3,232.00 
C05109504 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 5  $ 2,586.00 
C05109503 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 5  $ 1,935.00 
C05109502 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 5  $ 1,299.00 
C05109410 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 4  $ 7,111.00 
C05109409 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 4  $ 6,161.00 
C05109408 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 4  $ 5,258.00 
C05109407 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 4  $ 4,503.00 
C05109406 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 4  $ 3,823.00 
C05109405 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 4  $ 3,177.00 
C05109404 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 4  $ 2,526.00 
C05109403 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 4  $ 1,889.00 
C05109402 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 4  $ 1,304.00 
C05109311 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 3  $ 7,617.00 
C05109310 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 3  $ 6,667.00 
C05109309 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 3  $ 5,764.00 
C05109308 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 3  $ 5,009.00 
C05109307 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 3  $ 4,329.00 
C05109306 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 3  $ 3,683.00 
C05109305 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 3  $ 3,032.00 
C05109304 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 3  $ 2,395.00 
C05109303 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 3  $ 1,810.00 
C05109302 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 3  $ 1,206.00 
C05109215 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 2  $ 11,156.00 
C05109214 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 2  $ 10,085.00 
C05109213 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 2  $ 9,055.00 
C05109212 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 2  $ 8,077.00 
C05109211 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 2  $ 7,127.00 

�1



C05109210 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 2  $ 6,224.00 
C05109209 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 2  $ 5,470.00 
C05109208 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 2  $ 4,789.00 
C05109207 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 2  $ 4,143.00 
C05109206 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 2  $ 3,492.00 
C05109205 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 2  $ 2,856.00 
C05109204 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 2  $ 2,270.00 
C05109203 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 2  $ 1,666.00 
C05109202 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 2  $ 1,071.00 
C05109115 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 1  $ 10,563.00 
C05109114 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 1  $ 9,533.00 
C05109113 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 1  $ 8,555.00 
C05109112 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 1  $ 7,605.00 
C05109111 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 1  $ 6,702.00 
C05109110 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 1  $ 5,948.00 
C05109109 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 1  $ 5,267.00 
C05109108 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 1  $ 4,621.00 
C05109107 S3A-LDA SELF-SUPPORTING TOWER - 70 FOOT SERIES 1  $ 3,970.00 
C05109106 S3A-LDA SELF-SUPPORTING TOWER - 60 FOOT SERIES 1  $ 3,334.00 
C05109105 S3A-LDA SELF-SUPPORTING TOWER - 50 FOOT SERIES 1  $ 2,748.00 
C05109104 S3A-LDA SELF-SUPPORTING TOWER - 40 FOOT SERIES 1  $ 2,144.00 
C05109103 S3A-LDA SELF-SUPPORTING TOWER - 30 FOOT SERIES 1  $ 1,549.00 
C05109102 S3A-LDA SELF-SUPPORTING TOWER - 20 FOOT SERIES 1  $ 1,037.00 
C05109715 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 7  $ 23,850.00 
C05109714 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 7  $ 21,626.00 
C05109713 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 7  $ 19,419.00 
C05109712 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 7  $ 17,257.00 
C05109711 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 7  $ 15,332.00 
C05109710 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 7  $ 13,493.00 
C05109709 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 7  $ 11,780.00 
C05109708 S3A-LDA SELF-SUPPORTING TOWER - 80 FOOT SERIES 7  $ 10,132.00 
C05109615 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 6  $ 22,572.00 
C05109614 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 6  $ 20,365.00 
C05109613 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 6  $ 18,203.00 
C05109612 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 6  $ 16,278.00 
C05109611 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 6  $ 14,439.00 
C05109610 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 6  $ 12,726.00 
C05109609 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 6  $ 11,078.00 
C05109515 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 5  $ 21,284.00 
C05109514 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 5  $ 19,122.00 
C05109513 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 5  $ 17,197.00 
C05109512 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 5  $ 15,358.00 
C05109511 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 5  $ 13,645.00 
C05109510 S3A-LDA SELF-SUPPORTING TOWER - 100 FOOT SERIES 5  $ 11,996.00 
C05109509 S3A-LDA SELF-SUPPORTING TOWER - 90 FOOT SERIES 5  $ 10,431.00 
C05109415 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 4  $ 20,067.00 
C05109414 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 4  $ 18,142.00 
C05109413 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 4  $ 16,303.00 
C05109412 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 4  $ 14,591.00 
C05109411 S3A-LDA SELF-SUPPORTING TOWER - 110 FOOT SERIES 4  $ 12,942.00 

�2



C05109315 S3A-LDA SELF-SUPPORTING TOWER - 150 FOOT SERIES 3  $ 18,952.00 
C05109314 S3A-LDA SELF-SUPPORTING TOWER - 140 FOOT SERIES 3  $ 17,113.00 
C05109313 S3A-LDA SELF-SUPPORTING TOWER - 130 FOOT SERIES 3  $ 15,400.00 
C05109312 S3A-LDA SELF-SUPPORTING TOWER - 120 FOOT SERIES 3  $ 13,751.00 

1200 TLWD Free Standing Towers 
C05001001 1200 TLWD FREESTANDING TOWER 10 FOOT SELF-SUPPORTING TOWER  $ 715.00 
C05001002 1200 TLWD FREESTANDING TOWER 15 FOOT SELF-SUPPORTING TOWER  $ 1,079.00 
C05001003 1200 TLWD FREESTANDING TOWER 20 FOOT SELF-SUPPORTING TOWER  $ 1,014.00 
C05001004 1200 TLWD FREESTANDING TOWER 25 FOOT SELF-SUPPORTING TOWER  $ 1,377.00 
C05001005 1200 TLWD FREESTANDING TOWER 30 FOOT SELF-SUPPORTING TOWER  $ 1,313.00 
C05001006 1200 TLWD FREESTANDING TOWER 35 FOOT SELF-SUPPORTING TOWER  $ 1,676.00 
C05001007 1200 TLWD FREESTANDING TOWER 40 FOOT SELF-SUPPORTING TOWER  $ 1,611.00 
C05001008 1200 TLWD FREESTANDING TOWER 45 FOOT SELF-SUPPORTING TOWER  $ 1,975.00 
C05001009 1200 TLWD FREESTANDING TOWER 50 FOOT SELF-SUPPORTING TOWER  $ 1,910.00 
C05001010 1200 TLWD FREESTANDING TOWER 55 FOOT SELF-SUPPORTING TOWER  $ 2,274.00 

1200 TLWD Guy Towers 
C05001012 1200 TLWD GUY TOWER 40 FOOT GUY TOWER  $ 2,083.00 
C05001014 1200 TLWD GUY TOWER 50 FOOT GUY TOWER  $ 2,527.00 
C05001016 1200 TLWD GUY TOWER 60 FOOT GUY TOWER  $ 2,853.00 
C05001018 1200 TLWD GUY TOWER 70 FOOT GUY TOWER  $ 3,406.00 
C05001020 1200 TLWD GUY TOWER 80 FOOT GUY TOWER  $ 3,730.00 
C05001022 1200 TLWD GUY TOWER 90 FOOT GUY TOWER  $ 4,049.00 
C05001024 1200 TLWD GUY TOWER 100 FOOT GUY TOWER  $ 4,634.00 
C05001026 1200 TLWD GUY TOWER 110 FOOT GUY TOWER  $ 4,963.00 
C05001028 1200 TLWD GUY TOWER 120 FOOT GUY TOWER  $ 5,287.00 
C05001030 1200 TLWD GUY TOWER 130 FOOT GUY TOWER  $ 5,914.00 
C05001032 1200 TLWD GUY TOWER 140 FOOT GUY TOWER  $ 6,249.00 
C05001034 1200 TLWD GUY TOWER 150 FOOT GUY TOWER  $ 6,577.00 
C05001036 1200 TLWD GUY TOWER 160 FOOT GUY TOWER  $ 7,389.00 
C05001038 1200 TLWD GUY TOWER 170 FOOT GUY TOWER  $ 7,747.00 
C05001040 1200 TLWD GUY TOWER 180 FOOT GUY TOWER  $ 8,080.00 
C05001042 1200 TLWD GUY TOWER 190 FOOT GUY TOWER  $ 8,908.00 
C05001044 1200 TLWD GUY TOWER 200 FOOT GUY TOWER  $ 9,232.00 
C05001046 1200 TLWD GUY TOWER 210 FOOT GUY TOWER  $ 9,529.00 
C05001048 1200 TLWD GUY TOWER 220 FOOT GUY TOWER  $ 10,245.00 
C05001050 1200 TLWD GUY TOWER 230 FOOT GUY TOWER  $ 10,573.00 
C05001052 1200 TLWD GUY TOWER 240 FOOT GUY TOWER  $ 10,895.00 
C05001054 1200 TLWD GUY TOWER 250 FOOT GUY TOWER  $ 11,681.00 

1800 TLWD Free Standing Towers 
C05002001 1800 TLWD FREESTANDING TOWER 10 FOOT SELF-SUPPORTING TOWER  $ 736.00 
C05002002 1800 TLWD FREESTANDING TOWER 15 FOOT SELF-SUPPORTING TOWER  $ 1,108.00 
C05002003 1800 TLWD FREESTANDING TOWER 20 FOOT SELF-SUPPORTING TOWER  $ 1,153.00 
C05002004 1800 TLWD FREESTANDING TOWER 25 FOOT SELF-SUPPORTING TOWER  $ 1,526.00 
C05002005 1800 TLWD FREESTANDING TOWER 30 FOOT SELF-SUPPORTING TOWER  $ 1,571.00 
C05002006 1800 TLWD FREESTANDING TOWER 35 FOOT SELF-SUPPORTING TOWER  $ 1,943.00 
C05002007 1800 TLWD FREESTANDING TOWER 40 FOOT SELF-SUPPORTING TOWER  $ 1,988.00 
C05002008 1800 TLWD FREESTANDING TOWER 45 FOOT SELF-SUPPORTING TOWER  $ 2,360.00 
C05002009 1800 TLWD FREESTANDING TOWER 50 FOOT SELF-SUPPORTING TOWER  $ 2,406.00 
C05002010 1800 TLWD FREESTANDING TOWER 55 FOOT SELF-SUPPORTING TOWER  $ 2,778.00 
C05002011 1800 TLWD FREESTANDING TOWER 60 FOOT SELF-SUPPORTING TOWER  $ 2,823.00 

�3



C05002012 1800 TLWD FREESTANDING TOWER 65 FOOT SELF-SUPPORTING TOWER  $ 3,195.00 
1800 TLWD Guy Towers 

C05002014 1800 TLWD GUY TOWER 40 FOOT GUY TOWER  $ 2,816.00 
C05002016 1800 TLWD GUY TOWER 50 FOOT GUY TOWER  $ 3,257.00 
C05002018 1800 TLWD GUY TOWER 60 FOOT GUY TOWER  $ 3,927.00 
C05002020 1800 TLWD GUY TOWER 70 FOOT GUY TOWER  $ 4,374.00 
C05002022 1800 TLWD GUY TOWER 80 FOOT GUY TOWER  $ 4,873.00 
C05002024 1800 TLWD GUY TOWER 90 FOOT GUY TOWER  $ 5,323.00 
C05002026 1800 TLWD GUY TOWER 100 FOOT GUY TOWER  $ 6,039.00 
C05002028 1800 TLWD GUY TOWER 110 FOOT GUY TOWER  $ 6,737.00 
C05002030 1800 TLWD GUY TOWER 120 FOOT GUY TOWER  $ 7,189.00 
C05002032 1800 TLWD GUY TOWER 130 FOOT GUY TOWER  $ 7,653.00 
C05002034 1800 TLWD GUY TOWER 140 FOOT GUY TOWER  $ 8,496.00 
C05002036 1800 TLWD GUY TOWER 150 FOOT GUY TOWER  $ 8,887.00 
C05002038 1800 TLWD GUY TOWER 160 FOOT GUY TOWER  $ 9,343.00 
C05002040 1800 TLWD GUY TOWER 170 FOOT GUY TOWER  $ 9,995.00 
C05002042 1800 TLWD GUY TOWER 180 FOOT GUY TOWER  $ 10,752.00 
C05002044 1800 TLWD GUY TOWER 190 FOOT GUY TOWER  $ 11,131.00 
C05002046 1800 TLWD GUY TOWER 200 FOOT GUY TOWER  $ 11,593.00 
C05002048 1800 TLWD GUY TOWER 210 FOOT GUY TOWER  $ 12,075.00 
C05002050 1800 TLWD GUY TOWER 220 FOOT GUY TOWER  $ 12,930.00 
C05002052 1800 TLWD GUY TOWER 230 FOOT GUY TOWER  $ 13,517.00 
C05002054 1800 TLWD GUY TOWER 240 FOOT GUY TOWER  $ 14,095.00 
C05002056 1800 TLWD GUY TOWER 250 FOOT GUY TOWER  $ 14,595.00 
C05002058 1800 TLWD GUY TOWER 260 FOOT GUY TOWER  $ 15,787.00 
C05002060 1800 TLWD GUY TOWER 270 FOOT GUY TOWER  $ 16,246.00 
C05002062 1800 TLWD GUY TOWER 280 FOOT GUY TOWER  $ 16,717.00 
C05002064 1800 TLWD GUY TOWER 290 FOOT GUY TOWER  $ 17,235.00 
C05002066 1800 TLWD GUY TOWER 300 FOOT GUY TOWER  $ 18,254.00 

1800 SRWD Freestanding Towers
C05003001 1800 SRWD FREESTANDING TOWER 10 FOOT SELF-SUPPORTING TOWER  $ 910.00 
C05003002 1800 SRWD FREESTANDING TOWER 15 FOOT SELF-SUPPORTING TOWER  $ 1,174.00 
C05003003 1800 SRWD FREESTANDING TOWER 20 FOOT SELF-SUPPORTING TOWER  $ 1,409.00 
C05003004 1800 SRWD FREESTANDING TOWER 25 FOOT SELF-SUPPORTING TOWER  $ 1,791.00 
C05003005 1800 SRWD FREESTANDING TOWER 30 FOOT SELF-SUPPORTING TOWER  $ 2,026.00 
C05003006 1800 SRWD FREESTANDING TOWER 35 FOOT SELF-SUPPORTING TOWER  $ 2,290.00 
C05003007 1800 SRWD FREESTANDING TOWER 40 FOOT SELF-SUPPORTING TOWER  $ 2,644.00 
C05003008 1800 SRWD FREESTANDING TOWER 45 FOOT SELF-SUPPORTING TOWER  $ 2,908.00 
C05003009 1800 SRWD FREESTANDING TOWER 50 FOOT SELF-SUPPORTING TOWER  $ 3,143.00 
C05003010 1800 SRWD FREESTANDING TOWER 55 FOOT SELF-SUPPORTING TOWER  $ 3,407.00 
C05003011 1800 SRWD FREESTANDING TOWER 60 FOOT SELF-SUPPORTING TOWER  $ 3,642.00 
C05003012 1800 SRWD FREESTANDING TOWER 65 FOOT SELF-SUPPORTING TOWER  $ 3,906.00 
C05003013 1800 SRWD FREESTANDING TOWER 70 FOOT SELF-SUPPORTING TOWER  $ 4,141.00 
C05003014 1800 SRWD FREESTANDING TOWER 75 FOOT SELF-SUPPORTING TOWER  $ 4,406.00 
C05003015 1800 SRWD FREESTANDING TOWER 80 FOOT SELF-SUPPORTING TOWER  $ 4,641.00 
C05003016 1800 SRWD FREESTANDING TOWER 85 FOOT SELF-SUPPORTING TOWER  $ 4,905.00 

UL Self-Supporting Towers 
C05099004 S3T-L UL SELF-SUPPORTING TOWER 50 FOOT - 110 MPH  $ 3,871.00 
C05099006 S3T-L UL SELF-SUPPORTING TOWER 60 FOOT - 110 MPH  $ 5,308.00 
C05099008 S3T-L UL SELF-SUPPORTING TOWER 60 FOOT - 100 MPH  $ 4,370.00 

�4



C05099010 S3T-L UL SELF-SUPPORTING TOWER 70 FOOT - 90 MPH  $ 5,807.00 
C05099012 S3T-L UL SELF-SUPPORTING TOWER 70 FOOT - 100 MPH  $ 5,807.00 
C05099013 S3T-L UL SELF-SUPPORTING TOWER 70 FOOT - 110 MPH  $ 6,623.00 
C05099015 S3T-L UL SELF-SUPPORTING TOWER 80 FOOT - 90 MPH  $ 7,122.00 
C05099016 S3T-L UL SELF-SUPPORTING TOWER 80 FOOT - 110 MPH  $ 7,240.00 
C05099018 S3T-L UL SELF-SUPPORTING TOWER 80 FOOT - 80 MPH  $ 6,306.00 
C05099019 S3T-L UL SELF-SUPPORTING TOWER 80 FOOT - 100 MPH  $ 7,240.00 
C05099022 S3T-L UL SELF-SUPPORTING TOWER 90 FOOT - 110 MPH  $ 8,674.00 
C05099023 S3T-L UL SELF-SUPPORTING TOWER 90 FOOT - 70 MPH  $ 6,924.00 
C05099024 S3T-L UL SELF-SUPPORTING TOWER 90 FOOT - 80 MPH  $ 7,740.00 
C05099025 S3T-L UL SELF-SUPPORTING TOWER 90 FOOT - 90 MPH  $ 7,740.00 
C05099026 S3T-L UL SELF-SUPPORTING TOWER 90 FOOT - 100 MPH  $ 7,740.00 
C05099028 S3T-L UL SELF-SUPPORTING TOWER 100 FOOT - 90 MPH  $ 9,173.00 
C05099030 S3T-L UL SELF-SUPPORTING TOWER 100 FOOT - 100 MPH  $ 9,291.00 
C05099032 S3T-L UL SELF-SUPPORTING TOWER 100 FOOT - 70 MPH  $ 8,239.00 
C05099033 S3T-L UL SELF-SUPPORTING TOWER 100 FOOT - 80 MPH  $ 8,357.00 
C05099034 S3T-L UL SELF-SUPPORTING TOWER 100 FOOT - 110 MPH  $ 10,702.00 
C05099037 S3T-L UL SELF-SUPPORTING TOWER 110 FOOT - 110 MPH  $ 11,611.00 
C05099038 S3T-L UL SELF-SUPPORTING TOWER 110 FOOT - 70 MPH  $ 8,856.00 
C05099039 S3T-L UL SELF-SUPPORTING TOWER 110 FOOT - 80/90 MPH  $ 9,791.00 
C05099040 S3T-L UL SELF-SUPPORTING TOWER 110 FOOT - 100 MPH  $ 11,201.00 
C05099043 S3T-L UL SELF-SUPPORTING TOWER 120 FOOT - 100 MPH  $ 11,818.00 
C05099045 S3T-L UL SELF-SUPPORTING TOWER 120 FOOT - 70 MPH  $ 10,290.00 
C05099046 S3T-L UL SELF-SUPPORTING TOWER 120 FOOT - 80 MPH  $ 10,408.00 
C05099047 S3T-L UL SELF-SUPPORTING TOWER 120 FOOT - 90 MPH  $ 11,700.00 
C05099048 S3T-L UL SELF-SUPPORTING TOWER 120 FOOT - 110 MPH  $ 13,231.00 
C05099050 S3T-L UL SELF-SUPPORTING TOWER 130 FOOT - 90 MPH  $ 12,318.00 
C05099051 S3T-L UL SELF-SUPPORTING TOWER 130 FOOT - 110 MPH  $ 14,218.00 
C05099053 S3T-L UL SELF-SUPPORTING TOWER 130 FOOT - 70 MPH  $ 10,907.00 
C05099054 S3T-L UL SELF-SUPPORTING TOWER 130 FOOT - 80 MPH  $ 12,318.00 
C05099055 S3T-L UL SELF-SUPPORTING TOWER 130 FOOT - 100 MPH  $ 13,730.00 
C05099056 S3T-L UL SELF-SUPPORTING TOWER 140 FOOT - 80 MPH  $ 12,935.00 
C05099057 S3T-L UL SELF-SUPPORTING TOWER 140 FOOT - 100 MPH  $ 14,348.00 
C05099059 S3T-L UL SELF-SUPPORTING TOWER 140 FOOT - 70 MPH  $ 12,817.00 
C05099060 S3T-L UL SELF-SUPPORTING TOWER 140 FOOT - 90 MPH  $ 14,229.00 
C05099061 S3T-L UL SELF-SUPPORTING TOWER 140 FOOT - 110 MPH  $ 16,989.00 
C05099063 S3T-L UL SELF-SUPPORTING TOWER 150 FOOT - 90 MPH  $ 14,847.00 
C05099064 S3T-L UL SELF-SUPPORTING TOWER 150 FOOT - 110 MPH  $ 17,489.00 
C05099065 S3T-L UL SELF-SUPPORTING TOWER 150 FOOT - 70 MPH  $ 13,434.00 
C05099066 S3T-L UL SELF-SUPPORTING TOWER 150 FOOT - 80 MPH  $ 14,847.00 
C05099067 S3T-L UL SELF-SUPPORTING TOWER 150 FOOT - 100 MPH  $ 16,864.00 
C05099068 S3T-L UL SELF-SUPPORTING TOWER 160 FOOT - 80 MPH  $ 17,363.00 
C05099070 S3T-L UL SELF-SUPPORTING TOWER 160 FOOT - 100 MPH  $ 18,106.00 
C05099071 S3T-L UL SELF-SUPPORTING TOWER 160 FOOT - 70 MPH  $ 15,346.00 
C05099072 S3T-L UL SELF-SUPPORTING TOWER 160 FOOT - 90 MPH  $ 17,481.00 
C05099073 S3T-L UL SELF-SUPPORTING TOWER 160 FOOT - 110 MPH  $ 20,915.00 

VL Self-Supporting Towers
C05101001 S3T-L VL SELF-SUPPORTING TOWER 40 FOOT - 70 MPH  $ 4,266.00 
C05101002 S3T-L VL SELF-SUPPORTING TOWER 45 FOOT - 70 MPH  $ 5,363.00 
C05101003 S3T-L VL SELF-SUPPORTING TOWER 50 FOOT - 70 MPH  $ 5,745.00 

�5



C05101004 S3T-L VL SELF-SUPPORTING TOWER 55 FOOT - 70 MPH  $ 6,087.00 
C05101005 S3T-L VL SELF-SUPPORTING TOWER 60 FOOT - 70 MPH  $ 6,268.00 
C05101006 S3T-L VL SELF-SUPPORTING TOWER 65 FOOT - 70 MPH  $ 7,659.00 
C05101007 S3T-L VL SELF-SUPPORTING TOWER 70 FOOT - 70 MPH  $ 8,044.00 
C05101008 S3T-L VL SELF-SUPPORTING TOWER 75 FOOT - 70 MPH  $ 8,387.00 
C05101009 S3T-L VL SELF-SUPPORTING TOWER 80 FOOT - 70 MPH  $ 8,567.00 
C05101010 S3T-L VL SELF-SUPPORTING TOWER 85 FOOT - 70 MPH  $ 9,631.00 
C05101011 S3T-L VL SELF-SUPPORTING TOWER 90 FOOT - 70 MPH  $ 10,013.00 
C05101012 S3T-L VL SELF-SUPPORTING TOWER 95 FOOT - 70 MPH  $ 10,356.00 
C05101013 S3T-L VL SELF-SUPPORTING TOWER 100 FOOT - 70 MPH  $ 10,536.00 
C05101014 S3T-L VL SELF-SUPPORTING TOWER 105 FOOT - 70 MPH  $ 12,160.00 
C05101015 S3T-L VL SELF-SUPPORTING TOWER 110 FOOT - 70 MPH  $ 12,542.00 
C05101016 S3T-L VL SELF-SUPPORTING TOWER 115 FOOT - 70 MPH  $ 12,885.00 
C05101017 S3T-L VL SELF-SUPPORTING TOWER 120 FOOT - 70 MPH  $ 13,065.00 
C05101018 S3T-L VL SELF-SUPPORTING TOWER 125 FOOT - 70 MPH  $ 14,691.00 
C05101019 S3T-L VL SELF-SUPPORTING TOWER 130 FOOT - 70 MPH  $ 15,073.00 
C05101020 S3T-L VL SELF-SUPPORTING TOWER 135 FOOT - 70 MPH  $ 15,416.00 
C05101021 S3T-L VL SELF-SUPPORTING TOWER 140 FOOT - 70 MPH  $ 15,596.00 
C05101022 S3T-L VL SELF-SUPPORTING TOWER 145 FOOT - 70 MPH  $ 17,827.00 
C05101023 S3T-L VL SELF-SUPPORTING TOWER 150 FOOT - 70 MPH  $ 18,209.00 
C05101024 S3T-L VL SELF-SUPPORTING TOWER 155 FOOT - 70 MPH  $ 18,551.00 
C05101025 S3T-L VL SELF-SUPPORTING TOWER 160 FOOT - 70 MPH  $ 18,732.00 
C05101026 S3T-L VL SELF-SUPPORTING TOWER 165 FOOT - 70 MPH  $ 21,188.00 
C05101027 S3T-L VL SELF-SUPPORTING TOWER 170 FOOT - 70 MPH  $ 21,569.00 
C05101028 S3T-L VL SELF-SUPPORTING TOWER 175 FOOT - 70 MPH  $ 21,912.00 
C05101029 S3T-L VL SELF-SUPPORTING TOWER 180 FOOT - 70 MPH  $ 22,092.00 
C05101030 S3T-L VL SELF-SUPPORTING TOWER 185 FOOT - 70 MPH  $ 25,411.00 
C05101031 S3T-L VL SELF-SUPPORTING TOWER 190 FOOT - 70 MPH  $ 25,793.00 
C05101032 S3T-L VL SELF-SUPPORTING TOWER 195 FOOT - 70 MPH  $ 26,135.00 
C05101033 S3T-L VL SELF-SUPPORTING TOWER 200 FOOT - 70 MPH  $ 26,316.00 
C05101034 S3T-L VL SELF-SUPPORTING TOWER 205 FOOT - 70 MPH  $ 29,514.00 
C05101035 S3T-L VL SELF-SUPPORTING TOWER 210 FOOT - 70 MPH  $ 29,896.00 
C05101036 S3T-L VL SELF-SUPPORTING TOWER 215 FOOT - 70 MPH  $ 30,239.00 
C05101037 S3T-L VL SELF-SUPPORTING TOWER 220 FOOT - 70 MPH  $ 30,419.00 
C05101038 S3T-L VL SELF-SUPPORTING TOWER 225 FOOT - 70 MPH  $ 35,103.00 
C05101039 S3T-L VL SELF-SUPPORTING TOWER 230 FOOT - 70 MPH  $ 35,485.00 
C05101040 S3T-L VL SELF-SUPPORTING TOWER 235 FOOT - 70 MPH  $ 35,827.00 
C05101041 S3T-L VL SELF-SUPPORTING TOWER 240 FOOT - 70 MPH  $ 36,008.00 
C05101101 S3T-L VL SELF-SUPPORTING TOWER 40 FOOT - 80 MPH  $ 4,266.00 
C05101102 S3T-L VL SELF-SUPPORTING TOWER 45 FOOT - 80 MPH  $ 5,547.00 
C05101103 S3T-L VL SELF-SUPPORTING TOWER 50 FOOT - 80 MPH  $ 5,929.00 
C05101104 S3T-L VL SELF-SUPPORTING TOWER 55 FOOT - 80 MPH  $ 6,272.00 
C05101105 S3T-L VL SELF-SUPPORTING TOWER 60 FOOT - 80 MPH  $ 6,452.00 
C05101106 S3T-L VL SELF-SUPPORTING TOWER 65 FOOT - 80 MPH  $ 8,035.00 
C05101107 S3T-L VL SELF-SUPPORTING TOWER 70 FOOT - 80 MPH  $ 8,417.00 
C05101108 S3T-L VL SELF-SUPPORTING TOWER 75 FOOT - 80 MPH  $ 8,760.00 
C05101109 S3T-L VL SELF-SUPPORTING TOWER 80 FOOT - 80 MPH  $ 8,940.00 
C05101110 S3T-L VL SELF-SUPPORTING TOWER 85 FOOT - 80 MPH  $ 10,197.00 
C05101111 S3T-L VL SELF-SUPPORTING TOWER 90 FOOT - 80 MPH  $ 10,579.00 
C05101112 S3T-L VL SELF-SUPPORTING TOWER 95 FOOT - 80 MPH  $ 10,922.00 

�6



C05101113 S3T-L VL SELF-SUPPORTING TOWER 100 FOOT - 80 MPH  $ 11,102.00 
C05101114 S3T-L VL SELF-SUPPORTING TOWER 105 FOOT - 80 MPH  $ 12,816.00 
C05101115 S3T-L VL SELF-SUPPORTING TOWER 110 FOOT - 80 MPH  $ 13,197.00 
C05101116 S3T-L VL SELF-SUPPORTING TOWER 115 FOOT - 80 MPH  $ 13,540.00 
C05101117 S3T-L VL SELF-SUPPORTING TOWER 120 FOOT - 80 MPH  $ 13,720.00 
C05101118 S3T-L VL SELF-SUPPORTING TOWER 125 FOOT - 80 MPH  $ 15,424.00 
C05101119 S3T-L VL SELF-SUPPORTING TOWER 130 FOOT - 80 MPH  $ 15,806.00 
C05101120 S3T-L VL SELF-SUPPORTING TOWER 135 FOOT - 80 MPH  $ 16,149.00 
C05101121 S3T-L VL SELF-SUPPORTING TOWER 140 FOOT - 80 MPH  $ 16,329.00 
C05101122 S3T-L VL SELF-SUPPORTING TOWER 145 FOOT - 80 MPH  $ 18,697.00 
C05101123 S3T-L VL SELF-SUPPORTING TOWER 150 FOOT - 80 MPH  $ 19,079.00 
C05101124 S3T-L VL SELF-SUPPORTING TOWER 155 FOOT - 80 MPH  $ 19,422.00 
C05101125 S3T-L VL SELF-SUPPORTING TOWER 160 FOOT - 80 MPH  $ 19,602.00 
C05101126 S3T-L VL SELF-SUPPORTING TOWER 165 FOOT - 80 MPH  $ 22,101.00 
C05101127 S3T-L VL SELF-SUPPORTING TOWER 170 FOOT - 80 MPH  $ 22,483.00 
C05101128 S3T-L VL SELF-SUPPORTING TOWER 175 FOOT - 80 MPH  $ 22,825.00 
C05101129 S3T-L VL SELF-SUPPORTING TOWER 180 FOOT - 80 MPH  $ 23,006.00 
C05101130 S3T-L VL SELF-SUPPORTING TOWER 185 FOOT - 80 MPH  $ 26,515.00 
C05101131 S3T-L VL SELF-SUPPORTING TOWER 190 FOOT - 80 MPH  $ 26,897.00 
C05101132 S3T-L VL SELF-SUPPORTING TOWER 195 FOOT - 80 MPH  $ 27,240.00 
C05101133 S3T-L VL SELF-SUPPORTING TOWER 200 FOOT - 80 MPH  $ 27,420.00 
C05101134 S3T-L VL SELF-SUPPORTING TOWER 205 FOOT - 80 MPH  $ 30,784.00 
C05101135 S3T-L VL SELF-SUPPORTING TOWER 210 FOOT - 80 MPH  $ 31,166.00 
C05101136 S3T-L VL SELF-SUPPORTING TOWER 215 FOOT - 80 MPH  $ 31,508.00 
C05101137 S3T-L VL SELF-SUPPORTING TOWER 220 FOOT - 80 MPH  $ 31,689.00 
C05101138 S3T-L VL SELF-SUPPORTING TOWER 225 FOOT - 80 MPH  $ 36,477.00 
C05101139 S3T-L VL SELF-SUPPORTING TOWER 230 FOOT - 80 MPH  $ 36,859.00 
C05101140 S3T-L VL SELF-SUPPORTING TOWER 235 FOOT - 80 MPH  $ 37,202.00 
C05101141 S3T-L VL SELF-SUPPORTING TOWER 240 FOOT - 80 MPH  $ 37,382.00 
C05101201 S3T-L VL SELF-SUPPORTING TOWER 40 FOOT - 90 MPH  $ 4,266.00 
C05101202 S3T-L VL SELF-SUPPORTING TOWER 45 FOOT - 90 MPH  $ 5,851.00 
C05101203 S3T-L VL SELF-SUPPORTING TOWER 50 FOOT - 90 MPH  $ 6,233.00 
C05101204 S3T-L VL SELF-SUPPORTING TOWER 55 FOOT - 90 MPH  $ 6,575.00 
C05101205 S3T-L VL SELF-SUPPORTING TOWER 60 FOOT - 90 MPH  $ 6,756.00 
C05101206 S3T-L VL SELF-SUPPORTING TOWER 65 FOOT - 90 MPH  $ 8,425.00 
C05101207 S3T-L VL SELF-SUPPORTING TOWER 70 FOOT - 90 MPH  $ 8,807.00 
C05101208 S3T-L VL SELF-SUPPORTING TOWER 75 FOOT - 90 MPH  $ 9,150.00 
C05101209 S3T-L VL SELF-SUPPORTING TOWER 80 FOOT - 90 MPH  $ 9,330.00 
C05101210 S3T-L VL SELF-SUPPORTING TOWER 85 FOOT - 90 MPH  $ 11,074.00 
C05101211 S3T-L VL SELF-SUPPORTING TOWER 90 FOOT - 90 MPH  $ 11,456.00 
C05101212 S3T-L VL SELF-SUPPORTING TOWER 95 FOOT - 90 MPH  $ 11,799.00 
C05101213 S3T-L VL SELF-SUPPORTING TOWER 100 FOOT - 90 MPH  $ 11,979.00 
C05101214 S3T-L VL SELF-SUPPORTING TOWER 105 FOOT - 90 MPH  $ 13,898.00 
C05101215 S3T-L VL SELF-SUPPORTING TOWER 110 FOOT - 90 MPH  $ 14,280.00 
C05101216 S3T-L VL SELF-SUPPORTING TOWER 115 FOOT - 90 MPH  $ 14,623.00 
C05101217 S3T-L VL SELF-SUPPORTING TOWER 120 FOOT - 90 MPH  $ 14,803.00 
C05101218 S3T-L VL SELF-SUPPORTING TOWER 125 FOOT - 90 MPH  $ 16,672.00 
C05101219 S3T-L VL SELF-SUPPORTING TOWER 130 FOOT - 90 MPH  $ 17,054.00 
C05101220 S3T-L VL SELF-SUPPORTING TOWER 135 FOOT - 90 MPH  $ 17,397.00 
C05101221 S3T-L VL SELF-SUPPORTING TOWER 140 FOOT - 90 MPH  $ 17,577.00 

�7



C05101222 S3T-L VL SELF-SUPPORTING TOWER 145 FOOT - 90 MPH  $ 20,312.00 
C05101223 S3T-L VL SELF-SUPPORTING TOWER 150 FOOT - 90 MPH  $ 20,694.00 
C05101224 S3T-L VL SELF-SUPPORTING TOWER 155 FOOT - 90 MPH  $ 21,036.00 
C05101225 S3T-L VL SELF-SUPPORTING TOWER 160 FOOT - 90 MPH  $ 21,217.00 
C05101226 S3T-L VL SELF-SUPPORTING TOWER 165 FOOT - 90 MPH  $ 24,309.00 
C05101227 S3T-L VL SELF-SUPPORTING TOWER 170 FOOT - 90 MPH  $ 24,691.00 
C05101228 S3T-L VL SELF-SUPPORTING TOWER 175 FOOT - 90 MPH  $ 25,034.00 
C05101229 S3T-L VL SELF-SUPPORTING TOWER 180 FOOT - 90 MPH  $ 25,214.00 
C05101230 S3T-L VL SELF-SUPPORTING TOWER 185 FOOT - 90 MPH  $ 29,192.00 
C05101231 S3T-L VL SELF-SUPPORTING TOWER 190 FOOT - 90 MPH  $ 29,574.00 
C05101232 S3T-L VL SELF-SUPPORTING TOWER 195 FOOT - 90 MPH  $ 29,916.00 
C05101233 S3T-L VL SELF-SUPPORTING TOWER 200 FOOT - 90 MPH  $ 30,097.00 
C05101234 S3T-L VL SELF-SUPPORTING TOWER 205 FOOT - 90 MPH  $ 33,668.00 
C05101235 S3T-L VL SELF-SUPPORTING TOWER 210 FOOT - 90 MPH  $ 34,050.00 
C05101236 S3T-L VL SELF-SUPPORTING TOWER 215 FOOT - 90 MPH  $ 34,392.00 
C05101237 S3T-L VL SELF-SUPPORTING TOWER 220 FOOT - 90 MPH  $ 34,573.00 
C05101238 S3T-L VL SELF-SUPPORTING TOWER 225 FOOT - 90 MPH  $ 38,789.00 
C05101239 S3T-L VL SELF-SUPPORTING TOWER 230 FOOT - 90 MPH  $ 39,171.00 
C05101240 S3T-L VL SELF-SUPPORTING TOWER 235 FOOT - 90 MPH  $ 39,513.00 
C05101241 S3T-L VL SELF-SUPPORTING TOWER 240 FOOT - 90 MPH  $ 39,694.00 
C05101301 S3T-L VL SELF-SUPPORTING TOWER 40 FOOT - 100 MPH  $ 4,266.00 
C05101302 S3T-L VL SELF-SUPPORTING TOWER 45 FOOT - 100 MPH  $ 6,299.00 
C05101303 S3T-L VL SELF-SUPPORTING TOWER 50 FOOT - 100 MPH  $ 6,681.00 
C05101304 S3T-L VL SELF-SUPPORTING TOWER 55 FOOT - 100 MPH  $ 7,023.00 
C05101305 S3T-L VL SELF-SUPPORTING TOWER 60 FOOT - 100 MPH  $ 7,204.00 
C05101306 S3T-L VL SELF-SUPPORTING TOWER 65 FOOT - 100 MPH  $ 8,710.00 
C05101307 S3T-L VL SELF-SUPPORTING TOWER 70 FOOT - 100 MPH  $ 9,092.00 
C05101308 S3T-L VL SELF-SUPPORTING TOWER 75 FOOT - 100 MPH  $ 9,435.00 
C05101309 S3T-L VL SELF-SUPPORTING TOWER 80 FOOT - 100 MPH  $ 9,615.00 
C05101310 S3T-L VL SELF-SUPPORTING TOWER 85 FOOT - 100 MPH  $ 11,531.00 
C05101311 S3T-L VL SELF-SUPPORTING TOWER 90 FOOT - 100 MPH  $ 11,913.00 
C05101312 S3T-L VL SELF-SUPPORTING TOWER 95 FOOT - 100 MPH  $ 12,255.00 
C05101313 S3T-L VL SELF-SUPPORTING TOWER 100 FOOT - 100 MPH  $ 12,436.00 
C05101314 S3T-L VL SELF-SUPPORTING TOWER 105 FOOT - 100 MPH  $ 14,372.00 
C05101315 S3T-L VL SELF-SUPPORTING TOWER 110 FOOT - 100 MPH  $ 14,754.00 
C05101316 S3T-L VL SELF-SUPPORTING TOWER 115 FOOT - 100 MPH  $ 15,096.00 
C05101317 S3T-L VL SELF-SUPPORTING TOWER 120 FOOT - 100 MPH  $ 15,277.00 
C05101318 S3T-L VL SELF-SUPPORTING TOWER 125 FOOT - 100 MPH  $ 17,618.00 
C05101319 S3T-L VL SELF-SUPPORTING TOWER 130 FOOT - 100 MPH  $ 18,000.00 
C05101320 S3T-L VL SELF-SUPPORTING TOWER 135 FOOT - 100 MPH  $ 18,343.00 
C05101321 S3T-L VL SELF-SUPPORTING TOWER 140 FOOT - 100 MPH  $ 18,523.00 
C05101322 S3T-L VL SELF-SUPPORTING TOWER 145 FOOT - 100 MPH  $ 21,218.00 
C05101323 S3T-L VL SELF-SUPPORTING TOWER 150 FOOT - 100 MPH  $ 21,600.00 
C05101324 S3T-L VL SELF-SUPPORTING TOWER 155 FOOT - 100 MPH  $ 21,943.00 
C05101325 S3T-L VL SELF-SUPPORTING TOWER 160 FOOT - 100 MPH  $ 22,123.00 
C05101326 S3T-L VL SELF-SUPPORTING TOWER 165 FOOT - 100 MPH  $ 25,510.00 
C05101327 S3T-L VL SELF-SUPPORTING TOWER 170 FOOT - 100 MPH  $ 25,892.00 
C05101328 S3T-L VL SELF-SUPPORTING TOWER 175 FOOT - 100 MPH  $ 26,234.00 
C05101329 S3T-L VL SELF-SUPPORTING TOWER 180 FOOT - 100 MPH  $ 26,415.00 
C05101330 S3T-L VL SELF-SUPPORTING TOWER 185 FOOT - 100 MPH  $ 29,745.00 

�8



C05101331 S3T-L VL SELF-SUPPORTING TOWER 190 FOOT - 100 MPH  $ 30,127.00 
C05101332 S3T-L VL SELF-SUPPORTING TOWER 195 FOOT - 100 MPH  $ 30,469.00 
C05101333 S3T-L VL SELF-SUPPORTING TOWER 200 FOOT - 100 MPH  $ 30,650.00 
C05101334 S3T-L VL SELF-SUPPORTING TOWER 205 FOOT - 100 MPH  $ 34,301.00 
C05101335 S3T-L VL SELF-SUPPORTING TOWER 210 FOOT - 100 MPH  $ 34,683.00 
C05101336 S3T-L VL SELF-SUPPORTING TOWER 215 FOOT - 100 MPH  $ 35,026.00 
C05101337 S3T-L VL SELF-SUPPORTING TOWER 220 FOOT - 100 MPH  $ 35,206.00 
C05101338 S3T-L VL SELF-SUPPORTING TOWER 225 FOOT - 100 MPH  $ 40,679.00 
C05101339 S3T-L VL SELF-SUPPORTING TOWER 230 FOOT - 100 MPH  $ 41,060.00 
C05101340 S3T-L VL SELF-SUPPORTING TOWER 235 FOOT - 100 MPH  $ 41,403.00 
C05101341 S3T-L VL SELF-SUPPORTING TOWER 240 FOOT - 100 MPH  $ 41,583.00 
C05101401 S3T-L VL SELF-SUPPORTING TOWER 40 FOOT - 110  MPH  $ 4,450.00 
C05101402 S3T-L VL SELF-SUPPORTING TOWER 45 FOOT - 110  MPH  $ 6,361.00 
C05101403 S3T-L VL SELF-SUPPORTING TOWER 50 FOOT - 110  MPH  $ 6,743.00 
C05101404 S3T-L VL SELF-SUPPORTING TOWER 55 FOOT - 110  MPH  $ 7,086.00 
C05101405 S3T-L VL SELF-SUPPORTING TOWER 60 FOOT - 110  MPH  $ 7,266.00 
C05101406 S3T-L VL SELF-SUPPORTING TOWER 65 FOOT - 110  MPH  $ 9,219.00 
C05101407 S3T-L VL SELF-SUPPORTING TOWER 70 FOOT - 110  MPH  $ 9,600.00 
C05101408 S3T-L VL SELF-SUPPORTING TOWER 75 FOOT - 110  MPH  $ 9,943.00 
C05101409 S3T-L VL SELF-SUPPORTING TOWER 80 FOOT - 110  MPH  $ 10,124.00 
C05101410 S3T-L VL SELF-SUPPORTING TOWER 85 FOOT - 110  MPH  $ 12,361.00 
C05101411 S3T-L VL SELF-SUPPORTING TOWER 90 FOOT - 110  MPH  $ 12,743.00 
C05101412 S3T-L VL SELF-SUPPORTING TOWER 95 FOOT - 110  MPH  $ 13,085.00 
C05101413 S3T-L VL SELF-SUPPORTING TOWER 100 FOOT - 110  MPH  $ 13,266.00 
C05101414 S3T-L VL SELF-SUPPORTING TOWER 105 FOOT - 110  MPH  $ 15,319.00 
C05101415 S3T-L VL SELF-SUPPORTING TOWER 110 FOOT - 110  MPH  $ 15,701.00 
C05101416 S3T-L VL SELF-SUPPORTING TOWER 115 FOOT - 110  MPH  $ 16,044.00 
C05101417 S3T-L VL SELF-SUPPORTING TOWER 120 FOOT - 110  MPH  $ 16,224.00 
C05101418 S3T-L VL SELF-SUPPORTING TOWER 125 FOOT - 110  MPH  $ 18,591.00 
C05101419 S3T-L VL SELF-SUPPORTING TOWER 130 FOOT - 110  MPH  $ 18,972.00 
C05101420 S3T-L VL SELF-SUPPORTING TOWER 135 FOOT - 110  MPH  $ 19,315.00 
C05101421 S3T-L VL SELF-SUPPORTING TOWER 140 FOOT - 110  MPH  $ 19,495.00 
C05101422 S3T-L VL SELF-SUPPORTING TOWER 145 FOOT - 110  MPH  $ 22,393.00 
C05101423 S3T-L VL SELF-SUPPORTING TOWER 150 FOOT - 110  MPH  $ 22,774.00 
C05101424 S3T-L VL SELF-SUPPORTING TOWER 155 FOOT - 110  MPH  $ 23,117.00 
C05101425 S3T-L VL SELF-SUPPORTING TOWER 160 FOOT - 110  MPH  $ 23,297.00 
C05101426 S3T-L VL SELF-SUPPORTING TOWER 165 FOOT - 110  MPH  $ 26,588.00 
C05101427 S3T-L VL SELF-SUPPORTING TOWER 170 FOOT - 110  MPH  $ 26,970.00 
C05101428 S3T-L VL SELF-SUPPORTING TOWER 175 FOOT - 110  MPH  $ 27,313.00 
C05101429 S3T-L VL SELF-SUPPORTING TOWER 180 FOOT - 110  MPH  $ 27,493.00 
C05101430 S3T-L VL SELF-SUPPORTING TOWER 185 FOOT - 110  MPH  $ 31,219.00 
C05101431 S3T-L VL SELF-SUPPORTING TOWER 190 FOOT - 110  MPH  $ 31,601.00 
C05101432 S3T-L VL SELF-SUPPORTING TOWER 195 FOOT - 110  MPH  $ 31,944.00 
C05101433 S3T-L VL SELF-SUPPORTING TOWER 200 FOOT - 110  MPH  $ 32,124.00 
C05101434 S3T-L VL SELF-SUPPORTING TOWER 205 FOOT - 110  MPH  $ 38,473.00 
C05101435 S3T-L VL SELF-SUPPORTING TOWER 210 FOOT - 110  MPH  $ 38,855.00 
C05101436 S3T-L VL SELF-SUPPORTING TOWER 215 FOOT - 110  MPH  $ 39,197.00 
C05101437 S3T-L VL SELF-SUPPORTING TOWER 220 FOOT - 110  MPH  $ 39,378.00 
C05101438 S3T-L VL SELF-SUPPORTING TOWER 225 FOOT - 110  MPH  $ 45,053.00 
C05101439 S3T-L VL SELF-SUPPORTING TOWER 230 FOOT - 110  MPH  $ 45,435.00 

�9



C05101440 S3T-L VL SELF-SUPPORTING TOWER 235 FOOT - 110  MPH  $ 45,777.00 
C05101441 S3T-L VL SELF-SUPPORTING TOWER 240 FOOT - 110  MPH  $ 45,958.00 

UL Tapered Top Self-Supporting Towers
C05599004 S3T-L UL S-S TAPERED TOP TOWER 50 FOOT - 110 MPH  $ 3,936.00 
C05599006 S3T-L UL S-S TAPERED TOP TOWER 60 FOOT - 110 MPH  $ 5,372.00 
C05599008 S3T-L UL S-S TAPERED TOP TOWER 60 FOOT - 100 MPH  $ 4,435.00 
C05599010 S3T-L UL S-S TAPERED TOP TOWER 70 FOOT - 90 MPH  $ 5,872.00 
C05599012 S3T-L UL S-S TAPERED TOP TOWER 70 FOOT - 100 MPH  $ 5,872.00 
C05599013 S3T-L UL S-S TAPERED TOP TOWER 70 FOOT - 110 MPH  $ 6,688.00 
C05599015 S3T-L UL S-S TAPERED TOP TOWER 80 FOOT - 90 MPH  $ 7,187.00 
C05599016 S3T-L UL S-S TAPERED TOP TOWER 80 FOOT - 110 MPH  $ 7,305.00 
C05599018 S3T-L UL S-S TAPERED TOP TOWER 80 FOOT - 80 MPH  $ 6,371.00 
C05599019 S3T-L UL S-S TAPERED TOP TOWER 80 FOOT - 100 MPH  $ 7,305.00 
C05599022 S3T-L UL S-S TAPERED TOP TOWER 90 FOOT - 110 MPH  $ 8,739.00 
C05599023 S3T-L UL S-S TAPERED TOP TOWER 90 FOOT - 70 MPH  $ 6,988.00 
C05599024 S3T-L UL S-S TAPERED TOP TOWER 90 FOOT - 80 MPH  $ 7,804.00 
C05599025 S3T-L UL S-S TAPERED TOP TOWER 90 FOOT - 90 MPH  $ 7,804.00 
C05599026 S3T-L UL S-S TAPERED TOP TOWER 90 FOOT - 100 MPH  $ 7,804.00 
C05599028 S3T-L UL S-S TAPERED TOP TOWER 100 FOOT - 90 MPH  $ 9,238.00 
C05599030 S3T-L UL S-S TAPERED TOP TOWER 100 FOOT - 100 MPH  $ 9,356.00 
C05599032 S3T-L UL S-S TAPERED TOP TOWER 100 FOOT - 70 MPH  $ 8,304.00 
C05599033 S3T-L UL S-S TAPERED TOP TOWER 100 FOOT - 80 MPH  $ 8,422.00 
C05599034 S3T-L UL S-S TAPERED TOP TOWER 100 FOOT - 110 MPH  $ 10,766.00 
C05599037 S3T-L UL S-S TAPERED TOP TOWER 110 FOOT - 110 MPH  $ 11,676.00 
C05599038 S3T-L UL S-S TAPERED TOP TOWER 110 FOOT - 70 MPH  $ 8,921.00 
C05599039 S3T-L UL S-S TAPERED TOP TOWER 110 FOOT - 80/90 MPH  $ 9,855.00 
C05599040 S3T-L UL S-S TAPERED TOP TOWER 110 FOOT - 100 MPH  $ 11,266.00 
C05599043 S3T-L UL S-S TAPERED TOP TOWER 120 FOOT - 100 MPH  $ 11,883.00 
C05599045 S3T-L UL S-S TAPERED TOP TOWER 120 FOOT - 70 MPH  $ 10,355.00 
C05599046 S3T-L UL S-S TAPERED TOP TOWER 120 FOOT - 80 MPH  $ 10,473.00 
C05599047 S3T-L UL S-S TAPERED TOP TOWER 120 FOOT - 90 MPH  $ 11,765.00 
C05599048 S3T-L UL S-S TAPERED TOP TOWER 120 FOOT - 110 MPH  $ 13,296.00 
C05599050 S3T-L UL S-S TAPERED TOP TOWER 130 FOOT - 90 MPH  $ 12,382.00 
C05599051 S3T-L UL S-S TAPERED TOP TOWER 130 FOOT - 110 MPH  $ 14,282.00 
C05599053 S3T-L UL S-S TAPERED TOP TOWER 130 FOOT - 70 MPH  $ 10,972.00 
C05599054 S3T-L UL S-S TAPERED TOP TOWER 130 FOOT - 80 MPH  $ 12,382.00 
C05599055 S3T-L UL S-S TAPERED TOP TOWER 130 FOOT - 100 MPH  $ 13,795.00 
C05599056 S3T-L UL S-S TAPERED TOP TOWER 140 FOOT - 80 MPH  $ 13,000.00 
C05599057 S3T-L UL S-S TAPERED TOP TOWER 140 FOOT - 100 MPH  $ 14,408.00 
C05599059 S3T-L UL S-S TAPERED TOP TOWER 140 FOOT - 70 MPH  $ 12,881.00 
C05599060 S3T-L UL S-S TAPERED TOP TOWER 140 FOOT - 90 MPH  $ 14,294.00 
C05599061 S3T-L UL S-S TAPERED TOP TOWER 140 FOOT - 110 MPH  $ 17,054.00 
C05599063 S3T-L UL S-S TAPERED TOP TOWER 150 FOOT - 90 MPH  $ 14,912.00 
C05599064 S3T-L UL S-S TAPERED TOP TOWER 150 FOOT - 110 MPH  $ 17,553.00 
C05599065 S3T-L UL S-S TAPERED TOP TOWER 150 FOOT - 70 MPH  $ 13,499.00 
C05599066 S3T-L UL S-S TAPERED TOP TOWER 150 FOOT - 80 MPH  $ 14,912.00 
C05599067 S3T-L UL S-S TAPERED TOP TOWER 150 FOOT - 100 MPH  $ 16,928.00 
C05599068 S3T-L UL S-S TAPERED TOP TOWER 160 FOOT - 80 MPH  $ 17,427.00 
C05599070 S3T-L UL S-S TAPERED TOP TOWER 160 FOOT - 100 MPH  $ 18,663.00 
C05599071 S3T-L UL S-S TAPERED TOP TOWER 160 FOOT - 70 MPH  $ 15,411.00 

�10



C05599072 S3T-L UL S-S TAPERED TOP TOWER 160 FOOT - 90 MPH  $ 17,546.00 
C05599073 S3T-L UL S-S TAPERED TOP TOWER 160 FOOT - 110 MPH  $ 20,980.00 

�11



Part Number Part Description MSRP

Anchor Bolt - Base Shoe Foundation Materials
C30905202 FOUNDATION MATERIAL LDA TOWER SECTION 2  $ 586.91 
C30905203 FOUNDATION MATERIAL LDA TOWER SECTION 3  $ 625.48 
C30905204 FOUNDATION MATERIAL LDA TOWER SECTION 4  $ 646.06 
C30905205 FOUNDATION MATERIAL LDA TOWER SECTION 5  $ 663.06 
C30905206 FOUNDATION MATERIAL LDA TOWER SECTION 6  $ 670.24 
C30905207 FOUNDATION MATERIAL LDA TOWER SECTION 7  $ 695.19 
C30905208 FOUNDATION MATERIAL LDA TOWER SECTION 8  $ 710.80 
C30905209 FOUNDATION MATERIAL LDA TOWER SECTION 9  $ 717.74 
C30905210 FOUNDATION MATERIAL LDA TOWER SECTION 10  $ 726.11 
C30905211 FOUNDATION MATERIAL LDA TOWER SECTION 11  $ 739.52 
C30905212 FOUNDATION MATERIAL LDA TOWER SECTION 12  $ 898.91 
C30905213 FOUNDATION MATERIAL LDA TOWER SECTION 13  $ 926.07 
C30905214 FOUNDATION MATERIAL LDA TOWER SECTION 14  $ 933.73 
C30905215 FOUNDATION MATERIAL LDA TOWER SECTION 15  $ 952.56 
C30905216 FOUNDATION MATERIAL LDA TOWER SECTION 16  $ 1,200.58 
C30905217 FOUNDATION MATERIAL LDA TOWER SECTION 17  $ 1,210.03 
C30905218 FOUNDATION MATERIAL LDA TOWER SECTION 18  $ 1,219.14 
C30905219 FOUNDATION MATERIAL LDA TOWER SECTION 19  $ 1,320.72 
C30905220 FOUNDATION MATERIAL LDA TOWER SECTION 20  $ 1,330.03 
C30905221 FOUNDATION MATERIAL LDA TOWER SECTION 21  $ 1,339.42 

Direct Embed Foundation Materials
C30905302 Direct Embed Foundation for Section #2  $ 381.82 
C30905303 Direct Embed Foundation for Section #3  $ 408.08 
C30905304 Direct Embed Foundation for Section #4  $ 416.16 
C30905305 Direct Embed Foundation for Section #5  $ 434.34 
C30905306 Direct Embed Foundation for Section #6  $ 462.63 
C30905307 Direct Embed Foundation for Section #7  $ 519.19 
C30905308 Direct Embed Foundation for Section #8  $ 529.29 
C30905309 Direct Embed Foundation for Section #9  $ 593.94 
C30905310 Direct Embed Foundation for Section #10  $ 634.34 
C30905311 Direct Embed Foundation for Section #11  $ 686.87 
C30905312 Direct Embed Foundation for Section #12  $ 711.11 

Step Bolt Kits 
C40906002 Section Step Bolt Kit  $ 166.67 
C40906003 Section Step Bolt Kit  $ 222.22 
C40906004 Section Step Bolt Kit  $ 277.78 
C40906005 Section Step Bolt Kit  $ 333.33 
C40906006 Section Step Bolt Kit  $ 388.89 
C40906007 Section Step Bolt Kit  $ 444.44 
C40906008 Section Step Bolt Kit  $ 500.00 
C40906009 Section Step Bolt Kit  $ 555.56 
C40906010 Section Step Bolt Kit  $ 611.11 
C40906011 Section Step Bolt Kit  $ 666.67 
C40906012 Section Step Bolt Kit  $ 722.22 
C40906013 Section Step Bolt Kit  $ 777.78 
C40906014 Section Step Bolt Kit  $ 833.33 
C40906015 Section Step Bolt Kit  $ 888.89 

Safety Climb Kits 

�1



C30906001 Tower Safety Climb System Fits 20' thru 50'  $ 555.56 
C30906002 Tower Safety Climb System Fits 60' thru 100'  $ 666.67 
C30906003 Tower Safety Climb System Fits 110' thru 150'  $ 777.78 

Grounding Kits 
C30906011 Basic Grounding Kit Single Leg Only  $ 66.67 
C30906012 EIA Grounding Kit Two (2) Legs  $ 333.33 
C30906013 TIA Grounding KitThree (3) Legs  $ 833.33 

Lightning Rods
C30986001 4' Lightning Rod  $ 74.82 
C30986016 10' Lightning Rod  $ 119.43 
C30986013 15' Lightning Rod  $ 208.79 

Anti-Climb System
LDA00502 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 2  $ 658.22 
LDA00503 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 3  $ 736.62 
LDA00504 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 4  $ 736.18 
LDA00505 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 5  $ 814.49 
LDA00506 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 6  $ 978.49 
LDA00507 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 7  $ 978.49 
LDA00508 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 8  $ 978.49 
LDA00509 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 9  $ 1,142.62 
LDA00510 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 10  $ 1,142.16 
LDA00511 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 11  $ 1,142.62 
LDA00512 S3A-LDA ANTI-CLIMB ASSEMBLY SECTION 12 $1,209.00

Antenna Mounts 
C30906021 Top Antenna Mount Section 1  $ 33.33 
C30906022 Top Antenna Mount Section 2  $ 38.89 
C30906023 Top Antenna Mount Section 3  $ 44.44 
C30906024 Top Antenna Mount Section 4  $ 50.00 
C30906025 Top Antenna Mount Section 5  $ 55.56 
C30906026 Top Antenna Mount Section 6  $ 61.11 
C30906027 Top Antenna Mount Section 7  $ 66.67 
C30906101 Face Antenna Mount Section 1  $ 55.56 
C30906102 Face Antenna Mount Section 2  $ 66.67 
C30906103 Face Antenna Mount Section 3  $ 80.00 
C30906104 Face Antenna Mount Section 4  $ 81.66 
C30906105 Face Antenna Mount Section 5  $ 83.33 
C30906106 Face Antenna Mount Section 6  $ 88.89 
C30906107 Face Antenna Mount Section 7  $ 94.44 
C30906108 Face Antenna Mount Section 8  $ 100.00 
C30906109 Face Antenna Mount Section 9  $ 105.56 
C30906110 Face Antenna Mount Section 10  $ 111.11 
C30906111 Face Antenna Mount Section 11  $ 116.67 
C30906112 Face Antenna Mount Section 12  $ 122.22 
C30906031 Side Arm Antenna Mount Sections 1-12  $ 166.67 
C30906032 Side Arm Antenna Mount Sections 13-19  $ 222.22 

�2



Part Number  Part Description MSRP

1200 TLWD Guyed Tower
Individual Parts and Accessories

C30904001 10' Standard Section Kit - 1200 TLWD  $ 608.44 

C30904023
10' Tapered Top Section Kit - 1200 TLWD Mast Tube is 23⁄8" OD sch 40 pipe, pipe extends 
14" above side rails  $ 809.41 

CW00212 Tapered Top Weldment  $ 341.05 
C30904022 10' Torque Arm Section - 1200 TLWD  $ 684.80 
C30904002 5' Standard Section Kit - 1200 TLWD  $ 536.61 
C30904025 10' Anti-Climb Section - 1200 TLWD  $ 1,038.05 
C30904272 Bolt-On Anti-Climb  $ 306.26 
C30904052 Base Plate Kit  $ 361.25 
C30904102 Beacon Plate  $ 115.84 
C30904101 Beacon - Lightning Rod Mounting Plate  $ 85.94 
C30904103 Lightning Rod Mounting Kit  $ 25.69 
C30904126 Leg Cap Kit ( qty. 3 Leg Caps and Bolts)  $ 17.29 
C30904177 Guy Bracket Assembly Kit (one level)  $ 167.59 
C30904200 Torque Arm Stabilizer  $ 472.61 
C30904301 4 - Hole Roof Anchor  $ 125.04 
C30904326 4 - Way Guy Pull Off  $ 800.15 
C40026004 1⁄2" x 13⁄4" A325 Bolt Assembly (section bolts)  $ 1.12 
CS00678 Drain Plate (Qty 1) - 1200 TWLD  $ 11.71 
C30904162 3' Sidearm Assembly with No Mounting Pipe  $ 184.61 
C30904161 3' Sidearm Assembly with 23⁄8" OD x 4'-0" Mounting Pipe  $ 203.42 
C30904250 Dish Mount with No Mounting Pipe  $ 429.44 
C30904248 Dish Mount with 23⁄8" OD x 5'-0" Mounting Pipe  $ 453.17 
C30904249 Dish Mount with 41⁄2" OD x 5'-0" Mounting Pipe  $ 507.93 
C30904224 Work Platform (Man rated - 250 lb. load)  $ 167.57 
C30129025 5 hole Anchor Shaft (1" x 8'-27⁄8")  $ 130.80 
C30129031 7 hole Anchor Shaft (1" x 8'-27⁄8")  $ 138.09 
C30129026 5 hole Anchor Shaft (11⁄4" x 8'-27⁄8")  $ 204.44 
C30129032 7 hole Anchor Shaft (11⁄4" x 8'-27⁄8")  $ 210.15 
C30129027 5 hole Anchor Shaft (11⁄4" x 14'-27⁄8")  $ 281.30 
C30129033 7 hole Anchor Shaft (11⁄4" x 14'-27⁄8")  $ 290.38 
C30152001 EIA Grounding  -  3 Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 246.56 
C30152011 EIA Grounding  -  No Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 127.21 

1200 TLWD Freestanding and Bracketed
Individual Parts and Accessories

C30904001 10' Standard Section Kit - 1200 TLWD  $ 608.44 
C30904002 5' Standard Section Kit - 1200 TLWD  $ 536.61 

C30904023
10' Tapered Top Section Kit - 1200 TLWD Mast Tube is 23⁄8" OD sch 40 pipe, pipe extends 
14" above side rails  $ 809.41 

CW00212 Tapered Top Weldment  $ 341.05 
C30904025 10' Anti-Climb Section Kit  $ 1,038.05 
C30904272 Bolt-On Anti-Climb  $ 306.26 
C30904076 5' Short Base Section Kit  $ 564.91 
C30904051 Bracketed Base Plate Kit  $ 279.09 
C30904102 Beacon Plate  $ 115.84 
C30904101 Beacon - Lightning Rod Mounting Plate  $ 85.94 
C30904103 Lightning Rod Mounting Kit  $ 25.69 
C30904126 Leg Cap Kit (qty. 3 Leg Caps and Bolts)  $ 17.29 
C30904151 Wall Bracket Assembly  $ 161.97 
C40026004 1⁄2" x 13⁄4" A325 Bolt Assembly (section bolts)  $ 1.12 
CS00678 Drain Plate (Qty 1) - 1200 TWLD  $ 11.71 
C30904162 3' Sidearm Assembly with No Mounting Pipe  $ 184.61 
C30904161 3' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 203.42 
C30904250 Dish Mount with No Mounting Pipe  $ 429.44 

Sabre Pricelist Complete_01-01-12.xls Page !1



C30904248 Dish Mount with 23⁄8" OD x 5'-0" Mounting Pipe  $ 453.17 
C30904249 Dish Mount with 41⁄2" OD x 5'-0" Mounting Pipe  $ 507.93 
C30904224 Work Platform (Man rated - 250 lb. load)  $ 167.57 
C30152011 EIA Grounding  -  No Guy Anchors   (11⁄4" OD to 2" OD tower leg)  $ 127.21 
C30904351 Rotor Shelf Kit  $ 119.52 

1800 TLWD Guyed Tower
Individual Parts and Accessories

C30904026 10' Standard Section Kit - 1800 TLWD  $ 709.28 

C30904048
10' Tapered Top Section Kit - 1800 TLWD Mast Tube is 23⁄8" OD sch 40 pipe, pipe extends 
14" above side rails  $ 768.37 

CW00213 Tapered Top Weldment  $ 151.58 
C30904047 10' Torque Arm Section - 1800 TLWD  $ 806.30 
C30904027 5' Standard Section Kit - 1800 TLWD  $ 541.68 
C30904050 10' Anti-Climb Section - 1800 TLWD  $ 953.07 
C30904276 Bolt-On Anti-Climb  $ 426.19 
C30904064 Base Plate Kit  $ 518.33 
C30904102 Beacon Plate  $ 115.84 
C30904101 Beacon - Lightning Rod Mounting Plate  $ 85.94 
C30904103 Lightning Rod Mounting Kit  $ 25.69 
C30904138 Leg Cap Kit ( qty. 3 Leg Caps and Bolts)  $ 23.69 
C30904189 Guy Bracket Assembly Kit (one level)  $ 157.17 
C30904212 Torque Arm Stabilizer  $ 756.82 
C30904301 4 - Hole Roof Anchor  $ 125.04 
C30904331 4 - Way Guy Pull Off  $ 1,070.19 
C40026005 1⁄2" x 2" A325 Bolt Assembly (section bolts)  $ 1.08 
CS00679 Drain Plate (Qty 1) - 1800 TWLD  $ 10.96 
C30904162 3' Sidearm Assembly with No Mounting Pipe  $ 184.61 
C30904161 3' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 203.42 
C30904282 6' Sidearm Assembly with No Mounting Pipe  $ 382.70 
C30904281 6' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 401.52 
C30904250 Dish Mount with No Mounting Pipe  $ 429.44 
C30904248 Dish Mount with 23⁄8" OD x 5'-0" Mounting Pipe  $ 453.17 
C30904249 Dish Mount with 41⁄2" OD x 5'-0" Mounting Pipe  $ 507.93 
C30904236 Work Platform (Man rated - 250# load)  $ 188.87 
C30129025 5 hole Anchor Shaft (1" x 8'-27⁄8")  $ 130.80 
C30129031 7 hole Anchor Shaft (1" x 8'-27⁄8")  $ 138.09 
C30129026 5 hole Anchor Shaft (11⁄4" x 8'-27⁄8")  $ 204.44 
C30129032 7 hole Anchor Shaft (11⁄4" x 8'-27⁄8")  $ 210.15 
C30129027 5 hole Anchor Shaft (11⁄4" x 14'-27⁄8")  $ 281.30 
C30129033 7 hole Anchor Shaft (11⁄4" x 14'-27⁄8")  $ 290.38 
C30152001 EIA Grounding - 3 Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 246.56 
C30152011 EIA Grounding - No Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 127.21 

1800 TLWD Freestanding & Bracketed
Individual Parts and Accessories

C30904026 10' Standard Section Kit - 1800 TLWD  $ 709.28 
C30904027 5' Standard Section Kit - 1800 TLWD  $ 541.68 

C30904048
10' Tapered Top Section Kit - 1800 TLWD Mast Tube is 23⁄8" OD sch 40 pipe, pipe extends 
14" above side rails  $ 768.37 

CW00213 Tapered Top Weldment  $ 151.58 
C30904050 10' Anti-Climb Section Kit  $ 953.07 
C30904276 Bolt-On Anti-Climb  $ 426.19 
C30904088 5' Short Base Section Kit - 1800 TLWD (11⁄4" Solid Leg)  $ 530.30 
C30904065 Bracketed Base Plate Kit  $ 458.08 

Sabre Pricelist Complete_01-01-12.xls Page !2



C30904102 Beacon Plate  $ 115.84 
C30904101 Beacon - Lightning Rod Mounting Plate  $ 85.94 
C30904103 Lightning Rod Mounting Kit  $ 25.69 
C30904138 Leg Cap Kit (qty. 3 Leg Caps and Bolts)  $ 23.69 
C30904151 Wall Bracket Assembly  $ 161.97 
C40026005 1⁄2" x 2" A325 Bolt Assembly (section bolts)  $ 1.08 
CS00679 Drain Plate (Qty 1) - 1800 TWLD  $ 10.96 
C30904162 3' Sidearm Assembly with No Mounting Pipe  $ 184.61 
C30904161 3' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 203.42 
C30904282 6' Sidearm Assembly with No Mounting Pipe  $ 382.70 
C30904281 6' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 401.52 
C30904250 Dish Mount with No Mounting Pipe  $ 429.44 
C30904248 Dish Mount with 23⁄8" OD x 5'-0" Mounting Pipe  $ 453.17 
C30904249 Dish Mount with 41⁄2" OD x 5'-0" Mounting Pipe  $ 507.93 
C30904236 Work Platform (Man rated - 250# load)  $ 188.87 
C30152011 EIA Grounding  -  No Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 127.21 

1800 SRWD Freestanding & Bracketed
Individual Parts and Accessories

C30904801 10' Standard Section Kit - 1800 SRWD (11⁄4" Solid Leg)  $ 712.81 
C30904826 10' Standard Section Kit - 1800 SRWD (11⁄2" Solid Leg)  $ 877.78 

C30904823
10' Tapered Top Section Kit - 1800 SRWD (11⁄4" Solid Leg)Mast Tube is 23⁄8" OD sch 40 
pipe, pipe extends 14" above hand rail  $ 809.87 

C30904848
10' Tapered Top Section Kit - 1800 SRWD (11⁄2" Solid Leg)Mast Tube is 23⁄8" OD sch 40 
pipe, pipe extends 14" above hand rail  $ 963.88 

CW00213 Tapered Top Weldment (11⁄4" Solid Leg)  $ 151.58 
CW00214 Tapered Top Weldment (11⁄2" Solid Leg)  $ 153.29 
C30904802 5' Standard Section Kit - 1800 SRWD (11⁄4" Solid Leg)  $ 493.42 
C30904827 5' Standard Section Kit - 1800 SRWD (11⁄2" Solid Leg)  $ 660.89 
C30904851 5' Short Base Section Kit - 1800 SRWD (11⁄4" Solid Leg)  $ 493.42 
C30904863 5' Short Base Section Kit - 1800 SRWD (11⁄2" Solid Leg)  $ 660.89 
C30904999 10' Transition Section Kit  -  11⁄4" Solid Leg  $ 722.40 
C30904825 10' Anti-Climb Section Kit - 1800 SRWD (11⁄4" Solid Leg)  $ 999.67 
C30904850 10' Anti-Climb Section Kit - 1800 SRWD (11⁄2" Solid Leg)  $ 1,172.86 
C30904276 Bolt-On Anti-Climb  $ 426.19 
C30904162 3' Sidearm Assembly with No Mounting Pipe  $ 184.61 
C30904161 3' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 203.42 
C30904282 6' Sidearm Assembly with No Mounting Pipe  $ 382.70 
C30904281 6' Sidearm Assembly with a 23⁄8" OD x 4'-0" Mounting Pipe  $ 401.52 
C30904250 Dish Mount with No Mounting Pipe  $ 429.44 
C30904248 Dish Mount with 23⁄8" OD x 5'-0" Mounting Pipe  $ 453.17 
C30904249 Dish Mount with 41⁄2" OD x 5'-0" Mounting Pipe  $ 507.93 
C30904151 Wall Bracket Assembly  $ 161.97 
C30904236 Work Platform (Man rated - 250# load)  $ 188.87 
C30904875 Bracketed Base Plate Kit  $ 799.03 
C30904102 Beacon Plate for 11⁄4" Solid Leg  $ 115.84 
C30904900 Beacon Plate for 11⁄2" Solid Leg  $ 45.58 
C30152011 EIA Grounding  -  No Guy Anchors  (11⁄4" OD to 2" OD tower leg)  $ 127.21 

Sabre Pricelist Complete_01-01-12.xls Page !3



Part Number Part Description MSRP

C10005001 "CAMERA MOUNT 1 1/2"" TO 5 9/16"" ROUND LEG"  $ 424.56 
C10005002 "CAMERA MOUNT 1 1/4"" TO 2 1/2"" ROUND LEG"  $ 208.92 
C10005003 CAMERA MOUNT  $ 753.59 
C10005004 CAMERA MOUNT  $ 88.72 
C10106001 WRAP ANTENNA FOLIAGE PINE SMALL  $ 335.18 
C10106002 WRAP ANTENNA FOLIAGE PINE LARGE  $ 446.91 
C10107005 MONOPINE REPLACEMENT BRANCH 5 FOOT  $ 455.85 
C10107006 MONOPINE REPLACEMENT BRANCH 6 FOOT  $ 576.50 
C10107007 MONOPINE REPLACEMENT BRANCH 7 FOOT  $ 804.43 
C10107008 MONOPINE REPLACEMENT BRANCH 8 FOOT  $ 904.97 
C10107009 MONOPINE REPLACEMENT BRANCH 9 FOOT  $ 1,034.58 
C10107010 MONOPINE REPLACEMENT BRANCH 10 FOOT  $ 1,150.77 
C10108008 MONOPALM REPLACEMENT FROND 8 FOOT              DATE FROND  $ 670.36 
C10109002 "PLATFORM SQ L-PROFILE 12' FACE MAX 20 ANTENNA MOUNTING PIPES  Usage Information/Equipped With Fits 12"" to 18"" Monopole  Uses 20 Antenna Mounting Pipes No Antenna Mounting Pipes" $ 9,659.15 
C10109012 "HANDRAIL 12' FACE SQ PLATFORM FITS 12"" TO 18"" DIA POLE"  $ 1,424.85 
C10110201 "QUAD-BI COLLAR BRACKET ASSY 12"" - 24"" COLLAR MOUNT  Usage Information Fits 37 11/16"" - 75 3/8"" Circumference"  $ 661.68 
C10110300 "QUAD-BI COLLAR BRACKET ASSY  12"" - 52"" COLLAR MOUNT"  $ 793.91 
C10112201 "TRI COLLAR BRACKET ASSY 12"" - 18"" COLLAR MOUNT  Usage Information Fits 37 1/2"" - 56 1/2"" Circumference"  $ 774.08 
C10112204 "TRI COLLAR BRACKET ASSY 12"" - 36"" COLLAR MOUNT  Usage Information Fits 37 1/2"" - 113 1/8"" Circumference"  $ 797.09 
C10112208 "TRI COLLAR BRACKET ASSY 36"" - 60"" COLLAR MOUNT  Usage Information Fits 113 1/8"" - 188 1/2"" Circumference"  $ 1,257.02 
C10112300 "TRI COLLAR BRACKET ASSY 10"" - 40"" COLLAR MOUNT"  $ 553.80 
C10112301 "TRI COLLAR BRACKET ASSY 12"" - 60"" COLLAR MOUNT"  $ 964.74 
C10112998 COLLAR ADAPTER KIT FOR USE WITH OTHER MFGR'S COLLARS  $ 319.97 
C10113002 "T-ARM 10'-0"" FACE 5'-0"" ARM FOR 4/5 ANTENNA MOUNTING PIPES  Equipped With No 2 3/8 Antenna Mounting Pipes & U-Bolts Included"  $ 731.21 
C10113022 "T-ARM 12'-0"" FACE 5'-0"" ARM FOR 4/5 ANTENNA MOUNTING PIPES  Equipped With No 2 3/8 Antenna Mounting Pipes & U-Bolts Included"  $ 771.47 
C10113082 "T-ARM 10'-0"" FACE 3'-0"" ARM FOR 4/5 ANTENNA MOUNTING PIPES  Equipped With No 2 3/8 Antenna Mounting Pipes & U-Bolts Included"  $ 670.62 
C10113100 "T-ARM 3'-0"" FACE 2'-0"" ARM FOR 2/3 ANTENNA MOUNTING PIPES  Equipped With No 2 3/8 Antenna Mounting Pipes, U-Bolts Included"  $ 492.94 
C10113101 "T-ARM 4'-0"" FACE 3'-0"" ARM FOR 2/3 ANTENNA MOUNTING PIPES  Equipped With No 2 3/8 Antenna Mounting Pipes & U-Bolts Included"  $ 496.68 
C10113184 "T-ARM 12'-0"" FACE 3'-0"" ARM  P FOR 4/5 ANTENNA MOUNTING PIPES  Equipped With/Usage Information No 2 3/8 Antenna Mounting Pipes & U-Bolts Included  Pine"  $ 710.87 
C10113200 "T-ARM PIVOT 7 1/2 X 8 X 0'-11 1/2"""  $ 157.50 
C10113402 "T-ARM SQ 6'-6"" FACE 3'-0"" ARM BASIC ASSEMBLY"  $ 467.11 
C10113505 "T-ARM SQ 10'-0"" FACE 3'-0"" ARM E/F 5 A M P"  $ 652.29 
C10113555 "T-ARM SQ 12'-0"" FACE 3'-0"" ARM E/F 5 A M P"  $ 685.42 
C10114000 "STANDOFF ARM TOWER MT KIT 1 1/2"" - 5 9/16"" OD LEG STRAIGHT LEGS"  $ 60.82 
C10114001 STANDOFF ARM 1' 1' STANDOFF ARM  $ 159.25 
C10114002 STANDOFF ARM 2' 2' STANDOFF ARM  $ 122.77 
C10114003 STANDOFF ARM 3' 3' STANDOFF ARM  $ 165.25 
C10114004 STANDOFF ARM 4' 4' STANDOFF ARM  $ 561.58 
C10114005 STANDOFF ARM 5' 5' STANDOFF ARM  $ 241.54 
C10114006 STANDOFF ARM 6' 6' STANDOFF ARM  $ 241.79 
C10114030 DUAL SECTOR ATTACHMENT KIT DUAL SECTOR ATTACHMENT KIT  $ 166.34 
C10114080 DUAL ANTENNA ATTACHMENT KIT USE WITH COLLAR  $ 195.79 
C10114090 DUAL ANTENNA ATTACHMENT KIT USE WITH STANDOFF ARM  $ 196.34 
C10114091 STANDOFF DUAL ANTENNA 2' KIT NO PIPES OR U-BOLTS  $ 319.11 
C10114103 T-ARM ASSEMBLY  NO PIPES OR U-BOLTS  $ 1,066.82 
C10114200 MOUNT ASSEMBLY SEPARATION  KIT 1' STANDOFF 2' SEPARATION  $ 623.88 
C10114201 "MOUNT ASSEMBLY SEPARATION  KIT 1' STDOF 2' SEP 6-5' 3"" PIPE"  $ 1,033.77 
C10114300 MOUNT ASSEMBLY SEPARATION  KIT 1' STANDOFF 3' SEPARATION  $ 746.27 
C10114400 MOUNT ASSEMBLY SEPARATION  KIT 1' STANDOFF 4' SEPARATION  $ 892.09 
C10114999 "STANDOFF ARM TOWER MT KIT 1 1/2"" - 8 5/8"" OD LEG STRAIGHT OR TAPERED LEGS"  $ 130.05 
C10116300 "PLATFORM 10' FACE HANDRAIL KIT MAX 12 ANTENNA MOUNTING PIPES  Equipped With/Usage Information No Vertical Pipes Included  Fits 12"" to 36"" Diameter Pole"  $ 651.78 
C10116812 "PLATFORM HANDRAIL KIT 10'-0"" FACE           MONOPOLE"  $ 536.24 
C10116813 "PLATFORM HANDRAIL KIT 12'-0"" FACE           MONOPOLE"  $ 680.82 
C10116814 "PLATFORM HANDRAIL KIT 14'-0"" FACE           MONOPOLE"  $ 666.63 
C10117006 DISH MOUNT MONO (6' & SMALLER) DISH MOUNT MONO (6' & SMALLER)  $ 106.39 
C10120001 CHAIN MOUNT ANCHOR BKT ASSY   Bill of Material Anchor Bracket 8 ft Chain Eye Bolts, U-Bolt & Miscellaneous Hardware  $ 115.61 

�1



C10120002 CHAIN MOUNT SLIDE MT BKT ASSY SLIDE MT BKT-U-BOLT & HARDWARE  $ 43.57 
C10120024 "CHAIN MOUNT LOW-PROFILE  (2-4) 2 LEVEL FOR FOUR 2-3/8"" PIPES  Equipped With No Antenna Mounting Pipes Included"  $ 486.97 
C10120301 "CHAIN MOUNT - SINGLE SECTOR 12"" - 36"" MONOPOLE"  $ 247.47 
C10120302 "CHAIN MOUNT - BI SECTOR 12"" - 36"" MONOPOLE"  $ 426.32 
C10120303 "CHAIN MOUNT - TRI SECTOR 12"" - 36"" MONOPOLE"  $ 611.61 
C10120304 "CHAIN MOUNT - TRI SECTOR 12"" - 60"" MONOPOLE"  $ 629.30 
C10120391 "CHAIN MOUNT - SINGLE TIE BACK 12"" - 36"" MONOPOLE"  $ 168.02 
C10131001 "PIPE MOUNT ASSEMBLY 1 1/2"" - 3 1/2"" TO 1 1/2"" -9"""  $ 156.77 
C10148003 STANDOFF ASSEMBLY 3' NO ANTENNA  MT PIPE INCL  $ 196.48 
C10149006 "SIDEARM TOWER 6' (1) 4""X4' 0"" MT PIPE INCL"  $ 661.20 
C10150022 SAF-T-BOOM E/W TIEBACK 10' FACE 3' STAND-OFF  $ 898.07 
C10150023 SAF-T-BOOM E/W TIEBACK 12' FACE 3' STAND-OFF  $ 948.70 
C10151101 "SIDEARM TOWER 3' (1) 2-3/8""X6' 0"" MT PIPE INCL  Usage Information For 2 3/8"" to 4"" OD Antenna Mounting Pipe"  $ 149.97 
C10151103 "SIDEARM TOWER 3' NO ANTENNA MT PIPE INCLUDED  Usage Information For 2 3/8"" to 4"" OD Antenna Mounting Pipe"  $ 195.45 
C10151106 "SIDEARM TOWER 6' NO ANTENNA MT PIPE INCLUDED  Usage Information For 2 3/8"" to 4"" OD Antenna Mounting Pipe"  $ 238.31 
C10151201 "SIDEARM TOWER 2' 1.9"" X 3'-0"" ANT MT PIPE"  $ 133.79 
C10151202 "STAND-OFF BRACKET 36"""  $ 182.05 
C10151203 "STAND-OFF BRACKET 48"""  $ 206.22 
C10151204 "STAND-OFF BRACKET 60"""  $ 219.59 
C10151205 "STAND-OFF BRACKET HEAVY DUTY 72"""  $ 246.87 
C10151306 "STANDOFF HEAVY DUTY 6' (1 1/2"" to 5"" OD)"  $ 315.40 
C10151900 "LARGE LEG ADAPTER KIT FOR SIDEARM (5"" to 10 3/4"" OD)"  $ 202.51 
C10151902 SIDEARM TOWER 2' E/W TIEBACK  $ 354.63 
C10151903 SIDEARM TOWER 3' E/W TIEBACK  $ 381.16 
C10151904 SIDEARM TOWER 4' E/W TIEBACK  $ 398.32 
C10151905 SIDEARM TOWER 5' E/W TIEBACK  $ 415.61 
C10151906 SIDEARM TOWER 6' E/W TIEBACK  $ 433.16 
C10152231 T-BOOM FOR TOWER KNOCKDOWN 10' FACE 3' STAND-OFF  Equipped With No Antenna Mounting Pipes & U-Bolts Included  $ 788.29 
C10152239 T-BOOM FOR TOWER KNOCKDOWN 10' FACE 3' STAND-OFF E/W TIEBACK & AMP HDW Equipped With No Antenna Mounting Pipes Included  $ 983.97 
C10152249 T-BOOM FOR TOWER KNOCKDOWN 10' FACE 5' STAND-OFF  Equipped With Antenna Mounting Pipes Hardware, No Antenna Mounting Pipes  $ 1,094.60 
C10152261 T-BOOM FOR TOWER KNOCKDOWN 12' FACE 3' STAND-OFF  Equipped With No Antenna Mounting Pipes & U-Bolts Included  $ 812.14 
C10152269 T-BOOM FOR TOWER KNOCKDOWN 12' FACE 3' STAND-OFF E/W TIEBACK & AMP HDW Equipped With No Antenna Mounting Pipes Included  $ 1,004.39 
C10152271 T-BOOM FOR TOWER KNOCKDOWN 12' FACE 5' STAND-OFF  Equipped With No Antenna Mounting Pipes & U-Bolts Included  $ 877.61 
C10152279 T-BOOM FOR TOWER KNOCKDOWN 12' FACE 5' STAND-OFF  Equipped With Antenna Mounting Pipes Hardware, No Antenna Mounting Pipes  $ 1,094.60 
C10152299 T-BOOM FOR TOWER KNOCKDOWN 14' FACE 3' STAND-OFF E/W TIEBACK & AMP HDW Equipped With No Antenna Mounting Pipes Included  $ 1,112.60 
C10152309 T-BOOM FOR TOWER KNOCKDOWN 14' FACE 5' STAND-OFF  Equipped With Antenna Mounting Pipes Hardware, No Antenna Mounting Pipes  $ 1,251.64 
C10153001 "PIPE MOUNT KIT 1-1/2"" TO 5"" ROUND LEG & PIPE"  $ 339.62 
C10153202 "PIPE MOUNT KIT 1.5"" - 5.562"" RD 2.5"" - 4"" ANG  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle"  $ 276.27 
C10153204 "PIPE MOUNT KIT 5.75"" - 10.75"" RD 5"" - 8"" ANG  Usage Information Fits 5 3/4"" to 10 3/4"" OD Fits 5"" x 5"" to 8"" X 8"" Angle"  $ 347.59 
C10158001 "PIPE TO PIPE MOUNT KIT WITH 2' PIPE  Usage Information/Equipped With Fits (2) 1 1/2"" to 5"" OD  1.9"" X 2'-0"" GPS Antenna Mounting Pipe"  $ 68.68 
C10158100 "PIPE TO PIPE MOUNT KIT WITH 1 1/2"" TO 5"" PIPE"  $ 76.17 
C10158101 "PIPE TO PIPE MOUNT KIT WITH 1 1/2"" TO 9"" PIPE"  $ 242.79 
C10158102 "PIPE TO PIPE MOUNT KIT 1 1/2"" to 3 1/2"""  $ 91.11 
C10159004 "ANTENNA SEPARATION FRAME 4'-6"""  $ 283.51 
C10169001 "HANDRAIL PIPE MOUNT 2 3/8"" X 6'-0"" MOUNTING PIPE"  $ 97.97 
C10171001 "UNIVERSAL MOUNTING KIT STRAIGHT ROUND LEG  Usage Information Fits 1"" to 5"" OD"  $ 81.21 
C10171002 "UNIVERSAL MOUNTING KIT STRAIGHT / TAPERED ROUND LEG  Usage Information Fits 1"" to 5"" OD"  $ 368.94 
C10171202 "PIPE MOUNT KIT FOR SIDEARM STRAIGHT / TAPERED ROUND-ANGLE  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle For Sidearm"  $ 320.62 
C10171204 "PIPE MOUNT KIT FOR SIDEARM STRAIGHT / TAPERED ROUND-ANGLE  Usage Information Fits 5 9/16"" to 10 3/4"" OD Fits 5"" X 5"" to 8"" X 8"" Angle For Sidearm"  $ 367.74 
C10171304 "T-FRAME PIVOTING MOUNTING KIT STRAIGHT / TAPERED ROUND-ANGLE  Usage Information Fits 5 3/4"" to 10 3/4"" OD Fits 5"" X 5"" to 8"" X 8"" Angle"  $ 127.85 
C10172101 "UNIVERSAL MOUNTING KIT STRAIGHT / TAPERED ROUND-ANGLE  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle"  $ 187.47 
C10172102 "UNIVERSAL MOUNTING KIT STRAIGHT / TAPERED ROUND-ANGLE  Usage Information Fits 5 9/16"" to 10 3/4"" OD Fits 5"" X 5"" to 8"" X 8"" Angle"  $ 229.13 
C10172998 "ANTENNA PIPE MOUNTING KIT 4 1/2"" OD X 7'-0"" PIPE  USAGE INFORMATION FOR 1 1/2"" TO 5 9/16"" OD FOR 2 1/2"" X 2 1/2"" TO 4"" X 4"" ANGLE"  $ 360.85 
C10172999 "ANTENNA PIPE MOUNTING KIT 4 1/2"" OD X 7'-0"" PIPE  Usage Information FOR 5 3/4"" TO 10 3'4"" OD FOR 5"" X 5"" TO 8"" X 8"" ANGLE"  $ 407.95 
C10173003 "PIPE MOUNT ROUND LEG STRAIGHT 1-3/4"" T - 1-3/4"" B"  $ 175.33 
C10173006 "PIPE MOUNT ROUND LEG STRAIGHT 2"" T - 2"" B"  $ 172.58 
C10173009 "PIPE MOUNT ROUND LEG STRAIGHT 2-1/4"" T - 2-1/4"" B"  $ 171.44 
C10173010 "PIPE MOUNT ROUND LEG STRAIGHT 2-3/8"" T - 2-3/8"" B"  $ 171.44 
C10173013 "PIPE MOUNT ROUND LEG STRAIGHT 2-1/2"" T - 2-1/2"" B"  $ 172.21 
C10173016 "PIPE MOUNT ROUND LEG STRAIGHT 2-3/4"" T - 2-3/4"" B"  $ 175.98 

�2



C10173018 "PIPE MOUNT ROUND LEG STRAIGHT 2-7/8"" T - 2-7/8"" B"  $ 175.98 
C10173045 "PIPE MOUNT ROUND LEG STRAIGHT 4-1/2"" T - 4-1/2"" B"  $ 201.35 
C10174006 "PIPE MOUNT ROUND LEG TAPERED 2"" T - 2"" B"  $ 157.35 
C10174029 "PIPE MOUNT ROUND LEG TAPERED 3-1/2"" T - 3-1/2"" B"  $ 162.70 
C10174044 "PIPE MOUNT ROUND LEG TAPERED 4-1/2"" T - 4-1/2"" B"  $ 165.91 
C10174051 "PIPE MOUNT ROUND LEG TAPERED 2-7/8"" T - 5-9/16"" B"  $ 208.70 
C10174055 "PIPE MOUNT ROUND LEG TAPERED 5-9/16"" T - 5-9/16"" B"  $ 208.05 
C10174064 "PIPE MOUNT ROUND LEG TAPERED 8-5/8"" T - 8-5/8"" B"  $ 212.70 
C10175001 "TIEBACK KIT 2 3/8"" X 10'-0"" FITS 1-1/2"" - 5"" ROUND LEGS"  $ 153.83 
C10177001 "TIEBACK CLIP KIT 1 1/2""-5"" OD TIEBACK CLIP KIT-1-1/2""-5""OD"  $ 39.56 
C10177101 "TIEBACK KIT 1.5"" - 5.562"" RD 2.5"" - 4"" ANG"  $ 39.54 
C10177102 "TIEBACK KIT 5.75"" - 10.75"" RD 5"" - 8"" ANG"  $ 89.85 
C10179001 "TIEBACK KIT, SWIVEL KNUCKLE 2 3/8"" X 10'-0"" PIPE  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle"  $ 146.72 
C10179002 "TIEBACK KIT, SWIVEL KNUCKLE 2 3/8"" X 13'-3"" PIPE  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle"  $ 166.51 
C10179012 "TIEBACK KIT, SWIVEL KNUCKLE 2 7/8"" X 20'-0"" PIPE  Usage Information Fits 1 1/2"" to 5 9/16"" OD Fits 2 1/2"" X 2 1/2"" to 4"" X 4"" Angle"  $ 307.62 
C10179201 "TIEBACK KIT, SWIVEL KNUCKLE 1.9"" X .120 X 10'-0"" PIPE  Usage Information Fits 1 1/2"" to 5 9/16"" OD"  $ 94.10 
C10180001 "STANDOFF BRACKET 1 1/4"" TO 3 1/2"" ROUND"  $ 77.20 
C10180101 "STANDOFF BRACKET 1 1/4"" TO 3 1/2"" ROUND"  $ 78.10 
C10181001 T-ARM 4' WORK PLATFORM ASSY ONE PLATFORM PER ASSEMBLY  Usage Information Use with T-Arm C10113XXX  $ 319.21 
C10181011 SQ T-ARM WORK PLATFORM ASSY ONE PLATFORM PER ASSEMBLY  $ 702.44 
C10181013 "SQ T-ARM  WORK PLATFORM ASSY 3'-0"" WALKWAY  FITS 4"" SQ TUBE"  $ 284.91 
C10181014 "SQ T-ARM  WORK PLATFORM ASSY 10'-0"" WALKWAY FITS 3"" SQ TUBE"  $ 480.87 
C10181301 T-ARM 10' WORK PLATFORM ASSY ONE PLATFORM PER ASSEMBLY  $ 452.26 
C10201001 "WALL MOUNT FOR 2 3/8"" 2 7/8"" & 4 1/2"" OD"  $ 140.80 
C10201101 "WALL MOUNT UNIVERSAL FOR 1 1/2"" - 5"" OD  Usage Information Fits Pipes 1 1/2"" To 5"" OD Fits Walls Up To 1'-1"" Thick"  $ 44.38 
C10201301 "WALL MOUNT BRACKET, CANTILEVER (NO 2 3/8"" ANTENNA MOUNTING PIPES)"  $ 94.24 
C10202001 WALL MOUNT CORNER CORNER WALL MOUNT  $ 327.52 
C10219101 "TRI-SECTOR CLUSTER MOUNT FITS 2 7/8"" TO 5 9/16"" OD PIPE"  $ 332.72 
C10220010 ROOF MOUNT BALLAST FRAME NON-PENETRATING BALLAST FRAME  $ 932.43 
C10221001 "ROOF MOUNT TRIPOD 4-1/2"" PENETRATING TRIPOD"  $ 591.44 
C10222001 ROOF MOUNT TRIPOD NON-PENETRATING  $ 749.32 
C10222101 ROOF MOUNT QUADPOD NON-PENETRATING  $ 190.05 
C10223001 ROOF MOUNT 6' FACE SECTOR NO ANTENNA PIPE MOUNTS  $ 609.64 
c10223102 ROOF MOUNT 12' FACE SECTOR AMP HDW NO ANTENNA PIPE MOUNTS  $ 701.86 
C10223110 ROOF MOUNT 10' FACE SECTOR AMP HDW NO ANTENNA PIPE MOUNTS  $ 674.77 
C10223201 ROOF MOUNT 7' FACE SECTOR NO ANTENNA PIPE MOUNTS  $ 649.74 
C10223202 ROOF MOUNT 6' FACE SECTOR NO ANTENNA PIPE MOUNTS  $ 609.83 
C10224001 ROOF MOUNT CORNER NO ANTENNA PIPE MOUNTS  $ 2,067.54 
C10226001 "RUBBER MAT 1/2""X18""X48"" 1/2"" X 1'-6"" X 4' RUBBER MAT"  $ 17.88 
C10301002 "WATER TOWER MOUNT 14' FACE NO ANTENNA PIPE MOUNTS  Details Three 14'-0"" Faces"  $ 1,924.21 
C10301011 WATER TOWER ANTENNA MOUNT NO ANTENNA PIPE MOUNTS  $ 271.98 
C10302001 ROOF-WATER TOWER SECTOR MT 10' NO ANTENNA PIPE MOUNTS  $ 615.59 
C10302011 ROOF-WATER TOWER SECTOR MT 12' NO ANTENNA PIPE MOUNTS  $ 666.05 
C10851001 10' - 12' LOW-PROFILE CO-LOCATION PLATFORM  $ 2,509.56 
C10851997 "12' LOW-PROFILE CO-LOCATION PLATFORM & TRI-COLLAR 10"" - 40"" (9) 6'-0"" ANTENNA MOUNTING PIPES"  $ 3,323.04 
C10851998 "14' LOW-PROFILE CO-LOCATION PLATFORM & TRI-COLLAR 10"" - 40"" (9) 8'-0"" ANTENNA MOUNTING PIPES"  $ 4,302.41 
C10852501 ULTRA-BOOM ROUND MEMBER 8' FACE 3' STDOF E/W TIEBACK - NO ANT MT PIPES  $ 951.26 
C10852531 ULTRA-BOOM ROUND MEMBER 10' FACE 3' STDOF E/W TIEBACK - NO ANT MT PIPES  $ 915.69 
C10852536 "STRAIGHT AND TAPER MOUNT FOR T-ARM, 3-SECTOR LEGS 1 1/2' THRU 5 9/16"""  $ 1,393.37 
C10852561 ULTRA-BOOM ROUND MEMBER 12' FACE 3' STDOF E/W TIEBACK - NO ANT MT PIPES  $ 931.47 
C10852591 ULTRA-BOOM ROUND MEMBER 14' FACE 3' STDOF E/W TIEBACK - NO ANT MT PIPES  $ 1,121.64 
C10854101 ANTENNA SEPARATION KIT FOR TOWERS 2 FT  $ 229.49 
C10854998 ANTENNA SEPARATION KIT FOR TOWERS  $ 575.28 
C10854999 ANTENNA SEPARATION KIT FOR TOWERS  $ 190.14 
C10856001 "SAF-T-ARM 4'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 1,847.59 
C10856051 "SAF-T-ARM 4'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,294.15 
C10856201 "SAF-T-ARM 6'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,309.33 
C10856202 MONOPOLE T-ARM C10856201, (6) C10981206  $ 2,478.65 
C10856251 "SAF-T-ARM 6'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,770.50 
C10856401 "SAF-T-ARM 8'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,239.42 

�3



C10856451 "SAF-T-ARM 8'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,685.98 
C10856651 "SAF-T-ARM 10'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,853.05 
C10856801 "SAF-T-ARM 12'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,341.46 
C10856851 "SAF-T-ARM 12'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,788.03 
C10858001 "ROUND MEMBER T-ARM 4'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,049.56 
C10858051 "ROUND MEMBER T-ARM 4'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,496.13 
C10858201 "ROUND MEMBER T-ARM 8'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,420.71 
C10858251 "ROUND MEMBER T-ARM 8'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 2,867.27 
C10858401 "ROUND MEMBER T-ARM 10'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,571.38 
C10858451 "ROUND MEMBER T-ARM 10'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 3,017.95 
C10858601 "ROUND MEMBER T-ARM 12'-0"" FACE 3'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,406.49 
C10858651 "ROUND MEMBER T-ARM 12'-0"" FACE 3'-0"" ARM & TRI-COLLAR 12"" - 60"""  $ 3,138.70 
C10858901 "ROUND MEMBER T-ARM 14'-0"" FACE 5'-0"" ARM & TRI-COLLAR 10"" - 40"""  $ 2,891.45 
C10897001 "PIPE ALUMINUM 1.9 X .145 X 20'-0"""  $ 117.09 
C10898001 "MOUNT CLAMP KIT 2 EACH V-BOLT 4"""  $ 32.51 
C10898002 "MOUNT CLAMP KIT 2 EACH V-BOLT 2"""  $ 27.71 
C10899001 "MONOPOLE DISH MOUNT 4 1/2"" OD X 5'-3"""  $ 191.52 
C10900105 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 5'-0"" (2) U-BOLTS"  $ 37.97 
C10900106 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 6'-0"" (2) U-BOLTS"  $ 42.77 
C10900107 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 7'-0"" (2) U-BOLTS"  $ 48.05 
C10900108 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 8'-0"" (2) U-BOLTS"  $ 52.72 
C10900109 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 9'-0"" (2) U-BOLTS"  $ 57.93 
C10900110 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 10'-0"" (2) U-BOLTS"  $ 63.15 
C10900111 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 11'-0"" (2) U-BOLTS"  $ 87.30 
C10900123 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 8'-6"" (2) U-BOLTS"  $ 55.33 
C10900125 "PIPE ANTENNA MOUNT KIT 2-3/8"" OD X 10'-6"" (2) U-BOLTS"  $ 65.76 
C10900202 "PIPE ANTENNA MOUNT KIT 2 7/8"" OD X 2'-0"" (2) U-BOLTS"  $ 40.60 
C10900207 "PIPE ANTENNA MOUNT KIT 2 7/8"" OD X 7'-0"" (2) U-BOLTS"  $ 111.30 
C10900405 "PIPE ANTENNA MOUNT KIT 4"" OD X 5'-0"" (2) U-BOLTS"  $ 129.98 
C10900406 "PIPE ANTENNA MOUNT KIT 4"" OD X 6'-0"" (2) U-BOLTS"  $ 112.99 
C10900408 "PIPE ANTENNA MOUNT KIT 4"" OD X 8'-0"" (2) U-BOLTS"  $ 154.99 
C10900504 "PIPE ANTENNA MOUNT KIT 4 1/2"" OD X 4'-0"" (2) U-BOLTS"  $ 79.73 
C10900505 "PIPE ANTENNA MOUNT KIT 4 1/2"" OD X 5'-0"" (2) U-BOLTS"  $ 91.09 
C10900507 "PIPE ANTENNA MOUNT KIT 4 1/2"" OD X 7'-0"" (2) U-BOLTS"  $ 111.76 
C10901105 "PIPE GALVANIZED STEEL 4"" X .226 X 5'-0""  Specifications 3-1/2"" Nominal Size Schedule 40"  $ 104.71 
C10901106 "PIPE GALVANIZED STEEL 4"" X .226 X 6'-0""  Specifications 3-1/2"" Nominal Size Schedule 40"  $ 99.40 
C10901108 "PIPE GALVANIZED STEEL 4"" X .226 X 8'-0""  Specifications 3-1/2"" Nominal Size Schedule 40"  $ 160.82 
C10901109 "PIPE GALVANIZED STEEL 4"" X .226 X 9'-0""  Specifications 3-1/2"" Nominal Size Schedule 40"  $ 144.97 
C10901206 "PIPE GALVANIZED STEEL 2-3/8"" X .154 X 6'-0""  Specifications 2"" Nominal Size Schedule 40"  $ 47.97 
C10901302 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 2'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 28.53 
C10901304 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 4'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 44.74 
C10901305 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 5'-3""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 41.03 
C10901307 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 7'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 62.51 
C10901308 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 8'-6""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 117.98 
C10901309 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 9'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 91.56 
C10901310 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 10'-6""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 109.28 
C10901314 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 14'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 170.65 
C10901321 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 21'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 203.09 
C10901322 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 8'-0""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 112.24 
C10901323 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 16'-6""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 192.94 
C10901324 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 18'-6""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 207.20 
C10901325 "PIPE GALVANIZED STEEL 2-7/8"" X .203 X 12'-6""  Specifications 2-1/2"" Nominal Size Schedule 40"  $ 167.28 
C10901421 "PIPE GALVANIZED STEEL 4-1/2"" X .237 X 21'-0""  Specifications 4"" Nominal Size Schedule 40"  $ 341.21 
C10901521 "PIPE GALVANIZED STEEL 3-1/2"" X .216 X 21'-0""  Specifications 3"" Nominal Size Schedule 40"  $ 277.13 
C10902001 "CROSSOVER PLATE KIT FOR 2-3/8"" & 2-3/8"" OD PIPES"  $ 45.69 
C10902002 "CROSSOVER PLATE KIT FOR 2-3/8"" & 2-7/8"" OD PIPES"  $ 45.97 
C10902003 "CROSSOVER PLATE KIT FOR 2-3/8"" & 3-1/2"" OD PIPES"  $ 38.63 
C10902004 "CROSSOVER PLATE KIT FOR 2-38"" & 4-1/2"" OD PIPES"  $ 43.49 
C10902006 "CROSSOVER PLATE KIT FOR 2-7/8"" & 3-1/2"" OD PIPES"  $ 52.14 
C10902009 "CROSSOVER PLATE KIT FOR 3-1/2"" & 4-1/2"" OD PIPES"  $ 50.32 

�4



C10902010 "CROSSOVER PLATE KIT FOR 4-1/2"" & 4-1/2"" OD PIPES"  $ 60.96 
C10902106 "CROSSOVER PLATE KT ROUND-ROUND 1 1/2"" & 2 3/4""-2 7/8""  Equipped With 1/2"" Hardware"  $ 36.12 
C10902120 "CROSSOVER PLATE KT ROUND-ROUND 1 3/4"" & 2 3/4""-2 7/8""  Equipped With 1/2"" Hardware"  $ 34.89 
C10902143 "CROSSOVER PLATE KT ROUND-ROUND 2 1/4""-2 3/8"" & 2 1/4""-2 3/8""  Equipped With 1/2"" Hardware"  $ 30.77 
C10902144 "CROSSOVER PLATE KT ROUND-ROUND 2 1/4""-2 3/8"" & 2 1/2""  Equipped With 1/2"" Hardware"  $ 49.33 
C10902148 "CROSSOVER PLATE KT ROUND-ROUND 2 1/4""-2 3/8"" & 3 1/2""  Equipped With 1/2"" Hardware"  $ 32.75 
C10902155 "CROSSOVER PLATE KT ROUND-ROUND 2 1/2"" & 2 1/2""  Equipped With 1/2"" Hardware"  $ 60.05 
C10902156 "CROSSOVER PLATE KT ROUND-ROUND 2 1/2"" & 2 3/4""-2 7/8""  Equipped With 1/2"" Hardware"  $ 47.98 
C10902157 "CROSSOVER PLATE KT ROUND-ROUND 2 1/2"" & 3""  Equipped With 1/2"" Hardware"  $ 50.46 
C10902166 "CROSSOVER PLATE KT ROUND-ROUND 2 3/4""-2 7/8"" & 2 3/4""-2 7/8""  Equipped With 1/2"" Hardware"  $ 35.91 
C10902173 "CROSSOVER PLATE KT ROUND-ROUND 2 3/4""-2 7/8"" & 4 1/2""  Equipped With 1/2"" Hardware"  $ 41.66 
C10902193 "CROSSOVER PLATE KT ROUND-ROUND 3 1/2"" & 3 1/2""  Equipped With 1/2"" Hardware"  $ 34.38 
C10902202 "CROSSOVER PLATE KT ROUND-ROUND 3 3/4"" & 4 1/4""  Equipped With 1/2"" Hardware"  $ 43.66 
C10902304 "CROSSOVER PLATE KT ROUND-ROUND 1 1/2"" & 2 1/4""-2 3/8""  Equipped With 5/8"" Hardware"  $ 39.32 
C10902306 "CROSSOVER PLATE KT ROUND-ROUND 1 1/2"" & 2 3/4""-2 7/8""  Equipped With 5/8"" Hardware"  $ 41.59 
C10902331 "CROSSOVER PLATE KT ROUND-ROUND 2"" &  2 1/4""-2 3/8""  Equipped With 5/8"" Hardware"  $ 37.57 
C10902336 "CROSSOVER PLATE KT ROUND-ROUND 2"" & 3 1/2""  Equipped With 5/8"" Hardware"  $ 44.09 
C10902393 "CROSSOVER PLATE KT ROUND-ROUND 3 1/2"" & 3 1/2""  Equipped With 5/8"" Hardware"  $ 46.77 
C10902408 "CROSSOVER PLATE KT ROUND-ROUND 4"" & 4 1/2""  Equipped With 5/8"" Hardware"  $ 48.91 
C10902997 "CROSSOVER PLATE KIT UNIVERSAL ROUND-ROUND 1 1/2"" TO 5"" & 1 1/2"" TO 5"""  $ 91.16 
C10902998 "CROSSOVER PLATE KT ROUND-ROUND 1.9"" X 4 1/2""  Equipped With 5/8"" Hardware"  $ 50.62 
C10902999 "CROSSOVER PLATE KIT UNIVERSAL ROUND-ROUND 1 1/2"" TO 5"" & 2"" TO 9"""  $ 145.32 
C10905001 "ANGLE BULK                 HDG 3 X 3 X 5/16 x 20'-0"""  $ 167.20 
C10905002 "ANGLE BULK                 HDG 2 X 2 X 3/16 X 20'-0"""  $ 73.26 
C10905003 "ANGLE BULK                 HDG 2 X 2 X 1/4 X 20'-0"""  $ 94.32 
C10905004 "ANGLE BULK                 HDG 2 1/2 X 2 1/2 X 3/16 X 20'-0"""  $ 91.15 
C10905005 "ANGLE BULK                 HDG 2 1/2 X 2 1/2 X 1/4 X 20'-0"""  $ 111.35 
C10905006 "ANGLE BULK                 HDG 3 X 3 X 3/16 X 20'-0"""  $ 103.20 
C10905007 "ANGLE BULK                 HDG 3 X 3 X 1/4 X 20'-0"""  $ 133.69 
C10905014 "ANGLE BULK                 HDG 2 X 2 X 3/8 X 8'-0"""  $ 73.86 
C10919048 "PIPE GALVANIZED STEEL 1.9"" X .145 X 4'-0"" Specifications 1 1/2"" Nominal Size - Schedule 40"  $ 29.78 
C10919150 "PIPE GALVANIZED STEEL 1.9"" X .145 X 12'-6"" Specifications 1 1/2"" Nominal Size - Schedule 40"  $ 88.96 
C10921001 "EQUIPMENT RACK 5 1/8 X 120 X 10'-6"""  $ 526.26 
C10981202 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 2'-0"""  $ 17.85 
C10981203 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 3'-0"""  $ 26.00 
C10981204 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 4'-0"""  $ 20.92 
C10981205 "ANTENNA MOUNTING PIPE 2 3/8"" X .154 X 5'-3"""  $ 37.45 
C10981206 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 6'-0"""  $ 31.32 
C10981207 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 7'-0"""  $ 36.38 
C10981208 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 8'-6"""  $ 43.49 
C10981209 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 9'-0"""  $ 45.56 
C10981210 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 10'-6"""  $ 54.63 
C10981211 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 11'-0"""  $ 67.21 
C10981212 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 12'-0"""  $ 80.91 
C10981213 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 13'-0"""  $ 82.51 
C10981214 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 14'-0"""  $ 72.15 
C10981215 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 15'-0"""  $ 81.01 
C10981216 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 16'-0"""  $ 143.30 
C10981221 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 21'-0"""  $ 167.06 
C10981222 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 8'-0"""  $ 41.52 
C10981223 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 5'-0"""  $ 26.94 
C10981224 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 10'-0"""  $ 52.10 
C10981225 "ANTENNA MOUNTING PIPE 2 3/8"" X .134 X 9'-6"""  $ 45.78 
C10981403 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 3'-0"""  $ 46.74 
C10981404 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 4'-0"""  $ 76.80 
C10981405 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 5'-3"""  $ 80.10 
C10981406 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 6'-0"""  $ 94.21 
C10981407 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 7'-0"""  $ 108.39 
C10981408 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 8'-6"""  $ 273.44 
C10981410 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 10'-6"""  $ 164.67 

�5



C10981422 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 5'-0"""  $ 85.98 
C10981423 "ANTENNA MOUNTING PIPE 4 1/2"" X .180 X 12'-6"""  $ 201.09 
C10981501 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 9'-0"""  $ 99.26 
C10981502 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 10'-6"""  $ 163.49 
C10981503 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 14'-6"""  $ 171.33 
C10981504 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 16'-0"""  $ 197.76 
C10981505 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 13'-4"""  $ 138.14 
C10981506 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 15'-4"""  $ 161.90 
C10981507 "ANTENNA MOUNTING PIPE 3 1/2"" X .180  x 18'-0"""  $ 186.24 
C10981508 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 5'-3"""  $ 50.10 
C10981509 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 3'-0"""  $ 38.19 
C10981510 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 7'-0"""  $ 71.90 
C10981512 "ANTENNA MOUNTING PIPE 3 1/2"" X .180 X 8'-0"""  $ 59.01 
C20112001 "HOISTING GRIP LACE-UP 1/2"" 1/2 CORR &COMSCOPE/EW240&EW220"  $ 17.42 
C20112002 "HOISTING GRIP LACE-UP 7/8"" 7/8 CORR &COMSCOPE/EW77"  $ 25.20 
C20112003 "HOISTING GRIP LACE-UP 1-1/4"" 1 1/4 CORR  / EW64"  $ 29.37 
C20112004 "HOISTING GRIP LACE-UP 1-5/8"" 1 5/8 CORR &COMSCOPE/EW52&EW63"  $ 29.61 
C20112006 HOISTING GRIP LACE-UP 5/8 COAX 5/8 CORR / EW85, 90, 127 & 132  $ 30.85 
C20113001 "HOISTING GRIP PRELACED 1/2"" 1/2 CORR &COMSCOPE/EW220&EW180"  $ 20.87 
C20113002 "HOISTING GRIP PRELACED 7/8"" 7/8 CORR &COMSCOPE/EW90 & EW85"  $ 22.27 
C20113003 "HOISTING GRIP PRELACED 1 1/4"" 1 1/4 CORR  / EW64"  $ 29.52 
C20113004 "HOISTING GRIP PRELACED 1 5/8"" 1 5/8 CORR &COMSCOPE/EW52&EW63"  $ 28.62 
C20114001 "GROUNDING KIT CLICK ON 1/2"" 1/2 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 20.85 
C20114002 "GROUNDING KIT CLICK ON 7/8"" 7/8 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 18.77 
C20114003 "GROUNDING KIT CLICK ON 1 1/4"" 1 1/4 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.06 
C20114004 "GROUNDING KIT CLICK ON 1 5/8"" 1 5/8 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.42 
C20114005 "GROUNDING KIT CLICK ON 2 1/4"" 2 1/4 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.47 
C20124001 WRAP LOCK BANDING WRAP LOCK BANDING KIT (SS)  $ 84.21 
C20125002 "CLUSTER BLOCK BRACKET CLUSTER BLOCK (GALVANIZED)  Details 2"" X 2"" Block"  $ 1.47 
C20126001 "CLAMP ASSY UNIVERSAL RD 2"" TO 8"" OD"  $ 28.92 
C20128001 WAVEGUIDE LADDER GS(12HOLE) 5' 5' WAVEGUIDE LADDER (12 HOLE)  $ 73.44 
C20128002 WAVEGUIDE LADDER GS(12HOLE)10' 10' WAVEGUIDE LADDER (12 HOLE)  $ 80.85 
C20128004 WAVEGUIDE LADDER GS(12HOLE)20' 20' WAVEGUIDE LADDER (12 HOLE)  $ 183.00 
C20128005 WAVEGUIDE LADDER GS(8HOLE)-5' 5' WAVEGUIDE LADDER (8 HOLE)  $ 68.70 
C20128006 WAVEGUIDE LADDER 10' 8 LINE - 4' RUNG SPACING  $ 69.49 
C20128008 WAVEGUIDE LADDER GS(8HOLE)-20' 20' WAVEGUIDE LADDER (8 HOLE)  $ 171.15 
C20128011 WAVEGUIDE LADDER 10' 12 LINE - 3' RUNG SPACING  $ 108.97 
C20128015 WAVEGUIDE LADDER 10' 8 LINE - 3' RUNG SPACING  $ 83.42 
C20128021 WAVEGUIDE LADDER 20' 12 LINE - 3' RUNG SPACING  $ 197.18 
C20128025 WAVEGUIDE LADDER 20' 8 LINE - 3' RUNG SPACING  $ 180.62 
C20128998 "WAVEGUIDE LADDER 10' 9 LINE - 2'-4"" RUNG SPACING"  $ 114.21 
C20128999 "WAVEGUIDE LADDER 20' 9 LINE - 2'-10"" RUNG SPACING"  $ 208.09 
C20129007 "WAVEGUIDE LADDER STACKER KIT 10' LADDER 3' SPACING 4 RUNG  Usage Information Has (12) 7/16"" & 3/4"" Attachment Holes Provides 10 on 10 Waveguide Runs On 12 Hole Rung" $ 68.70 
C20129008 "WAVEGUIDE LADDER STACKER KIT 20' LADDER 3' SPACING 7 RUNG  Usage Information Has (12) 7/16"" & 3/4"" Attachment Holes Provides 10 on 10 Waveguide Runs On 12 Hole Rung" $ 120.22 
C20129009 "WAVEGUIDE LADDER STACKER KIT 10' LADDER 3' SPACING 4 RUNG  Usage Information Has (8) 7/16"" & 3/4"" Attachment Holes Provides 6 on 6 Waveguide Runs On 8 Hole Rung" $ 42.15 
C20129010 "WAVEGUIDE LADDER STACKER KIT 20' LADDER 3' SPACING 7 RUNG  Usage Information Has (8) 7/16"" & 3/4"" Attachment Holes Provides 6 on 6 Waveguide Runs On 8 Hole Rung" $ 73.76 
C20135001 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' NO TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 507.42 
C20135002 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' NO TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 557.85 
C20135003 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' NO TRAPEZ 4-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,090.99 
C20135004 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 1 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 549.97 
C20135005 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 1 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 627.49 
C20135006 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 1 LVL TRAPEZ 4-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,147.52 
C20135007 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 2 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 584.43 
C20135008 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 2 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 675.93 
C20135009 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 2 LVL TRAPEZ 4-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,195.98 
C20135010 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 3 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 600.41 
C20135011 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 3 LVL TRAPEZ 2-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 705.88 
C20135012 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 3 LVL TRAPEZ 4-18' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,225.93 
C20135051 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' NO TRAPEZE 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 436.26 
C20135052 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' NO TRAPEZE 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 505.79 

�6



C20135053 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' NO TRAPEZE 4-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 902.36 
C20135054 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 1 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 500.22 
C20135055 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 1 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 538.99 
C20135056 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 1 LVL TRAPEZ 4-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 1,048.05 
C20135057 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 2 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 534.68 
C20135058 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 2 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 626.19 
C20135060 "WAVEGUIDE BRIDGE DIRECT BURIAL 1'X10' 3 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 550.66 
C20135061 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 3 LVL TRAPEZ 2-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 656.14 
C20135062 "WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 3 LVL TRAPEZ 4-15' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 1,126.44 
C20135561 WAVEGUIDE BRIDGE DIRECT BURIAL 2'X10' 3 LVL TRAPEZ 2-15' POST  $ 712.07 
C20136021 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' NO TRAPEZE 2-10.5' POST  Usage Information 9'-6"" Maximum Above Grade"  $ 610.51 
C20136022 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' NO TRAPEZE 4-10.5' POST  Usage Information 9'-6"" Maximum Above Grade"  $ 1,235.30 
C20136023 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 1 LVL TRAPEZ 2-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 653.08 
C20136024 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 1 LVL TRAPEZ 4-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 1,353.74 
C20136025 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 2 LVL TRAPEZ 2-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 687.54 
C20136026 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 2 LVL TRAPEZ 4-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 1,402.19 
C20136027 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 3 LVL TRAPEZ 2-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 703.52 
C20136028 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 3 LVL TRAPEZ 4-10.5' PT  Usage Information 9'-6"" Maximum Above Grade"  $ 1,432.15 
C20136061 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' NO TRAPEZE 2-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 718.55 
C20136062 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' NO TRAPEZE 4-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,513.26 
C20136063 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 1 LVL TRAPEZ 2-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 758.10 
C20136064 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 1 LVL TRAPEZ 4-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,569.81 
C20136065 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 2 LVL TRAPEZ 2-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 795.57 
C20136066 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 2 LVL TRAPEZ 4-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,618.26 
C20136067 "WAVEGUIDE BRIDGE BASE PLATE 1'X10' 3 LVL TRAPEZ 2-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 811.54 
C20136068 "WAVEGUIDE BRIDGE BASE PLATE 2'X10' 3 LVL TRAPEZ 4-14' POST  Usage Information 13'-0"" Maximum Above Grade"  $ 1,648.21 
C20136628 "2' X 10' 3 NO TRAPEZ 2-10.5' POST  Usage Information 10'-0"" Maximum Above Grade"  $ 692.03 
C20137001 "GRIP STRUT GRATING     1 X 10 14 GA X 2"" X 12"" X 10'-0"""  $ 75.04 
C20137002 "GRIP STRUT GRATING     2 X 10 14 GA X 2"" X 24"" X 10'-0"""  $ 122.82 
C20137006 "GRIP STRUT GRATING 2 X 5 14 GA X 2"" X 24"" X 5'-0"""  $ 79.30 
C20137007 "GRIP STRUT GRATING     2 X 12 14 GA X 2"" X 24"" X 12'-0"""  $ 148.44 
C20137015 "GRIP STRUT GRATING       1 X 4 14 GA X 2"" X 12"" X 4'-0"""  $ 33.37 
C20137029 "GRIP STRUT GRATING      1 X 12 14 GA X 2"" X 12"" X 12'-0"""  $ 146.03 
C20137031 "GRIP STRUT GRATING       2 X 8 14 GA X 2"" X 24"" X 8'-0"""  $ 152.91 
C20137040 "GRIP STRUT GRATING       1 X 3 14 GA X 2"" X 12"" X 3'-0"""  $ 54.26 
C20137054 "GRIP STRUT GRATING      1 X 12 14 GA X 2"" X 12"" X 8'-0"""  $ 102.77 
C20137101 "GRIP STRUT GRATING      1 X 10 12 GA X 3"" X 12"" X 10'-0"""  $ 141.73 
C20137102 "GRIP STRUT GRATING      2 X 10 12 GA X 3"" X 24"" X 10'-0"""  $ 190.99 
C20138001 DIRECT PIPE BURIAL GS 3 1/2 OD x 18' PIPE  $ 174.34 
C20138002 PIPE CAPS PIPE CAPS (EA  ADDITIONAL)  $ 2.56 
C20138003 "DIRECT PIPE BURIAL GS 3 1/2 OD X 13' 4"" PIPE"  $ 135.21 
C20138004 "DIRECT PIPE BURIAL GS 3 1/2 OD X 15' 4"" PIPE"  $ 148.27 
C20139000 "BASE PIPE SHOE PLATE FOR 3 1/2"" O.D. PIPE12 X 12 X 1'-0"""  $ 85.20 
C20139001 BASE PIPE PLATE 3 1/2 OD x 16' PIPE  $ 372.39 
C20139003 "BASE PIPE PLATE 3 1/2 OD X 10' 6"" PIPE"  $ 231.54 
C20139004 BASE PIPE PLATE 3 1/2 OD X 12' PIPE  $ 408.31 
C20139005 BASE PIPE PLATE 3 1/2 OD X 14' PIPE  $ 287.26 
C20139103 "BASE PIPE PLATE 3 1/2 OD X 10' 6"" PIPE"  $ 239.25 
C20140010 GENERAL BRACKET SUPPORT GS SUPPORT FOR (1) 1' CHANNEL  $ 35.79 
C20140011 GENERAL BRACKET SUPPORT GS SUPPORT FOR (1) 2' CHANNEL  $ 41.68 
C20141001 STRAIGHT SPLICE GS STRAIGHT SPLICE (GRIP STRUT)  $ 14.31 
C20144001 "Z UNIVERSAL BRACKET GS 11""WIDE (6)SNAP/(4)BUTTERFLY"  $ 4.15 
C20144002 "Z UNIVERSAL BRACKET GS 23""WIDE (14)SNAP/(12)BUTTERFLY"  $ 9.11 
C20145002 "Z TRAPEZE KIT BRACKET GS 24""SNGL (14)SNAP/(12)BUTTERFLY"  $ 18.43 
C20145004 "Z TRAPEZE KIT BRACKET GS 24""DBL (28)SNAP/(24)BUTTERFLY"  $ 34.32 
C20145005 "Z TRAPEZE KIT BRACKET GS 12"" TRI(18) SNAP/(12)BUTTERFLY"  $ 37.44 
C20145006 "Z TRAPEZE KIT BRACKET GS 24"" TRI(42) SNAP/(36)BUTTERFLY"  $ 45.83 
C20145099 "Z TRAPEZE KIT BRACKET 1/2"" HDW GS 24"" DBL (28) SNAP / (24) BUTTERFLY"  $ 61.68 
C20145101 "ICE BRIDGE VERT HGR BKT KT 12"" DBL (12)SNAP/(10)BUTTERFLY  Equipped With Attachment Hardware"  $ 17.26 
C20145201 "TRAPEZE KIT 24"" TRI (24)SNAP/(24)BUTTERFLY"  $ 78.80 

�7



C20145202 "TRAPEZE KIT 24"" DBL (16) SNAP / (16) BUTTERFLY"  $ 46.46 
C20148001 "BAND ON HANGER BRACKET 12 MOUNTING HOLES 3/4"""  $ 17.83 
C20150101 "LEG MOUNTED WAVEGUIDE SUPPORT 1.5"" - 10.75"" RD 2.5"" - 8"" ANG"  $ 91.01 
C20150102 "LEG MOUNTED WAVEGUIDE SUPPORT 1.5"" - 5.562"" RD 2.5"" - 4"" ANG"  $ 59.11 
C20157001 WAVEGUIDE BRIDGE  1' X 10'  $ 114.58 
C20158001 WAVEGUIDE BRIDGE 2'X10' 3 LVL TRAPEZ NO POST  $ 434.22 
C20161001 "ROOF BRIDGE KIT (8' LONG) FOUR COAX LINES 1/2""/1-5/8""  Details Cover 11 1/2"" Sleeper 22"""  $ 142.89 
C20161003 "ROOF BRIDGE KIT TWELVE COAX LINES 1/2""-1-5/8""  Details Cover 33"" Sleeper 43 3/8"""  $ 280.03 
C20162001 "ROOF BRIDGE STRAIGHT SPLICE FOUR COAX LINES 1/2""/1-5/8"""  $ 20.36 
C20162002 "ROOF BRIDGE STRAIGHT SPLICE EIGHT COAX LINES 1/2""/1-5/8"""  $ 24.03 
C20162003 "ROOF BRIDGE STRAIGHT SPLICE TWELVE COAX LINES 1/2""/1-5/8"""  $ 44.38 
C20163001 "ROOF BRIDGE ADJ SPLICE 0-45DEG FOUR COAX LINES 1/2""-1-5/8"""  $ 15.15 
C20163002 "ROOF BRIDGE ADJ SPLICE 0-45DEG EIGHT COAX LINES 1/2""/1-5/8"""  $ 27.59 
C20163003 "ROOF BRIDGE ADJ SPLICE 0-45DEG TWELVE COAX LINES 1/2""-1-5/8"""  $ 53.74 
C20165002 "ROOF BRIDGE SLEEPER (22"") FOUR COAX LINES 1/2""/1-5/8"""  $ 10.84 
C20165004 "ROOF BRIDGE SLEEPER (31-7/8"") EIGHT COAX LINES 1/2""/1-5/8"""  $ 15.71 
C20165006 "ROOF BRIDGE SLEEPER (43-3/8"") TWELVE COAX LINES 1/2""/1-5/8"""  $ 21.78 
C20165010 "ROOF BRIDGE SLEEPER (8'-0"") SPECIAL APPLICATION (NO HOLES)"  $ 38.10 
C20179001 "ROOF ENTRY HOOD 32"" X 33"" X 4'-0"""  $ 624.21 
C20180010 "MONOPOLE CABLE SUPPORT KIT BASE UNIT-12 RUNS 1-5/8""  Details 2'-9"" Wide 8'-0"" Long"  $ 845.90 
C20180020 "MONOPOLE CABLE SUPPORT KIT ADDITIONAL UNIT-12 RUNS 1-5/8""  Details 2'-9"" Wide 8'-0"" Long"  $ 793.91 
C20180030 MONOPOLE WAVEGUIDE SUPPORT, 12 HOLE  $ 130.12 
C20180100 "MONOPOLE WAVEGUIDE BRACKET 1 2/3 X 3 X 0'-10"""  $ 14.85 
C20181001 WALL-MOUNT CABLE SUPPORT BKT 4 RUNS COAX  Equipped With No Hardware  $ 14.53 
C20228011 WAVEGUIDE LADDER 10' 6 LINE - 4' RUNG SPACING SINGLE RAIL  $ 98.03 
C20228022 WAVEGUIDE LADDER 20' 12 LINE - 4' RUNG SPACING SINGLE RAIL  $ 186.10 
C20991004 WAVEGUIDE BRIDGE BASE PL BURL 2 LVL TRAPEZ  $ 3,332.39 
C20999007 WAVEGUIDE BRIDGE SUPPORT ASSEMBNLY  $ 61.64 
C30003001 SAFETY CLIMB CABLEGUIDE MT KT FOR VL - MD - UL TOWERS  $ 9.31 
C30004001 "JUMPERS FLEXIBLE GATE #2 SOLID - 24"" LONG"  $ 30.62 
C30004002 "JUMPERS FLEXIBLE GATE 2/0 - 24"" LONG"  $ 31.33 
C30004003 "JUMPERS FLEXIBLE GATE 4/0 - 24"" LONG"  $ 49.90 
C30008005 BEACON MOUNT TOP 3' EXTENSION FOR MONOPOLE  $ 188.32 
C30008006 BEACON MOUNT TOP 4' EXTENSION FOR MONOPOLE  $ 189.04 
C30010010 "MOUNT OBSTRUCT LIGHT ROUND LEG 1-1/2"" OD LEG-3/4"" LIGHT BASE"  $ 71.68 
C30010025 MOUNT OBSTRUCT LIGHT ROUND LEG 5-1/2 5-9/16 OD LEG-3/4 LT BAS  $ 39.37 
C30011001 "SAFETY CLIMB TOP BRACKETS FOR 2"" OD LEG"  $ 79.15 
C30011002 "SAFETY CLIMB TOP BRACKETS FOR 2-1/4"" OR 2-3/8"" OD LEG"  $ 78.27 
C30011003 "SAFETY CLIMB TOP BRACKETS FOR 2-1/2"" OD LEG"  $ 78.85 
C30011004 "SAFETY CLIMB TOP BRACKETS FOR 2-3/4"" OR 2-7/8"" OD LEG"  $ 81.68 
C30011005 "SAFETY CLIMB TOP BRACKETS FOR 3"" OD LEG"  $ 87.59 
C30011006 "SAFETY CLIMB TOP BRACKETS FOR 3-1/4"" OD LEG"  $ 120.50 
C30011007 "SAFETY CLIMB TOP BRACKETS FOR 3-1/2"" OD LEG"  $ 114.32 
C30011008 "SAFETY CLIMB TOP BRACKETS FOR 3-3/4"" OD LEG"  $ 115.40 
C30011009 "SAFETY CLIMB TOP BRACKETS FOR 4"" OD LEG"  $ 115.13 
C30011010 "SAFETY CLIMB TOP BRACKETS FOR 4-1/4"" OD LEG"  $ 122.38 
C30011011 "SAFETY CLIMB TOP BRACKETS FOR 4-1/2"" OD LEG"  $ 116.55 
C30011012 "SAFETY CLIMB TOP BRACKETS FOR 4-3/4"" OD LEG"  $ 134.31 
C30011013 "SAFETY CLIMB TOP BRACKETS FOR 5"" OD LEG"  $ 123.64 
C30011014 "SAFETY CLIMB TOP BRACKETS FOR 5-1/2"" OR 5-9/16"" OD LEG"  $ 102.39 
C30011015 "SAFETY CLIMB TOP BRACKETS FOR 6-5/8"" OD LEG"  $ 103.52 
C30011031 "SAFETY CLIMB BOTTOM BRACKETS FOR 2"" OD LEG"  $ 50.99 
C30011032 "SAFETY CLIMB BOTTOM BRACKETS FOR 2-1/4"" OR 2-3/8"" OD LEG"  $ 50.41 
C30011033 "SAFETY CLIMB BOTTOM BRACKETS FOR 2-1/2"" OD LEG"  $ 50.80 
C30011034 "SAFETY CLIMB BOTTOM BRACKETS FOR 2-3/4"" OR 2-7/8"" OD LEG"  $ 52.68 
C30011035 "SAFETY CLIMB BOTTOM BRACKETS FOR 3"" OD LEG"  $ 56.62 
C30011036 "SAFETY CLIMB BOTTOM BRACKETS FOR 3-1/4"" OD LEG"  $ 78.56 
C30011037 "SAFETY CLIMB BOTTOM BRACKETS FOR 3-1/2"" OD LEG"  $ 74.44 
C30011038 "SAFETY CLIMB BOTTOM BRACKETS FOR 3-3/4"" OD LEG"  $ 75.16 
C30011039 "SAFETY CLIMB BOTTOM BRACKETS FOR 4"" OD LEG"  $ 74.99 

�8



C30011040 "SAFETY CLIMB BOTTOM BRACKETS FOR 4-1/4"" OD LEG"  $ 79.81 
C30011041 "SAFETY CLIMB BOTTOM BRACKETS FOR 4-1/2"" OD LEG"  $ 75.93 
C30011042 "SAFETY CLIMB BOTTOM BRACKETS FOR 4-3/4"" OD LEG"  $ 87.76 
C30011043 "SAFETY CLIMB BOTTOM BRACKETS FOR 5"" OD LEG"  $ 80.67 
C30011044 "SAFETY CLIMB BOTTOM BRACKETS FOR 5-1/2"" OR 5-9/16"" OD LEG"  $ 66.50 
C30011045 "SAFETY CLIMB BOTTOM BRACKETS FOR 6-5/8"" OD LEG"  $ 67.23 
C30011046 "SAFETY CLIMB BOTTOM BRACKETS FOR 8-5/8"" OD LEG"  $ 98.50 
C30011047 "SAFETY CLIMB BOTTOM BRACKETS FOR 10-3/4"" OD LEG"  $ 105.33 
C30011048 "SAFETY CLIMB BOTTOM BRACKETS FOR 12-3/4"" OD LEG"  $ 109.71 
C30011049 "SAFETY CLIMB BOTTOM BRACKETS FOR 14"" OD LEG"  $ 121.06 
C30012008 SAFETY CLIMB CABLE TT 400' SYSTEM LENGTH CABLE GUIDES EVERY 20 FT  $ 1,363.06 
C30012961 SAFETY CLIMB CABLE ONLY 250 FT 3/8 X 250', 7 X 19, GALV  $ 580.97 
C30013001 "MOUNT BEACON VERTICAL LEG FITS 1-1/2"" DIA LEG"  $ 75.33 
C30013002 "MOUNT BEACON VERTICAL LEG FITS 1-3/4"" DIA LEG"  $ 78.22 
C30013003 "MOUNT BEACON VERTICAL LEG FITS 2"" DIA LEG"  $ 76.85 
C30013004 "MOUNT BEACON VERTICAL LEG FITS 2-1/4"" OR 2-3/8"" DIA LEG"  $ 76.27 
C30013006 "MOUNT BEACON VERTICAL LEG FITS 2-3/4"" OR 2-7/8"" DIA LEG"  $ 78.55 
C30013015 "MOUNT BEACON VERTICAL LEG FITS 5"" DIA LEG"  $ 85.88 
C30014001 "ICE SHIELD BEACON VERTICAL LEG FITS 1-1/2"" DIA LEG"  $ 51.57 
C30014004 "ICE SHIELD BEACON VERTICAL LEG FITS 2-1/4"" OR 2-3/8"" DIA LEG"  $ 52.05 
C30014005 "ICE SHIELD BEACON VERTICAL LEG FITS 2-1/2"" DIA LEG"  $ 52.24 
C30014007 "ICE SHIELD BEACON VERTICAL LEG FITS 3"" OD LEG"  $ 55.15 
C30014015 "ICE SHIELD BEACON VERTICAL LEG FITS 5"" DIA LEG"  $ 56.84 
C30015001 "SAFETY CLIMB CABLEGUIDE BKT FOR 2"" OD LEG"  $ 17.06 
C30015002 "SAFETY CLIMB CABLEGUIDE BKT FOR 2-1/4"" OR 2-3/8"" OD LEG"  $ 16.58 
C30015003 "SAFETY CLIMB CABLEGUIDE BKT FOR 2-1/2"" OD LEG"  $ 16.79 
C30015004 "SAFETY CLIMB CABLEGUIDE BKT FOR 2-3/4"" OR 2-7/8"" OD LEG"  $ 17.76 
C30015005 "SAFETY CLIMB CABLEGUIDE BKT FOR 3"" OD LEG"  $ 19.79 
C30015006 "SAFETY CLIMB CABLEGUIDE BKT FOR 3-1/4"" OD LEG"  $ 22.77 
C30015007 "SAFETY CLIMB CABLEGUIDE BKT FOR 3-1/2"" OD LEG"  $ 20.56 
C30015008 "SAFETY CLIMB CABLEGUIDE BKT FOR 3-3/4"" OD LEG"  $ 21.08 
C30015009 "SAFETY CLIMB CABLEGUIDE BKT FOR 4"" OD LEG"  $ 20.84 
C30015010 "SAFETY CLIMB CABLEGUIDE BKT FOR 4-1/4"" OD LEG"  $ 23.40 
C30015011 "SAFETY CLIMB CABLEGUIDE BKT FOR 4-1/2"" OD LEG"  $ 22.62 
C30015012 "SAFETY CLIMB CABLEGUIDE BKT FOR 4-3/4"" OD LEG"  $ 28.92 
C30015013 "SAFETY CLIMB CABLEGUIDE BKT FOR 5"" OD LEG"  $ 24.97 
C30015014 "SAFETY CLIMB CABLEGUIDE BKT FOR 5-1/2"" TO 5-9/16"" OD LEG"  $ 25.49 
C30015015 "SAFETY CLIMB CABLEGUIDE BKT FOR 6-5/8"" OD LEG"  $ 25.88 
C30015016 "SAFETY CLIMB CABLEGUIDE BKT FOR 8-5/8"" OD LEG"  $ 37.66 
C30015017 "SAFETY CLIMB CABLEGUIDE BKT FOR 10-3/4"" OD LEG"  $ 44.92 
C30015018 "SAFETY CLIMB CABLEGUIDE BKT FOR 12-3/4"" OD LEG"  $ 43.26 
C30015019 "SAFETY CLIMB CABLEGUIDE BKT FOR 14"" OD LEG"  $ 52.79 
C30015025 "SAFETY CLIMB CABLEGUIDE BKT FOR 1-1/2"" OD LEG"  $ 72.55 
C30017001 CABLE GUIDE LADDER MOUNT CABLE GUIDE  $ 30.17 
C30017002 CABLE GUIDE POLE MOUNT CABLE GUIDE  $ 30.17 
C30017003 CABLE GUIDE, FLEXIBLE  L-SHAPED, GALVED  $ 54.48 
C30018001 WIRE SAFETY SLEEVE WIRE SAFETY FALL ARRESTOR  $ 184.34 
C30018002 WIRE SAFETY SLEEVE DBI SAFETY FALL ARRESTOR (use p/n C30200042)  $ 399.42 
C30018011 WIRE SAFETY SLEEVE         DBI FALL ARRESTOR    FOR 3/8 CABLE  Vendor Part Number M900AC351A  $ 111.68 
C30020010 ROPE GRAB FALL ARREST ROPE GRAP  $ 118.99 
C30021001 "CARABINERS SAFETY HOOKS 4 1/4"" x 2 3/8"" - OPEN 3/4"""  $ 36.31 
C30021002 "CARABINERS SAFETY HOOKS 7"" x 3 11/16"" - OPEN 2 1/4"""  $ 117.32 
C30021003 "CARABINERS SAFETY HOOKS DBI 4.25 X 2.375-OPEN 3/4"" 2000112"  $ 49.38 
C30022001 "SPREADER BAR COMBO 2 1/4"" CARABINER W/ SWIVEL BAR"  $ 251.38 
C30023003 HARNESS FULL BODY X-LARGE FULL BODY HARNESS  $ 379.32 
C30024001 LANYARD WEB 6' ADJUSTABLE 6' ADJUSTABLE WEB LANYARD  $ 87.15 
C30024002 LANYARD WEB EZ STOP II E/W 9502058  $ 177.20 
C30025001 LANYARD SHOCK ABSORBING 3' 3' SHOCK ABSORBING LANYARD  $ 96.17 
C30025003 LANYARD SHOCK ABSORBING SHOCKWAVE 2        E/W 9502058  $ 241.69 
C30026001 "CLIMBING LADDER 5' X 12""   HDG 5' CLIMBING LADDER   5/8"" RUNG"  $ 43.93 

�9



C30026002 "CLIMBING LADDER 10' X 12""  HDG 10' CLIMBING LADDER  5/8"" RUNG"  $ 82.09 
C30026004 "CLIMBING LADDER 20' X 12""  HDG 20' CLIMBING LADDER  5/8"" RUNG"  $ 161.01 
C30027001 LIGHT KIT A0 WC 0-150       HW RED INC DBL SL          120VAC  $ 2,406.56 
C30027011 LIGHT KIT A0 SO 0-150       HW RED LED DBL SL          120VAC  $ 2,967.44 
C30031305 "BEACON / L ROD EXTENSION  KIT 2-1/4"" 2-3/8"" OD LEG   10' MAX"  $ 536.50 
C30032001 LIGHT KIT D1 FH 200-350     HW WHITE STR               120VAC  $ 7,797.33 
C30033001 LIGHT KIT D2 FH 351-500     HW WHITE STR               120VAC  $ 22,903.74 
C30034001 LIGHT KIT E1 SCSO 200-350   HW R/W DUAL STR & INC SL   120VAC  $ 11,105.52 
C30034002 LIGHT KIT E1 SCSO 200-350   HW RW DUAL STR RED INC SL  120VAC  $ 10,613.93 
C30035001 LIGHT KIT E2 SCSO 351-500   HW R/W DUAL STR & INC SL   120VAC  $ 27,732.53 
C30036001 CABLE FLASHHEAD HONEYWELL HONEYWELL FLASHHEAD CABLE  $ 3.47 
C30037001 PARTS HONEYWELL KG114 HONEYWELL - KG114  $ 1,890.39 
C30037002 PARTS HONEYWELL DOME RED HONEYWELL - DOME LENS  RED  $ 221.62 
C30037003 PARTS HONEYWELL UPPER RED HONEYWELL - UPPER LENS  RED  $ 466.72 
C30037004 PARTS HONEYWELL LOWER RED HONEYWELL - LOWER LENS  RED  $ 345.73 
C30037005 PARTS HONEYWELL BEACN RECPT HONEYWELL - BEACON RECEPTACLE  $ 147.03 
C30037006 PARTS HONEYWELL BEACN GSKT HONEYWELL - BEACON GASKET  $ 98.99 
C30037020 PARTS LED BEACON     HONEYWELL HONEYWELL-D164-A11-001  $ 4,915.93 
C30038001 PARTS FLASHHEAD 2000B FLASHHEAD SPARE PARTS KIT  $ 1,501.59 
C30038002 PARTS POWER SUPPLY 2000B POWER SUPPLY SPARE PARTS KIT  $ 1,537.35 
C30038003 PARTS REPLCMNT GLOBE 2000B REPLACEMENT GLOBE ASSY  $ 404.44 
C30039001 PARTS FLASHHEAD 3000B FLASHHEAD SPARE PARTS KIT  $ 1,143.40 
C30039002 PARTS POWER SUPPLY 3000B POWER SUPPLY SPARE PARTS KIT  $ 1,374.22 
C30039003 PARTS REPLCMNT GLOBE 3000B REPLACEMENT GLOBE ASSY  $ 860.29 
C30040010 LIGHT KIT A0 SO 0-150       FT RED INC DBL SL          120VAC  $ 1,374.22 
C30045002 LIGHT KIT E1 SCSO 200-350 M FT R/W DUAL STR & INC SL   120VAC  $ 11,858.55 
C30045030 LIGHT KIT E1 SCSO 200-350   FT R/W LED BEACON & LED SL 120VAC FLASH LIGHT KIT  $ 21,963.88 
C30051010 LIGHT KIT A0 SO 0-150       TW RED INC DBL SL          120VAC  $ 1,620.02 
C30066001 "REPLACEMENT PARTS SINGLE 3/4"" BOTTOM CONDUIT ENTRANCE  Detail Cast Aluminum Base"  $ 120.67 
C30066002 "REPLACEMENT PARTS SINGLE 1"" BOTTOM CONDUIT ENTRANCE  Detail Cast Aluminum Base"  $ 120.67 
C30066003 "REPLACEMENT PARTS SINGLE 3/4"" SIDE CONDUIT ENTRANCE  Detail Cast Aluminum Base"  $ 120.67 
C30066004 "REPLACEMENT PARTS SINGLE 1"" SIDE CONDUIT ENTRANCE  Detail Cast Aluminum Base"  $ 138.55 
C30066020 "REPLACEMENT PARTS HONEYWELL SINGLE LED (L-810) 120 VAC  Details 3/4"" Bottom Conduit Entrance"  $ 614.49 
C30066021 "REPLACEMENT PARTS HONEYWELL SINGLE LED (L-810) 240 VAC  Details 3/4"" Bottom Conduit Entrance"  $ 614.49 
C30066022 "REPLACEMENT PARTS HONEYWELL SINGLE LED (L-810) 12 VDC  Details 3/4"" Bottom Conduit Entrance"  $ 690.46 
C30067001 "REPLACEMENT PARTS DOUBLE 3/4"" BOTTOM CONDUIT ENTRANCE  Details Cast Aluminum Base"  $ 223.45 
C30067002 "REPLACEMENT PARTS DOUBLE 1"" BOTTOM CONDUIT ENTRANCE  Details Cast Aluminum Base"  $ 223.45 
C30067020 REPLACEMENT PARTS HONEYWELL DUAL LED (L-810) 120 VAC  $ 1,085.97 
C30067021 REPLACEMENT PARTS HONEYWELL DUAL LED (L-810) 240 VAC  $ 1,085.97 
C30067022 REPLACEMENT PARTS HONEYWELL DUAL LED (L-810) 12 VDC  $ 1,340.70 
C30068001 REPLACEMENT PARTS TWR RED FRESNEL LENS (SNG OR DBL)  $ 64.80 
C30068002 REPLACEMENT PARTS TWR LAMP RECEPTACLE (SNG OR DBL)  $ 8.94 
C30068003 REPLACEMENT PARTS TWR NEOPRENE GASKET (SNG OR DBL)  $ 8.94 
C30069001 REPLACEMENT PARTS OBSTRUCTION BULBS (SNG OR DBL)  $ 4.46 
C30069002 REPLACEMENT PARTS TWR BEACON LIGHT BULB  $ 67.04 
C30070010 WIRE #14 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30070011 WIRE #12 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30070012 WIRE #10 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30070013 WIRE #8 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30070014 WIRE #6 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30070015 WIRE #4 AWG BLACK THHN STRANDED COPPER Call for Pricing
C30071001 SEOPRENE CORD 14/2  $ 0.63 
C30071002 SEOPRENE CORD 12/3  $ 1.88 
C30071003 SEOPRENE CORD 12/4  $ 1.97 
C30071004 SEOPRENE CORD 10/3  $ 1.79 
C30071005 SEOPRENE CORD 10/4  $ 2.84 
C30072001 "CONDUIT RIGID 3/4"" 3/4"" RIGID CONDUIT GALVD 10'"  $ 23.52 
C30072002 "CONDUIT RIGID 1"" RIGID CONDUIT GALVD 10'"  $ 32.31 
C30072003 "CONDUIT RIGID 1 1/4"" 1 1/4"" RIGID CONDUIT GALVD 10'"  $ 56.60 
C30073001 "JUNCTION BOX 3/4"" HORIZ / 1"" VERT ENTRANCES"  $ 274.84 

�10



C30073002 "JUNCTION BOX 3/4"" HORIZ / 1 1/4"" VERT ENTR"  $ 301.66 
C30074001 "CONDUIT BODY T 3/4"" T-TYPE CONDUIT BODY"  $ 13.30 
C30076001 "CONDUIT BREATHER DRAIN 3/4"" CONDUIT VENT"  $ 20.10 
C30083001 MOUNT UNIVERSAL BEACON UNIVERSAL BEACON MOUNT  $ 206.21 
C30084001 ICE SHIELD UNIVERSAL BEACON  $ 270.92 
C30085002 ICE SHIELD PARABOLIC ANTENNA 6' TO 8' PARABOLIC ANTENNA  $ 1,668.97 
C30085003 ICE SHIELD PARABOLIC ANTENNA 10' PARABOLIC ANTENNA  $ 1,823.45 
C30085010 "ICE SHIELD MOUNTING KIT 4"" - 10-3/4"" OD LEGS"  $ 242.62 
C30085102 ICE SHIELD PARABOLIC ANTENNA 4 - 8 FOOT  $ 1,307.47 
C30085103 ICE SHEILD PARABOLIC ANTENNA 10 & 12 FOOT  $ 1,908.03 
C30086001 "LIGHTNING ROD CCS 5/8"" X 4' (3"" - 5"" THD)"  $ 26.82 
C30086002 "LIGHTNING ROD CCS 5/8"" X 8' (3"" - 5"" THD)"  $ 39.74 
C30086003 "LIGHTNING ROD CCS 3/4"" X 8' (3"" - 5"" THD)"  $ 40.63 
C30086004 "LIGHTNING ROD CCS 3/4"" X 10' (3"" - 5"" THD)"  $ 48.05 
C30086005 "LIGHTNING ROD CCS 5/8"" X 5' (3"" - 5"" THD)"  $ 30.44 
C30086006 "LIGHTNING ROD CCS 5/8"" X 6' (3"" - 5"" THD)"  $ 32.56 
C30086007 "LIGHTNING ROD CCS 3/4"" X 6' (3"" - 5"" THD)"  $ 76.94 
C30087001 "LIGHTNING ROD 15' EXTENSION KT 2 7/8"" X 21'-0"" EXTENSION FITS 1-1/2"" TO 5"" OD"  $ 328.15 
C30087002 "LIGHTNING ROD 5' EXTENSION KT 2 7/8"" X 10'-6"" EXTENSION FITS 1-1/2"" TO 5"" OD"  $ 217.73 
C30093001 "LUG GROUND SCREW ON #4 STRANDED  #14 SOLID (1/4"")"  $ 2.10 
C30093002 "LUG GROUND SCREW ON 1/0 STRANDED  #8 SOLID (3/8"")"  $ 5.42 
C30093003 "LUG GROUND SCREW ON #250 KCMIL  #6 STRANDED (1/2"")"  $ 3.50 
C30094002 "LUG 2 HOLE COMPRESSION #6 WIRE 3/8"" STUD 1"" HOLE BLUE"  $ 4.31 
C30094004 "LUG 2 HOLE COMPRESSION #2 WIRE 3/8"" STUD 1"" HOLE WHITE"  $ 5.93 
C30094009 "LUG 1 HOLE COMPRESSION STD B #6 STR  3/8"" BOLT DIE INDEX 7-BLUE DIE"  $ 1.85 
C30094013 "LUG 1 HOLE COMPRESSION LONG B #2 WIRE 5/16"" STUD WHITE"  $ 2.60 
C30094209 "LUG 1 HOLE COMPRESSION STD B #6 STR  3/8"" STUD          250 DIE INDEX 7-BLUE DIE"  $ 530.70 
C30095001 GROUNDING WIRE COPPER #6 BARE SOLID  TINNED  $ 1.06 
C30095003 GROUNDING WIRE COPPER #2 BARE SOLID  TINNED  $ 2.46 
C30095004 GROUNDING WIRE COPPER #2 BARE STRANDED  $ 1.68 
C30095005 GROUNDING WIRE COPPER 2/0 BARE 19 STRAND  $ 3.81 
C30095009 GROUNDING WIRE COPPER #2 BARE STRANDED TINNED  $ 2.17 
C30095100 GROUNDING WIRE COPPER #6 BARE SOLID TINNED (25')  $ 23.88 
C30095102 GROUNDING WIRE COPPER #2 BARE STRANDED TINNED (25')  $ 90.85 
C30095103 GROUNDING WIRE COPPER 2/0 BARE STRANDED (25')  $ 111.06 
C30095105 GROUNDING WIRE COPPER #2 BARE SOLID TINNED (250')  $ 470.67 
C30095106 GROUNDING WIRE COPPER #2 BARE SOLID TINNED (500')  $ 993.08 
C30095107 GROUNDING WIRE COPPER 2/0 INSULATED STRANDED (250')  $ 1,156.36 
C30095108 GROUNDING WIRE COPPER 2/0 INSULATED STRANDED (500')  $ 2,312.72 
C30095109 GROUNDING WIRE COPPER    GREEN #2 INSULATED STRANDED (250') XHHW  $ 526.22 
C30095110 GROUNDING WIRE COPPER    GREEN #2 INSULATED STRANDED (500') XHHW  $ 1,052.46 
C30096001 "GROUND ROD 5/8"" X 8' COPPER CLAD STEEL"  $ 22.09 
C30096002 "GROUND ROD 5/8"" X 10' COPPER CLAD STEEL"  $ 22.65 
C30096003 "GROUND ROD 5/8"" X 8' COPPER"  $ 250.14 
C30096004 "GROUND ROD 5/8"" X 10' COPPER"  $ 312.10 
C30096005 "GROUND ROD 5/8"" X 8' GALVANIZED STEEL"  $ 13.38 
C30096006 "GROUND ROD 5/8"" X 10' GALVANIZED STEEL"  $ 19.95 
C30096007 "GROUND ROD "" X 10' COPPER CLAD STEEL"  $ 38.07 
C30096008 "GROUND ROD 3/4"" X 10' GALVANIZED STEEL"  $ 26.27 
C30096901 GROUND ROD ENHANCED KIT 10' HORIZONTAL L-SHAPED-INCLUDES 1 TEST WELL (GREEN BUCKET) AND 2 BAGS ULTRAFILL  $ 1,073.30 
C30096902 GROUND ROD ENHANCED KIT 10' VERTICAL-INCLUDES 1 TEST WELL (GREEN BUCKET) AND 2 BAGS ULTRAFILL.  $ 1,112.56 
C30096904 GROUND ROD ENHANCED KIT 20' HORIZONTAL L-SHAPED-INCLUDES 1 TEST WELL (GREEN BUCKET) AND 4 BAGS ULTRAFILL.  $ 1,754.09 
C30096905 GROUND ROD ENHANCED KIT 20' VERTICAL-INCLUDES 1 TEST WELL (GREEN BUCKET) AND 4 BAGS ULTRAFILL.  $ 1,604.38 
C30097001 "GROUND ROD CLAMP 5/8"" 5/8"" COPPER ALLOY CLAMP"  $ 1.98 
C30097002 "GROUND ROD CLAMP 5/8"" 5/8"" GALVANIZED STEEL CLAMP"  $ 3.73 
C30097008 "GROUND ROD CLAMP UNIVERSAL 3/8"" - 3/4"" ROD #10 - 2/0 WIRE HARGER 302UGRC"  $ 3.21 
C30097010 "GROUND ROD CLAMP 5/8"" HARGER 305-#6-4/0 WIRE"  $ 16.22 
C30098001 "GROUNDING ATTACHMENT PLATE 3/4"" ANCHOR BOLT"  $ 2.77 
C30098002 "GROUNDING ATTACHMENT PLATE 1"" ANCHOR BOLT"  $ 3.86 
C30098003 "GROUNDING ATTACHMENT PLATE 1 1/2"" ANCHOR BOLT"  $ 2.84 

�11



C30098004 "GROUNDING ATTACHMENT PLATE 1 3/4"" ANCHOR BOLT"  $ 7.15 
C30098006 "GROUNDING ATTACHMENT PLATE 2 1/4"" (18J) ANCHOR BOLT"  $ 8.07 
C30099001 "GROUND PIPE BONDING  CLAMP 1""- 1.25"" PIPE - #6-250MCM WIRE .75"" - 1.7"" OD"  $ 28.96 
C30099003 "GROUND PIPE BONDING CLAMP #6 U-BOLT 5/16"" SS MAX 2-1/8"" OD"  $ 33.97 
C30099004 "GROUND PIPE BONDING CLAMP #6 U-BOLT 5/16"" SS MAX 3-3/16"" OD"  $ 58.17 
C30100100 MOLD HANDLE CLAMP FOR B, E, K, Q & P MOLDS  Substitution Cadweld CAD-L160 Thermoweld TMO-40010600 (B-106) f  $ 76.67 
C30100101 MOLD HANDLE CLAMP FOR C, D, F & Z MOLDS  Substitution Cadweld CAD-L159 Thermoweld TMO-40010700 (B-107)  $ 80.84 
C30100102 MOLD HANDLE CLAMP FOR L, M & N MOLDS  Substitution Cadweld CAD-B399B Thermoweld TMO-40456500  $ 49.45 
C30101001 "MOLD HANDLE CLAMP CHAIN SUP FOR B, E & K MOLDS  Substitution/Usage Information Cadweld CAD-B160V Thermoweld TMO-40010632  Vertical Chain Support  3"" Maximum" $ 152.00 
C30101002 MOLD HANDLE CLAMP CHAIN EXTN   Substitution Cadweld CAD-B158 Thermoweld TMO-40010627  $ 15.79 
C30101003 MOLD HANDLE CLAMP MAGNET SUP FOR B, E & K MOLDS  Substitution Cadweld CAD-B396 Thermoweld TMO-40443100  $ 389.47 
C30101004 MOLD HANDLE SUPPORT CLAMP VERTICAL SURFACE MOLD SUPPORT  Substitution Cadweld CAD-B135 Thermoweld TMO-40365700  $ 225.59 
C30101005 MOLD HANDLE CABLE CLAMP GROUND ROD CABLE CLAMP  Substitution Cadweld CAD-B265 Thermoweld TMO-38033000  $ 156.38 
C30102001 MOLD ACCESSORIES FLINT GUN  Substitution Cadweld CAD-T320 Thermoweld TMO-38030900  $ 9.83 
C30102002 MOLD ACCESSORIES REPLACEMENT FLINTS  Substitution Cadweld CAD-T320A Thermoweld TMO-38030901  $ 0.96 
C30102003 MOLD ACCESSORIES CABLE CLEANING BRUSH  Substitution Cadweld CAD-T314 Thermoweld TMO-38013500  $ 53.83 
C30102004 MOLD ACCESSORIES REPLACEMENT CABLE CLEAN BRUSH  Substitution Cadweld CAD-T314A Thermoweld TMO-38013501  $ 12.50 
C30102005 MOLD ACCESSORIES CARD CLOTH BRUSH  Substitution Cadweld CAD-T313 Thermoweld TMO-38030600  $ 9.44 
C30102006 MOLD ACCESSORIES NATURAL BRISTLE BRUSH  Substitution Cadweld CAD-T394 Thermoweld TMO-38392200  $ 7.95 
C30103001 MOLD HORZ CBL END TO END #2 CBL STR - #2 CBL STR  Substitution/Usage Information Cadweld CAD-SST1V Thermoweld TMO-CC1/M5625  Shot 32  $ 116.67 
C30103002 MOLD HORZ CBL END TO END #2 CBL SOL - #2 CBL SOL  Substitution/Usage Information Cadweld CAD-SST1T Thermoweld TMO-CC1/M5625S  Shot 32  $ 125.78 
C30103003 MOLD HORZ CBL END TO END 2/0 CBL STR - 2/0 CBL STR  Substitution/Usage Information Cadweld  CAD-SSC2G Thermoweld TMO-CC1/M206  Shot 65  $ 125.78 
C30104001 MOLD HORZ CBL TAP/HORZ CBL RUN #2 CBL STR TAP - #2 CBL STR  Substitution/Usage Information Cadweld CAD-TAC1V1V Thermoweld TMO-CC2/M223  Shot 45  $ 125.78 
C30104002 MOLD HORZ CBL TAP/HORZ CBL RUN #2 CBL SOL TAP - #2 CBL SOL  Substitution/Usage Information Cadweld CAD-TAC1T1T Thermoweld TMO-CC2/M223S  Shot 45  $ 125.78 
C30104003 MOLD HORZ CBL TAP/HORZ CBL RUN 2/0 CBL STR TAP - 2/0 CBL STR  Substitution/Usage Information Cadweld CAD-TAC2G2G Thermoweld TMO-CC2/M232  Shot 90  $ 125.78 
C30104004 MOLD HORZ CBL TAP/HORZ CBL RUN #2 CBL STR TAP - 2/0 CBL STR  Substitution/Usage Information Cadweld CAD-TAC2G1V Thermoweld TMO-CC2-M235  Shot 45  $ 125.78 
C30105001 MOLD HORZ CROSS CBL TAP/ RUN #2 CBL STR TAP - #2 CBL STR  Substitution/Usage Information Cadweld CAD-XAC1V1V Thermoweld TMO-CC4/M425  Shot 65  $ 125.78 
C30105002 MOLD HORZ CROSS CBL TAP/ RUN #2 CBL SOL TAP - #2 CBL SOL  Substitution/Usage Information Cadweld CAD- XAC1T1T Thermoweld TMO-CC4/M425S  Shot 65  $ 125.78 
C30105003 MOLD HORZ CROSS CBL TAP/ RUN 2/0 CBL STR TAP - 2/0 CBL STR  Substitution/Usage Information Cadweld CAD-XAC2G2G Thermoweld TMO-CC4/M434  Shot 115  $ 125.78 
C30106001 MOLD HORZ PAR TAP/HORZ RUN #2 CBL STR TAP - #2 CBL STR  Substitution/Usage Information Cadweld CAD-PCC1V1V Thermoweld TMO-CC6/M1276  Shot 65  $ 122.50 
C30106002 MOLD HORZ PAR TAP/HORZ RUN #2 CBL SOL TAP - #2 CBL SOL  Substitution/Usage Information Cadweld CAD-PCC1T1T Thermoweld TMO-CC6/M1276S  Shot 65  $ 125.78 
C30107001 MOLD HORZ PAR THRU TAP/ RUN #2 CBL STR TAP - #2 CBL STR  Substitute/Usage Information Cadweld CAD-PTC1V1V Thermoweld TMO-CC7/M1313  Shot 65  $ 125.78 
C30107002 MOLD HORZ PAR THRU TAP/ RUN #2 CBL SOL TAP - #2 CBL SOL  Substitute/Usage Information Cadweld CAD-PTC1T1T Thermoweld TMO-CC7/M1313S  Shot 65  $ 125.78 
C30107003 MOLD HORZ PAR THRU TAP/ RUN 2/0 CBL STR TAP - 2/0 CBL STR  Substitute/Usage Information Cadweld CAD-PTC2G2G Thermoweld TMO-CC7/M1322  Shot 115  $ 125.78 
C30107004 MOLD HORZ PAR THRU TAP/ RUN #2 CBL STR TAP - 2/0 CBL STR  Substitute/Usage Information Cadweld CAD-PTC2G1V Thermoweld TMO-CC7/M1325  Shot 90  $ 125.78 
C30110011 "MOLD HORZ CBL TERM/GND ROD #6 CBL STR - 5/8"" C/CC ROD  Substitrtion/Usage Information Cadweld CAD-GRT161H Thermoweld TMO-CR1/M8414  Shot 32"  $ 100.62 
C30110012 "MOLD HORZ CBL TERM/GND ROD #2 CBL STR - 5/8"" C/CC ROD  Substitrtion/Usage Information Cadweld CAD-GRC161V Thermoweld TMO-CR1/M503  Shot 65"  $ 125.78 
C30110013 "MOLD HORZ CBL TERM/GND ROD #2 CBL SOL - 5/8"" C/CC ROD  Substitrtion/Usage Information Cadweld CAD-GRC161T Thermoweld TMO-CR1/M503S  Shot 65"  $ 125.78 
C30110014 "MOLD HORZ CBL TERM/GND ROD 2/0 CBL STR - 5/8"" C/CC ROD  Substitrtion/Usage Information Cadweld CAD-GRC162G Thermoweld TMO-CR1/M506  Shot 90"  $ 125.78 
C30111035 "SAFETY CLIMB TOP OR BOTTOM BKT FOR 90 ANGLE LEG 4"" TO 4 1/2"""  $ 213.50 
C30111043 "SAFETY CLIMB CABLEGUIDE BKT FOR 60 ANGLE LEG 4"" TO 4 1/2"""  $ 188.09 
C30111044 "SAFETY CLIMB CABLEGUIDE BKT FOR 60 ANGLE LEG 5"" TO 5 1/2"""  $ 53.90 
C30111063 "SAFETY CLIMB CABLEGUIDE BKT FOR 90 ANGLE LEG 4"" TO 4 1/2"""  $ 85.69 
C30112001 "MOLD HORZ CBL THRU/GND ROD TOP #6 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GTT161H Thermoweld TMO-CR2/M8441  Shot 32"  $ 116.67 
C30112002 "MOLD HORZ CBL THRU/GND ROD TOP #2 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GTC161V Thermoweld TOM-CR2/M545  Shot 90"  $ 125.78 
C30112003 "MOLD HORZ CBL THRU/GND ROD TOP #2 CBL SOL - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GTC161T Thermoweld TMO-CR2/M545S  Shot 90"  $ 125.78 
C30112004 "MOLD HORZ CBL THRU/GND ROD TOP 2/0 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GTC162G Thermoweld TMO-CR2/M548  Shot 115"  $ 125.78 
C30113001 "MOLD HORZ CBL THRU/GND ROD S #6 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GYE161H Thermoweld TMO-CR3/M5723G  Shot 65"  $ 112.74 
C30113002 "MOLD HORZ CBL THRU/GND ROD S #2 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GYP16006M Thermoweld TMO-CR3/M5730G  Shot 65"  $ 119.93 
C30113003 "MOLD HORZ CBL THRU/GND ROD S #2 CBL SOL - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GYP16006M Thermoweld TMO-CR3/M5730GS  Shot 65" $ 112.74 
C30113004 "MOLD HORZ CBL THRU/GND ROD S 2/0 CBL STR - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-GYE162G Thermoweld TMO-CR3/M1587  Shot 115"  $ 210.46 
C30113013 "MOLD HORZ CBL THRU/GND ROD S #2 CBL SOL - 3/4"" C/CC ROD"  $ 229.50 
C30114001 MOLD HORZ CBL TERM/HORZ STL PL 2/0 CBL STR  Substitution/Usage Information Cadweld CAD-HSC2G Thermoweld TMO-CS1/M645  Shot 90  $ 125.78 
C30115001 "MOLD HORZ CBL THRU/GND ROD TOP #2 PR CBL SOL - 5/8"" C/CC ROD  Substitution/Usage Information Cadweld CAD-NDR161T Thermoweld TMO-CR24/M5702S  Shot 150" $ 125.78 
C30116001 MOLD ANG CBL TERM/VERT STL PL #6 CBL STR - 45 DEG DROP  Substitution/Usage Information Cadweld  CAD-VSC1H Thermoweld TMO-CS3/M585  Shot 45  $ 125.78 
C30116002 MOLD ANG CBL TERM/VERT STL PL #2 CBL STR - 45 DEG DROP  Substitution/Usage Information Cadweld  CAD-VSC1V Thermoweld TMO-CS3/M588  Shot 45  $ 125.78 
C30116003 MOLD ANG CBL TERM/VERT STL PL #2 CBL SOL - 45 DEG DROP  Vendor Part Number/Usage Information Thermoweld CS-3/M-588-S Cadweld  VSC-1T  Shot 45  $ 125.78 
C30116004 MOLD ANG CBL TERM/VERT STL PL 2/0 CBL STR - 45 DEG DROP  Substitution/Usage Information Cadweld  CAD-VSC2G Thermoweld TMO-CS3/M591  Shot 90  $ 125.78 
C30117001 MOLD CBL THRU/VERT STL PL #2 CBL STR  Substitution/Usage Information Cadweld  CAD-VVC1V Thermoweld TMO-CS4/M1218  Shot 115  $ 125.33 
C30117002 MOLD CBL THRU/VERT STL PL #2 CBL SOL  Substitution/Usage Information Cadweld  CAD-VVC1T Thermoweld TMO-CS4/M1218S  Shot 115  $ 125.78 

�12



C30117003 "MOLD CBL THRU/VERT STL PIPE #2 CBL SOL - 4"" OD  Substitution/Usage Information Cadweld  CAD-VVC1VV4 Thermoweld TMO-CS4/M1218SV4  Shot 115"  $ 125.78 
C30117004 "MOLD CBL THRU/VERT STL PL #2 CBL SOL - 1.5-4"" OD  Substitution/Usage Information Cadweld  CAD-VVC1TV3C Thermoweld  Shot"  $ 125.78 
C30118001 "MOLD VERT CBL TERM/VERT STL PI #2 CBL SOL UP - 1.25-4"" OD  Substitution/Usage Information Cadweld  CAD-VFC1TV3C Thermoweld TMO-CS7/M6618S  Shot"  $ 125.78 
C30120010 MOLD HORZ CBL TERM/HORZ STL PL #6 CBL STR - ON PL  Substitution/Usage Information Cadweld CAD-HAA1H Thermoweld TMO-CS8/M628  Shot 45  $ 72.96 
C30120011 MOLD HORZ CBL TERM/HORZ STL PL #2 CBL STR - ON PL  Substitution/Usage Information Cadweld CAD-HAA1V Thermoweld TMO-CS8/M630  Shot 45  $ 72.96 
C30120012 MOLD HORZ CBL TERM/HORZ STL PL #2 CBL SOL - ON PL  Substitution/Usage Information Cadweld  CAD-HAA1T Thermoweld TMO-CS8/M-630S  Shot 45  $ 76.62 
C30121001 MOLD HORZ CBL THRU/HORZ STL PL #2 CBL SOL - ON PL  Substitution/Usage Information Cadweld CAD-HCA1T Thermoweld TMO-CS9/M604S  Shot 45  $ 72.96 
C30122001 MOLD VERT CBL THRU/VERT STL PL #2 CBL STR - RT ON PL  Substitution/Usage Information Cadweld CAD-VNC1VRH Thermoweld TMO-CS18/M2569R  Shot 45  $ 125.78 
C30122002 MOLD VERT CBL THRU/VERT STL PL #2 CBL STR - LT ON PL  Substitution/Usage Information Cadweld CAD-VNC1VLH Thermoweld TMO-CS18/M2569L  Shot 45  $ 125.78 
C30122003 MOLD VERT CBL THRU/VERT STL PL #2 CBL SOL - RT ON PL  Substitution/Usage Information Cadweld CAD-VNC1TRH Thermoweld TMO-CS18/M2569RS  Shot 45  $ 125.78 
C30122004 MOLD VERT CBL THRU/VERT STL PL #2 CBL SOL - LT ON PL  Substitution/Usage Information Cadweld CAD-VNC1TLH Thermoweld TMO-CS18/M2569LS  Shot 45  $ 125.78 
C30123001 MOLD VERT CBL TERM/VERT STL PL #6 CBL STR - DROP OFF PL  Substitution/Usage Information Cadweld CAD-VBC1H Thermoweld TMO-CS23/M5389  Shot 45  $ 125.78 
C30123002 MOLD VERT CBL TERM/VERT STL PL #2 CBL STR - DROP OFF PL  Substitution/Usage Information Cadweld CAD-VBC1V Thermoweld TMO-CS23/M2781  Shot 65  $ 125.78 
C30123003 MOLD VERT CBL TERM/VERT STL PL #2 CBL SOL - DROP OFF PL  Substitution/Usage Information Cadweld CAD-VBC1T Thermoweld TMO-CS23/M2781S  Shot 65  $ 125.78 
C30123004 MOLD VERT CBL TERM/VERT STL PL 2/0 CBL STR - DROP OFF PL  Substitution/Usage Information Cadweld CAD-VBC2G Thermoweld TMO-CS23/M2540  Shot115  $ 125.78 
C30123005 "MOLD VERT CBL TERM/VERT STL PI #2 CBL SOL - DROP 2-4"" OD  Substitution/Usage Information Cadweld CAD-VBC1TV3C Thermoweld TMO-CS23/M6199S  Shot"  $ 125.78 
C30123006 "MOLD VERT CBL TERM/VERT STL PI #2 CBL STR - DROP 1.25-4"" OD  Substitution/Usage Information Cadweld CAD-VBC1VV3C Thermoweld TMO-CS23/M6199  Shot 65"  $ 125.78 
C30124002 MOLD HORZ CBL TERM/HORZ BUS #2 CBL STR -  Substitution/Usage Information Cadweld CAD-LJCEG1V Thermoweld TMO-CB4/M5415  Shot 65  $ 125.78 
C30124003 MOLD HORZ CBL TERM/HORZ BUS #2 CBL SOL -  Substitution/Usage Information Cadweld CAD-LJCEG1T Thermoweld TMO-CB4/M5415S  Shot 65  $ 125.78 
C30124004 MOLD HORZ CBL TERM/HORZ BUS 2/0 CBL - 1/4X1-1/2+ BUSS  Substitution/Usage Information Cadweld CAD-LJCEG2G Thermoweld TMO-CB4/M1652  Shot 90  $ 125.78 
C30125001 "MOLD SS HORZ CBL TERM/GND ROD #6 CBL SOL - 5/8"" ROD  Substitution Cadweld CAD-GR1161G Thermoweld TMO-CR1/M2012"  $ 9.56 
C30125002 "MOLD SS HORZ CBL TERM/GND ROD 2/0 CBL SOL - 5/8"" ROD  Substitution Cadweld CAD-GR1162C Thermoweld TMO-CR1/M2015"  $ 11.08 
C30125003 "MOLD SS HORZ CBL TERM/GND ROD 2/0 CBL STR - 5/8"" C/CC ROD  Substitution Cadweld CAD-GR1162G Thermoweld TMO-CR1/M2016"  $ 12.14 
C30126001 "MOLD SS HORZ CBL TERM/GND ROD #6 CBL STR - 5/8"" ROD  Substitution Cadweld  CAD-GT1161L Thermoweld TMO-CR2/M2028"  $ 11.08 
C30126002 "MOLD SS HORZ CBL TERM/GND ROD #2 CBL SOL/STR - 5/8"" ROD  Substitution Cadweld CAD-GT1161V Thermoweld TMO-CR2/M2029"  $ 12.79 
C30127001 MOLD WELD METAL SINGLE #25 SIZE WELD METAL  $ 1.73 
C30127002 MOLD WELD METAL SINGLE #32 SIZE WELD METAL  $ 3.35 
C30127003 MOLD WELD METAL SINGLE #45 SIZE WELD METAL  $ 4.65 
C30127004 MOLD WELD METAL SINGLE #65 SIZE WELD METAL  $ 5.74 
C30127005 MOLD WELD METAL SINGLE #90 SIZE WELD METAL  $ 8.02 
C30127006 MOLD WELD METAL SINGLE #115 SIZE WELD METAL  $ 10.03 
C30127007 MOLD WELD METAL SINGLE #150 SIZE WELD METAL  $ 12.58 
C30128001 MOLD PACKING MATERIAL 1 LB PACKAGE  $ 11.69 
C30128002 MOLD PACKING MATERIAL 5 LB PACKAGE  $ 60.10 
C30129001 "ANCHOR SHAFT 5 HOLES 1 3/4"" x 13'-9 3/4""    3/4"" PL"  $ 641.44 
C30129003 "ANCHOR SHAFT 5 HOLES 2"" x 13'-9 3/4""          1"" PL"  $ 670.56 
C30129005 "ANCHOR SHAFT 7 HOLES 2"" x 13'-9 3/4""        3/4"" PL"  $ 691.15 
C30129007 "ANCHOR SHAFT 7 HOLES 2 1/4"" x 13-10""          1"" PL"  $ 945.47 
C30129009 "ANCHOR SHAFT 9 HOLES 2 1/4"" x 13'-10""       3/4"" PL"  $ 895.25 
C30129011 "ANCHOR SHAFT 9 HOLES 2 1/2"" x 13'-10""         1"" PL"  $ 1,144.72 
C30129013 "ANCHOR SHAFT 11 HOLES 2 1/2"" x 13'-10""       3/4"" PL"  $ 1,037.95 
C30129015 "ANCHOR SHAFT 11 HOLES 2 3/4"" x 13-10""          1"" PL"  $ 1,516.94 
C30129026 "ANCHOR SHAFT 5 HOLES 1 1/4"" X 8'-2 7/8""     1/2"" PL"  $ 230.00 
C30129027 "ANCHOR SHAFT 5 HOLES 1 1/4"" X 14'-2 7/8""    1/2"" PL"  $ 316.46 
C30129032 "ANCHOR SHAFT 7 HOLES 1 1/4"" X 8'-2 7/8""     1/2"" PL"  $ 236.43 
C30129033 "ANCHOR SHAFT 7 HOLES 1 1/4"" X 14'-2 7/8""    1/2"" PL"  $ 326.63 
C30129050 "ANCHOR SHAFT 5 HOLES 1 3/4"" X 20-7 3/4""     3/4"" PL"  $ 632.10 
C30129051 "ANCHOR SHAFT 5 HOLES 2"" X 20-7 3/4""           1"" PL"  $ 722.65 
C30129052 "ANCHOR SHAFT 7 HOLES 2"" X 20-7 3/4""         3/4"" PL"  $ 755.01 
C30129053 "ANCHOR SHAFT 7 HOLES 2 1/4"" X 20-8""           1"" PL"  $ 1,068.32 
C30129054 "ANCHOR SHAFT 9 HOLES 2 1/4"" X 20-8""         3/4"" PL"  $ 843.86 
C30129055 "ANCHOR SHAFT 9 HOLES 2 1/2"" X 20-8""           1"" PL"  $ 1,221.97 
C30129056 "ANCHOR SHAFT 11 HOLES 2 1/2"" X 20-8""         3/4"" PL"  $ 1,095.15 
C30129057 "ANCHOR SHAFT 11 HOLES 2 3/4"" X 20-8""           1"" PL"  $ 1,626.32 
C30129998 "ANCHOR SHAFT 3 HOLE TWO 1"" X 5'-3""         1/2"" PL"  $ 144.79 
C30129999 "ANCHOR SHAFT 3 HOLE TWO 1"" X 7'-0""         1/2"" PL"  $ 167.81 
C30131001 "GROUND CLAMP 3/16"" TO 7/16"" BLACKBURN CLAMP PAE-2121-9 3/16-1/4-5/16-3/8-7/16"  $ 5.50 
C30131002 "BLACKBURN CLAMP 1/2"" TO 5/8"" BLACKBURN CLAMP PAE-3921-9 1/2-9/16-5/8"  $ 7.64 
C30131003 "BLACKBURN CLAMP 3/4"" TO 1"" BLACKBURN CLAMP PAE-9921-9 3/4-7/8-1"  $ 15.37 
C30132002 SELF RETRACTING LIFELINE 30' WORKING LENGTH  $ 518.51 

�13



C30133001 LIFELINE ASSY 600' LIFELINE ASSY  $ 730.58 
C30134000 PAINT PRIMER GALLON  $ 70.94 
C30134001 PAINT INT'L AVIATION ORANGE GALLON (12197)  $ 87.90 
C30134002 PAINT INT'L AVIATION WHITE GALLON (17875)  $ 53.01 
C30134003 PAINT INT'L AVIATION ORANGE 5 GALLON (12197)  $ 485.91 
C30134004 PAINT INT'L AVIATION WHITE 5 GALLON (17875)  $ 294.89 
C30137001 HARNESS FULL BODY 2D RINGS SMALL/LARGE  $ 89.38 
C30137011 HARNESS FULL BODY       EXOFIT VEST STYLE               SMALL  $ 524.32 
C30137012 HARNESS FULL BODY       EXOFIT VEST STYLE              MEDIUM  $ 524.32 
C30137013 HARNESS FULL BODY       EXOFIT VEST STYLE               LARGE  $ 524.32 
C30137014 HARNESS FULL BODY       EXOFIT VEST STYLE             X-LARGE  $ 524.32 
C30137021 HARNESS FULL BODY    EXOFIT XP VEST STYLE               SMALL  $ 557.03 
C30137022 HARNESS FULL BODY    EXOFIT XP VEST STYLE              MEDIUM  $ 557.03 
C30137023 HARNESS FULL BODY    EXOFIT XP VEST STYLE               LARGE  $ 557.03 
C30137024 HARNESS FULL BODY    EXOFIT XP VEST STYLE             X-LARGE  $ 557.03 
C30138001 "ACCESS PORT 6"" X 12"" X 3 1/2"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 45.98 
C30138002 "ACCESS PORT 6"" X 12"" X 4 1/4"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 9/16"" to 5/8"" Wall Thickness"  $ 62.05 
C30138003 "ACCESS PORT 8"" X 12"" X 3 1/2"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 52.48 
C30138004 "ACCESS PORT 8"" X 12"" X 4 1/4"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 9/16"" to 5/8"" Wall Thickness"  $ 93.59 
C30138005 "ACCESS PORT 10.5"" X 25.5"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 300.85 
C30138006 "ACCESS PORT 10.5"" X 25.5"" X 4"" 1"" THK        W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 330.92 
C30138008 "ACCESS PORT 10.5"" X 25.5"" X 6"" 1"" THK        W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 495.73 
C30138009 "ACCESS PORT 11.5"" X 31.5"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 337.18 
C30138010 "ACCESS PORT 18"" X 34"" X 5"" 1"" THK        W/O KELLUM HOOKS"  $ 638.46 
C30138011 "ACCESS PORT 6"" X 18"" X 4"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 300.85 
C30138012 "ACCESS PORT 10"" X 12"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 153.16 
C30138013 "ACCESS PORT 10"" X 16"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 189.74 
C30138014 "ACCESS PORT 12"" X 24"" X 4"" 1"" THK        W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 376.92 
C30138015 "ACCESS PORT 12"" X 18"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 290.60 
C30138016 "ACCESS PORT 4"" X 8"" X 3 1/2"" 1/2"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 31.28 
C30138017 "ACCESS PORT 9"" X 18"" X 4"" 3/4"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with ?"" to ?"" Wall Thickness"  $ 189.74 
C30138018 "ACCESS PORT 8"" X 8"" X 3 1/2"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 36.32 
C30138019 "ACCESS PORT 6"" X 8"" X 3 1/2"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 38.03 
C30138020 "ACCESS PORT 4"" X 4"" X 3 1/2"" 1/2"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 38.03 
C30138021 "ACCESS PORT 12"" X 12"" X 5"" 5/8"" THK      W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 9/16"" to 5/8"" Wall Thickness"  $ 167.52 
C30138023 "ACCESS PORT 18"" X 30"" X 6"" 1"" THK        W/O KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 347.30 
C30138030 "ACCESS PORT 6"" X 12"" X 4 1/4""      5/8"" THK      W/O KELLUM HOOKS"  $ 115.18 
C30138031 "ACCESS PORT 6"" X 18"" X 4""      1/2"" THK      W/O KELLUM HOOKS"  $ 80.07 
C30138032 "ACCESS PORT 8"" X 12"" X 4 1/4""      5/8"" THK      W/O KELLUM HOOKS"  $ 63.20 
C30138101 "ACCESS PORT 6"" X 12"" X 3 1/2"" 5/8"" THK      E/W KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 71.45 
C30138106 "ACCESS PORT 6"" X 8"" X 3 1/2"" 5/8"" THK      E/W KELLUM HOOKS  Details Black Steel NOT Galvanized Fits Poles with 3/16"" to 1/2"" Wall Thickness"  $ 60.34 
C30138129 "ACCESS PORT 10"" X 14"" X 4"" 5/8"" THK      E/W KELLUM HOOKS"  $ 130.77 
C30139046 "TEMPLATE SUPPORT ANGLET 2 X 2 X 1/4 X 10'-0"""  $ 47.11 
C30139115 "TEMPLATE SUPPORT ANGLE 3 X 3 X 1/4 X 10'-0"""  $ 84.65 
C30139134 "TEMPLATE ANCHOR BOLT LEG LEG 1/2 X 22 X 2'-1""  Details (6) 1 9/16"" Holes Spaced 60 Degrees 13 1/4"" Diameter Bolt Circle"  $ 176.55 
C30139140 "TEMPLATE SUPPORT ANGLE 3 X 3 X 1/4 X 4'-11 7/8"""  $ 35.20 
C30139209 "TEMPLATE ANCHOR BOLT 3/8 X 1'-0"" DIA"  $ 26.36 
C30140002 BUSS BAR MTG KIT INSULATE TWR PAIR ANGLE ADAPTERS INSULATORS  $ 28.53 
C30141002 BUSS BAR MTG KIT INSULATE WALL PAIR MOUNTING BKTS INSULATORS  $ 20.92 
C30146001 BUSS BAR MTG HARDWARE KIT FOR TOWER OR WALL INSULATORS  $ 35.98 
C30150010 "EIA GROUNDING KIT MONOPOLE REQUIRES 3 GROUNDING LUGS  Usage Information Requires 3 Grounding Lugs On Monopole With 7/16"" Holes"  $ 137.20 
C30151003 "EIA GROUNDING KIT SELF-SUPPORT 3/4"" & 1"" BASE BOLT - 3 LEG"  $ 141.95 
C30152001 "EIA GROUNDING KIT GUY TOWER 1-1/4"" - 2"" OD LEG   3 ANCHORS"  $ 253.32 
C30152004 "EIA GROUNDING KIT GUY TOWER 2 1/8"" - 3"" OD LEG   6 ANCHORS"  $ 427.73 
C30152103 "TIA RG GROUNDING KIT GUY TOWER 2 1/8"" - 3"" OD LEG   3 ANCHORS  Usage Information Meets Revision ""G"" Requirements"  $ 995.38 
C30188002 SAFETY CLIMB LADDER SYS    DBI 50' LENGTH            STANDARD  $ 232.36 
C30188004 SAFETY CLIMB LADDER SYS    DBI 100' LENGTH           STANDARD  $ 309.73 
C30188006 SAFETY CLIMB LADDER SYS    DBI 150' LENGTH           STANDARD  $ 396.27 
C30188008 SAFETY CLIMB LADDER SYS    DBI 200' LENGTH           STANDARD  $ 485.09 
C30188010 SAFETY CLIMB LADDER SYS    DBI 250' LENGTH           STANDARD  $ 567.08 

�14



C30188012 SAFETY CLIMB LADDER SYS    DBI 300' LENGTH           STANDARD  $ 651.33 
C30188014 SAFETY CLIMB LADDER SYS    DBI 350' LENGTH           STANDARD  $ 735.61 
C30188016 SAFETY CLIMB LADDER SYS    DBI 400' LENGTH           STANDARD  $ 817.59 
C30188018 SAFETY CLIMB LADDER SYS    DBI 450' LENGTH           STANDARD  $ 901.85 
C30188020 SAFETY CLIMB LADDER SYS    DBI 500' LENGTH           STANDARD  $ 928.41 
C30188022 SAFETY CLIMB LADDER SYS    DBI 550' LENGTH           STANDARD  $ 1,084.85 
C30188024 SAFETY CLIMB LADDER SYS    DBI 600' LENGTH           STANDARD  $ 1,196.58 
C30188026 SAFETY CLIMB LADDER SYS    DBI 650' LENGTH           STANDARD  $ 1,308.31 
C30188028 SAFETY CLIMB LADDER SYS    DBI 700' LENGTH           STANDARD  $ 1,420.03 
C30188030 SAFETY CLIMB LADDER SYS    DBI 750' LENGTH           STANDARD  $ 1,531.76 
C30188032 SAFETY CLIMB LADDER SYS    DBI 800' LENGTH           STANDARD  $ 1,643.49 
C30188034 SAFETY CLIMB LADDER SYS    DBI 850' LENGTH           STANDARD  $ 1,755.21 
C30188036 SAFETY CLIMB LADDER SYS    DBI 900' LENGTH           STANDARD  $ 1,866.94 
C30188038 SAFETY CLIMB LADDER SYS    DBI 950' LENGTH           STANDARD  $ 1,978.67 
C30188040 SAFETY CLIMB LADDER SYS    DBI 1000' LENGTH          STANDARD  $ 2,090.39 
C30188042 SAFETY CLIMB LADDER SYS    DBI 1050' LENGTH          STANDARD  $ 2,202.12 
C30188044 SAFETY CLIMB LADDER SYS    DBI 1100' LENGTH          STANDARD  $ 2,313.83 
C30188046 SAFETY CLIMB LADDER SYS    DBI 1150' LENGTH          STANDARD  $ 2,425.56 
C30188048 SAFETY CLIMB LADDER SYS    DBI 1200' LENGTH          STANDARD  $ 2,537.28 
C30188102 SAFETY CLIMB LADDER SYS    DBI 50' LENGTH              SELECT  Equipped With Arrestor & Carabiner  $ 355.28 
C30188104 SAFETY CLIMB LADDER SYS    DBI 100' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 432.72 
C30188106 SAFETY CLIMB LADDER SYS    DBI 150' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 519.25 
C30188108 SAFETY CLIMB LADDER SYS    DBI 200' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 608.07 
C30188112 SAFETY CLIMB LADDER SYS    DBI 300' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 774.32 
C30188126 SAFETY CLIMB LADDER SYS    DBI 650' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 1,420.03 
C30188301 SAFETY CLIMB MONOPOLE SYS  DBI 25' LENGTH            STANDARD  $ 170.94 
C30188302 SAFETY CLIMB MONOPOLE SYS  DBI 50' LENGTH            STANDARD  $ 210.05 
C30188304 SAFETY CLIMB MONOPOLE SYS  DBI 100' LENGTH           STANDARD  $ 292.62 
C30188306 SAFETY CLIMB MONOPOLE SYS  DBI 150' LENGTH           STANDARD  $ 370.77 
C30188308 SAFETY CLIMB MONOPOLE SYS  DBI 200' LENGTH           STANDARD  $ 455.66 
C30188310 SAFETY CLIMB MONOPOLE SYS  DBI 250' LENGTH           STANDARD  $ 538.29 
C30188312 SAFETY CLIMB MONOPOLE SYS  DBI 300' LENGTH           STANDARD  $ 627.66 
C30188314 SAFETY CLIMB MONOPOLE SYS  DBI 350' LENGTH           STANDARD  $ 713.91 
C30188316 SAFETY CLIMB MONOPOLE SYS  DBI 400' LENGTH           STANDARD  $ 801.88 
C30188402 SAFETY CLIMB MONOPOLE SYS  DBI 50' LENGTH              SELECT  Equipped With Arrestor & Carabiner  $ 330.58 
C30188404 SAFETY CLIMB MONOPOLE SYS  DBI 100' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 413.25 
C30188406 SAFETY CLIMB MONOPOLE SYS  DBI 150' LENGTH             SELECT  Equipped With Arrestor & Carabiner  $ 491.38 
C30188712 SAFETY CLIMB 1800 TWR SYS  DBI 300' LENGTH           STANDARD  $ 938.82 
C30200010 "PARTS SAFETY CLIMB         DBI CABLE GUIDE AT ADPT BKT FITS 3/8"" OD TO 1/2"" OD SR"  $ 10.41 
C30200018 PARTS SAFETY CLIMB         DBI TOP/BOTTOM BKTS FOR 1800 TLWD  $ 186.14 
C30200021 PARTS SAFETY CLIMB         DBI TOP BRACKET-BOLT ON STYLE  $ 212.79 
C30200022 PARTS SAFETY CLIMB         DBI BOTTOM BRACKET-BOLT ON STYLE  $ 77.76 
C30200023 "PARTS SAFETY CLIMB         DBI 4"" 60 DEGREE STANDOFF TOP/BOTTOM BRACKETS"  $ 178.70 
C30200024 PARTS SAFETY CLIMB         DBI STRAIGHT CABLE GUIDE  $ 42.85 
C30200041 PARTS SAFETY CLIMB         DBI TOP BRACKET BDI# 6116250  $ 124.91 
C30204001 "LIGHTNING ARRESTOR BRACKET 18 UNIT - 6 X 3 - 39"" WIDE"  $ 469.25 
C30294001 "LUG 2 HOLE SLOTTED COMPRESSION #6 STR WIRE 3/8"" STUD 3/4"" - 1"" SPACE"  $ 2.34 
C30294002 "LUG 2 HOLE SLOTTED COMPRESSION #2 SOL WIRE 3/8"" STUD 3/4"" - 1"" SPACE"  $ 3.54 
C30294003 "LUG 2 HOLE SLOTTED COMPRESSION #2 STR WIRE 3/8"" STUD 3/4"" - 1"" SPACE"  $ 3.54 
C30294101 "LUG 2 HOLE SLOTTED COMPRESSION #6 STR WIRE 3/8"" STUD      250 3/4"" - 1"" SPACE"  $ 474.84 
C30294102 "LUG 2 HOLE SLOTTED COMPRESSION #2 SOL WIRE 3/8"" STUD      250 3/4"" - 1"" SPACE"  $ 626.22 
C40012003 "BOLT ASSEMBLY 1/4""-20 X 1"" (3/4"" THD) A304 SS"  $ 0.50 
C40012004 "BOLT ASSEMBLY 1/4""-20 X 1 1/4""  (3/4"" THD) A304 SS"  $ 0.43 
C40012012 "BOLT ASSEMBLY 3/8""-16 X 3/4"" (FULL THD) A304 SS"  $ 0.91 
C40012013 "BOLT ASSEMBLY 3/8""-16 X 1"" (FULL THD) A304 SS"  $ 1.03 
C40012014 "BOLT ASSEMBLY 3/8""-16 X 1 1/4"" (1"" THD) A304 SS"  $ 1.37 
C40012015 "BOLT ASSEMBLY 3/8""-16 X 1 1/2"" (1"" THD) A304 SS"  $ 1.16 
C40012016 "BOLT ASSEMBLY 3/8""-16 X 1 3/4"" (1"" THD) A304 SS"  $ 1.30 
C40012017 "BOLT ASSEMBLY 3/8""-16 X 2"" (1"" THD) A304 SS"  $ 1.49 
C40012019 "BOLT ASSEMBLY 3/8""-16 X 2 1/2"" (1"" THD) A304 SS"  $ 1.11 

�15



C40012021 "BOLT ASSEMBLY 3/8""-16 X 3"" (1"" THD) A304 SS"  $ 1.30 
C40012022 "BOLT ASSEMBLY 3/8""-16 X 3 1/2"" (1"" THD) A304 SS"  $ 1.45 
C40012023 "BOLT ASSEMBLY 3/8""-16 X 4"" (1"" THD) A304 SS"  $ 1.64 
C40012024 "BOLT ASSEMBLY 3/8""-16 X 4 1/2"" (1"" THD) A304 SS"  $ 1.83 
C40012025 "BOLT ASSEMBLY 3/8""-16 X 5"" (1"" THD) A304 SS"  $ 2.03 
C40012026 "BOLT ASSEMBLY 1/2""-13 X 3/4"" (FULL THD) A304 SS"  $ 1.25 
C40012027 "BOLT ASSEMBLY 1/2""-13 X 1"" (FULL THD) A304 SS"  $ 1.35 
C40012029 "BOLT ASSEMBLY 1/2""-13 X 1 1/2"" (FULL THD) A304 SS"  $ 2.34 
C40012031 "BOLT ASSEMBLY 1/2""-13 X 2"" (1 1/4"" THD) A304 SS"  $ 2.41 
C40012033 "BOLT ASSEMBLY 1/2""-13 X 2 1/2"" (1 1/4"" THD) A304 SS"  $ 2.17 
C40012035 "BOLT ASSEMBLY 1/2""-13 X 3"" (1 1/4"" THD) A304 SS"  $ 2.44 
C40012037 "BOLT ASSEMBLY 5/8""-11 X 1 1/2"" (FULL THD) A304 SS"  $ 2.92 
C40012039 "BOLT ASSEMBLY 5/8""-11 X 2"" (1 1/2"" THD) A304 SS"  $ 3.28 
C40012041 "BOLT ASSEMBLY 5/8""-11 X 2 1/2"" (1 1/2"" THD) A304 SS"  $ 3.74 
C40012043 "BOLT ASSEMBLY 3/4""-10 X 2 1/2"" (1 3/4"" THD)  A304 SS"  $ 5.83 
C40012044 "BOLT ASSEMBLY 3/4""-10 X 3"" (1 3/4"" THD) A304 SS"  $ 6.51 
C40012050 "BOLT ASSEMBLY 3/8""-16 X 2 1/4"" (FULL THD) A304 SS"  $ 2.02 
C40013001 "SCREW ASSEMBLY, FILLISTER HEAD 3/8"" X 1/2"" A304 SS"  $ 1.45 
C40013002 "SCREW ASSEMBLY, FILLISTER HEAD 3/8"" X 5/8"" A304 SS"  $ 4.29 
C40013003 "SCREW ASSEMBLY, FILLISTER HEAD 3/8"" X 3/4"" A304 SS"  $ 1.26 
C40013004 "SCREW ASSEMBLY, FILLISTER HEAD 3/8"" X 1"" A304 SS"  $ 2.58 
C40013013 "SCREW ASSEMBLY PACK, FILLISTER HEAD 3/8"" X 3/4"" A304 SS (10/KIT)"  $ 11.68 
C40013014 "SCREW ASSEMBLY PACK, FILLISTER HEAD 3/8"" X 1"" A304 SS (10/KIT)"  $ 25.76 
C40014001 "SCREW ASSEMBLY ROUND HEAD 3/8""-16 X 1/2"" A304 SS"  $ 0.68 
C40014002 "SCREW ASSEMBLY ROUND HEAD 3/8""-16 X 5/8"" A304 SS"  $ 0.72 
C40014003 "SCREW ASSEMBLY ROUND HEAD 3/8""-16 X 3/4"" A304 SS"  $ 0.75 
C40014004 "SCREW ASSEMBLY ROUND HEAD 3/8""-16 X 1"" A304 SS"  $ 0.85 
C40015004 "THREADED ROD 3/8""-16 X 12"" A304 SS"  $ 5.20 
C40015007 "THREADED ROD 3/8""-16 X 36"" A304 SS"  $ 9.56 
C40015010 "THREADED ROD 3/8""-16 X 72"" A304 SS"  $ 21.98 
C40016001 "THREADED ROD COUPLER 3/8""-16 X 1 1/8"" A304 SS"  $ 2.92 
C40016002 "THREADED ROD COUPLER 1/2""-13 X 1 1/4"" A304 SS"  $ 3.52 
C40017001 "NUT, HEX 1/4""-20 A304 SS"  $ 0.09 
C40017002 "NUT, HEX 3/8""-16 A304 SS"  $ 0.21 
C40017003 "NUT, HEX 1/2""-13 A304 SS"  $ 0.39 
C40017004 "NUT, HEX, 5/8""-11 A304 SS"  $ 0.94 
C40017005 "NUT, HEX 3/4""-10 A304 SS"  $ 1.86 
C40018001 "WASHER, LOCK 1/4"" A304 SS"  $ 0.03 
C40018002 "WASHER, LOCK 3/8"" A304 SS"  $ 0.12 
C40018003 "WASHER, LOCK 1/2"" A304 SS"  $ 0.21 
C40018004 "WASHER, LOCK 5/8"" A304 SS"  $ 0.53 
C40018005 "WASHER, LOCK 3/4"" A304 SS"  $ 0.80 
C40019001 "WASHER, TOOTHED LOCK 1/4"" A304 SS"  $ 0.03 
C40019002 "WASHER, TOOTHED LOCK 3/8"" A304 SS"  $ 0.09 
C40019003 "WASHER, TOOTHED LOCK 1/2"" A304 SS"  $ 0.15 
C40019004 "WASHER, TOOTHED LOCK 5/8"" A304 SS"  $ 0.48 
C40019005 "WASHER, TOOTHED LOCK 3/4"" A304 SS"  $ 0.72 
C40020010 "WASHER, FLAT 1/4"" A304 SS 11/16"" OD"  $ 0.05 
C40020011 "WASHER, FLAT 3/8"" A304 SS"  $ 0.09 
C40020012 "WASHER, FLAT 1/2"" A304 SS"  $ 0.26 
C40020013 "WASHER, FLAT 5/8"" A304 SS"  $ 0.50 
C40020014 "WASHER, FLAT 3/4"" A304 SS"  $ 2.15 
C40021001 "HOOK BOLT ASSEMBLY 1/4"" X 2 X (1"" THD) E/W 2-HEX NUT 1-LOCK WASHER  SS"  $ 6.10 
C40021002 "HOOK BOLT ASSEMBLY1/4"" X 3"" (1-1/2"" THD) E/W 2-HEX NUT 1-LOCK WASHER SS"  $ 6.53 
C40021003 "HOOK BOLT ASSEMBLY1/4 X 4"" (2"" THD) E/W 2-HEX NUT 1-LOCK WASHER SS"  $ 6.94 
C40021004 "HOOK BOLT ASSEMBLY1/4"" X 5"" (2-1/2"" THD) E/W 2-HEX NUT 1-LOCK WASHER SS"  $ 7.40 
C40021005 "HOOK BOLT ASSEMBLY1/4"" X 6"" (3"" THD) E/W 2-HEX NUT 1-LOCK WASHER SS"  $ 7.81 
C40022001 "CLAMP BAR GRATING 1"" BAR HEIGHT 7/8"" TO 1"" SPACING"  $ 6.14 
C40023007 "WEDGE ANCHOR 1/2"" X 4 1/4"" SS"  $ 7.04 
C40023008 "WEDGE ANCHOR 1/2"" X 3 3/4"" ZINC PLATED"  $ 1.21 

�16



C40024002 "BOLT ASSEMBLY 3/8""-16 X 1"" (FULL THD)  Grade 5 HDG"  $ 0.63 
C40024003 "BOLT ASSEMBLY 3/8""-16 X 1 1/4"" (FULL THD)  Grade 5 HDG"  $ 0.38 
C40024004 "BOLT ASSEMBLY 3/8""-16 X 1 1/2"" (FULL THD)  Grade 5 HDG"  $ 0.55 
C40024005 "BOLT ASSEMBLY 3/8""-16 X 1 3/4"" (1"" THD)  Grade 5 HDG"  $ 0.80 
C40024006 "BOLT ASSEMBLY 3/8""-16 X 2"" (1"" THD)  Grade 5 HDG"  $ 0.68 
C40024008 "BOLT ASSEMBLY 3/8""-16 X 2 1/2"" (1"" THD)  Grade 5 HDG"  $ 0.77 
C40024012 "BOLT ASSEMBLY 3/8""-16 X 3 1/2"" (FULL THD) Grade 5 HDG"  $ 1.01 
C40024022 "BOLT ASSEMBLY 1/2""-13 X 1 1/2"" (FULL THD) Grade 5 HDG"  $ 0.87 
C40024024 "BOLT ASSEMBLY 1/2""-13 X 2"" (1 1/4"" THD) Grade 5 HDG"  $ 1.08 
C40024025 "BOLT ASSEMBLY 1/2""-13 X 2 1/4"" (1 1/4"" THD) Grade 5 HDG"  $ 1.25 
C40024026 "BOLT ASSEMBLY 1/2""-13 X 2 1/2"" (1-1/4"" THD) Grade 5 HDG"  $ 1.33 
C40024037 "BOLT ASSEMBLY 1/2""-13 X 5 1/2"" (1 1/4"" THD) Grade 5 HDG"  $ 3.35 
C40024048 "BOLT ASSEMBLY 5/8""-11 X 3 1/2"" (1 1/2"" THD) Grade 5 HDG"  $ 2.79 
C40024056 "BOLT ASSEMBLY 5/8""-11 X 6"" (1 3/4"" THD) Grade 5 HDG"  $ 4.26 
C40024080 "BOLT ASSEMBLY 7/8""-9 X 3"" (2"" THD) Grade 5 HDG"  $ 6.27 
C40025001 "BOLT ASSEMBLY 1 3/4""-5 X 5 1/2"" (3"" THD)  A449 HDG"  $ 56.31 
C40025002 "BOLT ASSEMBLY 1 3/4""-5 X 7"" (4"" THD) A449 HDG"  $ 65.03 
C40025003 "BOLT ASSEMBLY 2""-4 X 6 1/2"" (4"" THD) A449 HDG"  $ 130.72 
C40025004 "BOLT ASSEMBLY 2""-4 X 7"" (4"" THD) A449 HDG"  $ 150.84 
C40025005 "BOLT ASSEMBLY 2""-4 X 7 1/2"" (4"" THD) A449 HDG"  $ 117.04 
C40025006 "BOLT ASSEMBLY 2 1/4""-4 X 7"" (4"" THD) A449 HDG"  $ 196.89 
C40025007 "BOLT ASSEMBLY 2 1/4""-4 X 7 1/2"" (4"" THD) A449 HDG"  $ 157.90 
C40025008 "BOLT ASSEMBLY 2 1/4""-4 X 8"" (5"" THD) A449 HDG"  $ 140.77 
C40025009 "BOLT ASSEMBLY 2 1/2""-4 X 8 1/2"" (4"" THD) A449 HDG"  $ 148.96 
C40025032 "BOLT ASSEMBLY 5/8""-11 X 3 3/4"" (FULL THD) A449 HDG"  $ 10.39 
C40026001 "BOLT ASSEMBLY 1/2""-13 X 1"" (FULL THD) A325 HDG"  $ 1.28 
C40026002 "BOLT ASSEMBLY 1/2""-13 X 1 1/4"" (1"" THD) A325 HDG"  $ 1.64 
C40026003 "BOLT ASSEMBLY 1/2""-13 X 1 1/2"" (1"" THD) A325 HDG"  $ 1.26 
C40026004 "BOLT ASSEMBLY 1/2""-13 X 1 3/4"" (1"" THD) A325 HDG"  $ 1.68 
C40026005 "BOLT ASSEMBLY 1/2""-13 X 2"" (1"" THD) A325 HDG"  $ 1.62 
C40026006 "BOLT ASSEMBLY 1/2""-13 X 2 1/4"" (1"" THD) A325 HDG"  $ 1.97 
C40026007 "BOLT ASSEMBLY 1/2""-13 X 2 1/2"" (1"" THD) A325 HDG"  $ 2.14 
C40026008 "BOLT ASSEMBLY 1/2""-13 X 2 3/4"" (1"" THD) A325 HDG"  $ 2.22 
C40026009 "BOLT ASSEMBLY 1/2""-13 X 3"" (1"" THD) A325 HDG"  $ 2.32 
C40026011 "BOLT ASSEMBLY 1/2""-13 X 3 1/2"" (1"" THD) A325 HDG"  $ 2.44 
C40026013 "BOLT ASSEMBLY 1/2""-13 X 4"" (1"" THD) A325 HDG"  $ 2.51 
C40026021 "BOLT ASSEMBLY 5/8""-11 X 1 1/2"" (1 1/4"" THD) A325 HDG"  $ 2.62 
C40026022 "BOLT ASSEMBLY 5/8""-11 X 1 3/4"" (1 1/4"" THD) A325 HDG"  $ 1.78 
C40026023 "BOLT ASSEMBLY 5/8""-11 X 2"" (1 1/4"" THD) A325 HDG"  $ 1.79 
C40026024 "BOLT ASSEMBLY 5/8""-11 X 2 1/4"" (1 1/4"" THD) A325 HDG"  $ 2.14 
C40026025 "BOLT ASSEMBLY 5/8""-11 X 2 1/2"" (1 1/4"" THD) A325 HDG"  $ 2.32 
C40026025BK "BOLT ASSEMBLY 5/8""-11 X 2 1/2"" (1 1/4"" THD) A325 HDG 75 / BUCKET"  $ 175.06 
C40026026 "BOLT ASSEMBLY 5/8""-11 X 2 3/4"" (1 1/4"" THD) A325 HDG"  $ 3.15 
C40026027 "BOLT ASSEMBLY 5/8""-11 X 3"" (1 1/4"" THD) A325 HDG"  $ 3.35 
C40026028 "BOLT ASSEMBLY 5/8""-11 X 3 1/4"" (1 1/4"" THD) A325 HDG"  $ 3.42 
C40026029 "BOLT ASSEMBLY 5/8""-11 X 3 1/2"" (1 1/4"" THD) A325 HDG"  $ 3.18 
C40026031 "BOLT ASSEMBLY 5/8""-11 X 4"" (1 1/4"" THD) A325 HDG"  $ 4.51 
C40026033 "BOLT ASSEMBLY 5/8""-11 X 4 1/2"" (1 1/4"" THD) A325 HDG"  $ 3.44 
C40026035 "BOLT ASSEMBLY 5/8""-11 X 5"" (1 1/4"" THD) A325 HDG"  $ 4.89 
C40026036 "BOLT ASSEMBLY 5/8""-11 X 5 1/2"" (1 1/4"" THD) A325 HDG"  $ 5.90 
C40026037 "BOLT ASSEMBLY 5/8""-11 X 6"" (1 1/4"" THD) A325 HDG"  $ 4.09 
C40026038 "BOLT ASSEMBLY 5/8""-11 X 6 1/2"" (1 1/4"" THD) A325 HDG"  $ 4.10 
C40026039 "BOLT ASSEMBLY 5/8""-11 X 7"" (1 1/4"" THD) A325 HDG"  $ 4.32 
C40026040 "BOLT ASSEMBLY 5/8""-11 X 7 1/2"" (1 1/4"" THD) A325 HDG"  $ 4.99 
C40026041 "BOLT ASSEMBLY 3/4""-10 X 1 1/2"" (1 3/8"" THD) A325 HDG"  $ 3.01 
C40026042 "BOLT ASSEMBLY 3/4""-10 X 1 3/4"" (1 3/8"" THD) A325 HDG"  $ 3.69 
C40026043 "BOLT ASSEMBLY 3/4""-10 X 2"" (1 3/8"" THD) A325 HDG"  $ 2.99 
C40026044 "BOLT ASSEMBLY 3/4""-10 X 2 1/4"" (1 3/8"" THD) A325 HDG"  $ 3.15 
C40026045 "BOLT ASSEMBLY 3/4""-10 X 2 1/2"" (1 3/8"" THD) A325 HDG"  $ 3.45 
C40026046 "BOLT ASSEMBLY 3/4""-10 X 2 3/4"" (1 3/8"" THD) A325 HDG"  $ 4.26 

�17



C40026047 "BOLT ASSEMBLY 3/4""-10 X 3"" (1 3/8"" THD) A325 HDG"  $ 3.50 
C30294103 "LUG 2 HOLE SLOTTED COMPRESSION #2 STR WIRE 3/8"" STUD      250 3/4"" - 1"" SPACE"  $ 626.22 
C30986001 "LIGHTNING ROD CCS & STIFFENER 5/8"" X 4' (3"" - 5"" THD)"  $ 48.94 
C30998002 "CABLE AIRCRAFFT 3/8"" 7 X 19 GALVANIZED PER FOOT"  $ 0.89 
C30998120 "CABLE AIRCRAFT 3/16""X120' AIRCRAFT CABLE 3/16"" X 120'"  $ 26.82 
C30999058 REPAIR PART SAFETY CLIMB   DBI TOP BRACKET 6116280  $ 218.60 
C30999063 REPAIR PART SAFETY CLIMB   DBI TOP BRACKET 6116276  $ 245.45 
C30999064 REPAIR PART SAFETY CLIMB   DBI BOTTOM BRACKET 6100550  $ 98.77 
C40011001 STEP BOLT ANCHOR BRACKET STAINLESS STEEL FOR MONOPOLE  $ 11.40 
C40026048 "BOLT ASSEMBLY 3/4""-10 X 3 1/4"" (1 3/8"" THD) A325 HDG"  $ 4.03 
C40026049 "BOLT ASSEMBLY 3/4""-10 X 3 1/2"" (1 3/8"" THD) A325 HDG"  $ 4.38 
C40026050 "BOLT ASSEMBLY 3/4""-10 X 3 3/4"" (1 3/8"" THD) A325 HDG"  $ 5.16 
C40026051 "BOLT ASSEMBLY 3/4""-10 X 4"" (1 3/8"" THD) A325 HDG"  $ 5.33 
C40026053 "BOLT ASSEMBLY 3/4""-10 X 4 1/2"" (1 3/8"" THD) A325 HDG"  $ 5.50 
C40026055 "BOLT ASSEMBLY 3/4""-10 X 5"" (1 3/8"" THD) A325 HDG"  $ 5.62 
C40026056 "BOLT ASSEMBLY 3/4""-10 X 5 1/2"" (1 3/8"" THD) A325 HDG"  $ 5.81 
C40026057 "BOLT ASSEMBLY 7/8""-9 X 2"" (1 1/2"" THD) A325 HDG"  $ 6.00 
C40026058 "BOLT ASSEMBLY 7/8""-9 X 2 1/4"" (1 1/2"" THD) A325 HDG"  $ 6.10 
C40026059 "BOLT ASSEMBLY 7/8""-9 X 2 1/2"" (1 1/2"" THD) A325 HDG"  $ 6.24 
C40026059BK "BOLT ASSEMBLY 7/8""-9 X 2 1/2"" (1 1/2"" THD) A325 HDG 25 / BUCKET"  $ 155.85 
C40026061 "BOLT ASSEMBLY 7/8""-9 X 3"" (1 1/2"" THD) A325 HDG"  $ 6.60 
C40026062 "BOLT ASSEMBLY 7/8""-9 X 3 1/4"" (1 1/2"" THD) A325 HDG"  $ 7.01 
C40026063 "BOLT ASSEMBLY 7/8""-9 X 3 1/2"" (1 1/2"" THD) A325 HDG"  $ 7.18 
C40026064 "BOLT ASSEMBLY 7/8""-9 X 3 3/4"" (1 1/2"" THD) A325 HDG"  $ 6.80 
C40026065 "BOLT ASSEMBLY 7/8""-9 X 4"" (1 1/2"" THD) A325 HDG"  $ 11.95 
C40026066 "BOLT ASSEMBLY 7/8""-9 X 4 1/4"" (1 1/2"" THD) A325 HDG"  $ 5.98 
C40026067 "BOLT ASSEMBLY 7/8""-9 X 4 1/2"" (1 1/2"" THD) A325 HDG"  $ 8.34 
C40026068 "BOLT ASSEMBLY 7/8""-9 X 4 3/4"" (1 1/2"" THD) A325 HDG"  $ 6.21 
C40026069 "BOLT ASSEMBLY 7/8""-9 X 5"" (1 1/2"" THD) A325 HDG"  $ 14.27 
C40026070 "BOLT ASSEMBLY 7/8""-9 X 5 1/2"" (1 1/2"" THD) A325 HDG"  $ 11.47 
C40026071 "BOLT ASSEMBLY 1""-8 X 2 1/2"" (1 3/4"" THD) A325 HDG"  $ 8.67 
C40026071BK "BOLT ASSEMBLY 1""-8 X 2 1/2"" (1 3/4"" THD) A325 HDG 25 / BUCKET"  $ 216.77 
C40026072 "BOLT ASSEMBLY 1""-8 X 2 3/4"" (1 3/4"" THD) A325 HDG"  $ 9.45 
C40026073 "BOLT ASSEMBLY 1""-8 X 3"" (1 3/4"" THD) A325 HDG"  $ 7.97 
C40026074 "BOLT ASSEMBLY 1""-8 X 3 1/4"" (1 3/4"" THD) A325 HDG"  $ 7.61 
C40026075 "BOLT ASSEMBLY 1""-8 X 3 1/2"" (1 3/4"" THD) A325 HDG"  $ 8.07 
C40026076 "BOLT ASSEMBLY 1""-8 X 3 3/4"" (1 3/4"" THD) A325 HDG"  $ 9.45 
C40026077 "BOLT ASSEMBLY 1""-8 X 4"" (1 3/4"" THREAD) A325 HDG"  $ 8.65 
C40026078 "BOLT ASSEMBLY 1""-8 X 4 1/4"" (1 3/4"" THD) A325 HDG"  $ 9.62 
C40026079 "BOLT ASSEMBLY 1""-8 X 4 1/2"" (1 3/4"" THD) A325 HDG"  $ 10.24 
C40026081 "BOLT ASSEMBLY 1""-8 X 5"" (1 3/4"" THD) A325 HDG"  $ 13.91 
C40026082 "BOLT ASSEMBLY 1""-8 X 5 1/2"" (1 3/4"" THD) A325 HDG"  $ 10.91 
C40026083 "BOLT ASSEMBLY 1 1/4""-7 X 2 1/2"" (2"" THD) A325 HDG"  $ 11.20 
C40026084 "BOLT ASSEMBLY 1 1/4""-7 X 2 3/4"" (2"" THD) A325 HDG"  $ 17.56 
C40026085 "BOLT ASSEMBLY 1 1/4""-7 X 3"" (2"" THD) A325 HDG"  $ 15.98 
C40026086 "BOLT ASSEMBLY 1 1/4""-7 X 3 1/4"" (2"" THD) A325 HDG"  $ 17.93 
C40026087 "BOLT ASSEMBLY 1 1/4""-7 X 3 1/2"" (2"" THD) A325 HDG"  $ 18.97 
C40026088 "BOLT ASSEMBLY 1 1/4""-7 X 3 3/4"" (2"" THD) A325 HDG"  $ 21.79 
C40026089 "BOLT ASSEMBLY 1 1/4""-7 X 4"" (2"" THD) A325 HDG"  $ 21.01 
C40026090 "BOLT ASSEMBLY 1 1/4""-7 X 4 1/4"" (2"" THD) A325 HDG"  $ 22.29 
C40026091 "BOLT ASSEMBLY 1 1/4""-7 X 4 1/2"" (2"" THD) A325 HDG"  $ 22.60 
C40026092 "BOLT ASSEMBLY 1 1/4""-7 X 4 3/4"" (2"" THD) A325 HDG"  $ 30.39 
C40026093 "BOLT ASSEMBLY 1 1/4""-7 X 5"" (2"" THD) A325 HDG"  $ 22.10 
C40026094 "BOLT ASSEMBLY 1 1/4""-7 X 5 1/2"" (2"" THD) A325 HDG"  $ 22.05 
C40026095 "BOLT ASSEMBLY 1 3/8""-6 X 5 1/2"" (2 1/4"" THD) A325 HDG"  $ 23.54 
C40026096 "BOLT ASSEMBLY 1 1/8""-7 X 2 1/2"" (2"" THD) A325 HDG"  $ 9.69 
C40026098 "BOLT ASSEMBLY 1 1/8""-7 X 3"" (2"" THD) A325 HDG"  $ 13.21 
C40026100 "BOLT ASSEMBLY 1 1/8""-7 X 3 1/2"" (2"" THD) A325 HDG"  $ 16.63 
C40026101 "BOLT ASSEMBLY 1 1/8""-7 X 3 3/4"" (2"" THD) A325 HDG"  $ 18.84 
C40026102 "BOLT ASSEMBLY 1 1/8""-7 X 4"" (2"" THD) A325 HDG"  $ 16.92 

�18



C40026103 "BOLT ASSEMBLY 1 1/8""-7 X 4 1/4"" (2"" THD) A325 HDG"  $ 22.56 
C40026104 "BOLT ASSEMBLY 1 1/8""-7 X 4 1/2"" (2"" THD) A325 HDG"  $ 18.84 
C40026106 "BOLT ASSEMBLY 1 1/8""-7 X 5"" (2"" THD) A325 HDG"  $ 20.17 
C40026110 "BOLT ASSEMBLY 1""-8 X 6"" (1 3/4"" THD) A325 HDG"  $ 14.75 
C40026112 "BOLT ASSEMBLY 1 1/2""-6 X 4 3/4"" (2 1/4"" THD) A325 HDG"  $ 42.74 
C40026113 "BOLT ASSEMBLY 1 1/2""-6 X 5 1/2 (2 1/4"" THD) A325 HDG"  $ 62.68 
C40026114 "BOLT ASSEMBLY 1 1/2""-6 X 6"" (2 1/4"" THD) A325 HDG"  $ 44.15 
C40026115 "BOLT ASSEMBLY 1 1/2""-6 X 6 1/2"" (2 1/4""THD) A325 HDG"  $ 47.83 
C40026116 "BOLT ASSEMBLY 1 1/2""-6 X 8"" (2 1/4"" THD) A325 HDG"  $ 56.97 
C40026125 "BOLT ASSEMBLY 1""-8 X 5 1/4"" (1 3/4"" THD) A325 HDG"  $ 21.85 
C40026133 "BOLT ASSEMBLY 1 1/2""-6 X 5"" (2 1/4"" THD) A325 HDG"  $ 44.84 
C40026150 "BOLT ASSEMBLY 1 1/4""-7 X 6"" (2"" THD) A325 HDG"  $ 20.10 
C40026170 "BOLT ASSEMBLY 7/8""-9 X 6"" (1 1/2"" THD) A325 HDG"  $ 16.63 
C40026214 "BOLT ASSEMBLY 5/8""-11 X 2 1/2"" (FULL THD) A325 HDG"  $ 3.18 
C40027001 "NUT, HEAVY HEX 3/8""-16 A563 GR DH HDG"  $ 0.34 
C40027002 "NUT, HEAVY HEX 1/2""-13 A563 GR DH HDG"  $ 0.46 
C40027003 "NUT, HEAVY HEX 5/8""-11 A563 GR DH HDG"  $ 0.75 
C40027004 "NUT, HEAVY HEX 3/4""-10 A563 GR DH HDG"  $ 1.08 
C40027005 "NUT, HEAVY HEX 7/8""-9 A563 GR DH HDG"  $ 2.03 
C40027006 "NUT, HEAVY HEX 1""-8 A563 GR DH HDG"  $ 2.22 
C40027007 "NUT, HEAVY HEX 1 1/4""-7 A563 GR DH HDG"  $ 3.52 
C40027008 "NUT, HEAVY HEX 1 1/2""-6 A563 GR DH HDG"  $ 8.48 
C40027011 "NUT, HEAVY HEX 2 1/4""-4 A563 GR DH HDG"  $ 19.93 
C40028001 "NUT, LOK MOR/PIN LOCK 3/8""-16 A563 GR DH HDG"  $ 1.01 
C40028002 "NUT, LOK MOR/PIN LOCK 1/2""-13 A563 GR DH HDG"  $ 1.18 
C40028003 "NUT, LOK MOR/PIN LOCK 5/8""-11 A563 GR DH HDG"  $ 1.62 
C40028004 "NUT, LOK MOR/PIN LOCK 3/4""-10 A563 GR DH HDG"  $ 2.34 
C40028005 "NUT, LOK MOR/PIN LOCK 7/8""-9 A563 GR DH HDG"  $ 3.69 
C40028006 "NUT, LOK MOR/PIN LOCK 1""-8 A563 GR DH HDG"  $ 7.33 
C40028007 "NUT, LOK MOR/PIN LOCK 1 1/8""-7 A563 GR DH HDG"  $ 8.72 
C40028008 "NUT, LOK MOR/PIN LOCK 1 1/4""-7 A563 GR DH HDG"  $ 9.56 
C40028009 "NUT, LOK MOR/PIN LOCK 1 3/8""-6 A563 GR DH HDG"  $ 15.08 
C40028010 "NUT, LOK MOR/PIN LOCK 1 1/2""-6 A563 GR DH HDG"  $ 17.09 
C40028011 "NUT, LOK MOR/PIN LOCK 1 3/4""-5 A563 GR DH HDG"  $ 36.03 
C40028012 "NUT, LOK MOR/PIN LOCK 2""-4 A563 GR DH HDG"  $ 54.14 
C40028013 "NUT, LOK MOR/PIN LOCK 2 1/4""-4 A563 GR DH HDG"  $ 79.26 
C40029001 "NUT, PAL 3/8""-16"  $ 0.21 
C40029002 "NUT, PAL 1/2""-13"  $ 0.34 
C40029003 "NUT, PAL 5/8""-11"  $ 0.53 
C40029004 "NUT, PAL 3/4""-10"  $ 0.77 
C40029005 "NUT, PAL 7/8""-9"  $ 1.13 
C40029006 "NUT, PAL 1""-8"  $ 1.64 
C40030010 "WASHER, LOCK 3/8"" A153 GALV"  $ 0.07 
C40030011 "WASHER, LOCK 1/2"" A153 GALV"  $ 0.10 
C40030012 "WASHER, LOCK 5/8"" A153 GALV"  $ 0.19 
C40030013 "WASHER, LOCK 3/4"" A153 GALV"  $ 0.22 
C40030014 "WASHER, LOCK 7/8"" A153 GALV"  $ 0.32 
C40030015 "WASHER, LOCK 1"" A153 GALV"  $ 0.50 
C40030016 "WASHER, LOCK 1 1/2"" A153 GALV"  $ 2.31 
C40030017 "WASHER, LOCK 1 1/8"" A153 GALV"  $ 1.15 
C40030018 "WASHER, LOCK 1 1/4"" A153 GALV"  $ 1.30 
C40030019 "WASHER, LOCK 1 3/4"" A153 GALV"  $ 2.43 
C40030020 "WASHER, LOCK 2"" A153 GALV"  $ 7.15 
C40030021 "WASHER, LOCK 2 1/4"" A153 GALV"  $ 11.44 
C40031001 "WASHER, FLAT, HARDENED 3/8"" F436 HDG"  $ 0.10 
C40031002 "WASHER, FLAT, HARDENED 1/2"" F436 HDG"  $ 0.15 
C40031003 "WASHER, FLAT, HARDENED 5/8"" F436 HDG"  $ 0.24 
C40031004 "WASHER, FLAT, HARDENED 3/4"" F436 HDG"  $ 0.29 
C40031005 "WASHER, FLAT, HARDENED 7/8"" F436 HDG"  $ 0.51 
C40031006 "WASHER, FLAT, HARDENED 1"" F436 HDG"  $ 0.60 

�19



C40031007 "WASHER, FLAT, HARDENED 1 1/2"" F436 HDG"  $ 1.68 
C40031008 "WASHER, FLAT, HARDENED 1 3/4"" F436 HDG"  $ 3.11 
C40031009 "WASHER, FLAT, HARDENED 2"" F436 HDG"  $ 4.03 
C40031010 "WASHER, FLAT, HARDENED 2 1/4"" F436 HDG"  $ 6.84 
C40031011 "WASHER, FLAT, HARDENED 1 1/8"" F436 HDG"  $ 0.84 
C40031012 "WASHER, FLAT, HARDENED 1 1/4"" F436 HDG"  $ 1.08 
C40031013 "WASHER, FLAT, HARDENED 1 3/8"" F436 HDG"  $ 2.34 
C40032001 "THREADED ROD ASSY 3/8"" X 6""  A36"  $ 3.32 
C40032002 "THREADED ROD ASSY 3/8"" X 12"" A36"  $ 4.96 
C40032003 "THREADED ROD ASSY 3/8"" X 18"" A36"  $ 6.80 
C40032004 "THREADED ROD ASSY 3/8"" X 24"" A36"  $ 7.28 
C40032005 "THREADED ROD ASSY 3/8"" X 36"" A36"  $ 11.86 
C40032006 "THREADED ROD ASSY 1/2"" X 6"" A36"  $ 1.68 
C40032007 "THREADED ROD ASSY 1/2"" X 12"" A36"  $ 8.22 
C40032008 "THREADED ROD ASSY 1/2"" X 24"" A36"  $ 13.50 
C40032009 "THREADED ROD ASSY 1/2"" X 36"" A36"  $ 9.35 
C40032010 "THREADED ROD ASSY 5/8"" X 6"" A36"  $ 2.55 
C40032011 "THREADED ROD ASSY 5/8"" X 12"" A36"  $ 6.48 
C40032012 "THREADED ROD ASSY 5/8"" X 24"" A36"  $ 15.04 
C40032013 "THREADED ROD ASSY 5/8"" X 36"" A36"  $ 11.56 
C40032014 "THREADED ROD ASSY 3/4"" X 12"" A36"  $ 16.92 
C40032015 "THREADED ROD ASSY 3/4"" X 24"" A36"  $ 19.15 
C40032016 "THREADED ROD ASSY 3/4"" X 36"" A36"  $ 20.92 
C40033001 "COUPLER 3/8"" X 1 3/4"""  $ 1.81 
C40033002 "COUPLER 1/2"" X 1 3/4"""  $ 2.17 
C40033003 "COUPLER 5/8"" X 2 1/8"""  $ 4.50 
C40033004 "COUPLER 3/4"" X 2 1/4"""  $ 6.67 
C40034001 "U-BOLT ASSEMBLY 3/8""-16 C/C 1 15/16"" IW 1 9/16"" IL 3 1/2"" THD 2"" (1 1/2"" OD)"  $ 6.72 
C40034002 "U-BOLT ASSEMBLY 3/8""-16 C/C 2 3/16 IW 1 13/16"" IL 3 3/4"" THD 2"" (1 3/4"" or 1.66 OD)"  $ 4.96 
C40034003 "U-BOLT ASSEMBLY 3/8""-16 C/C 2 13/16"" IW 2 7/16"" IL 4 3/8"" THD 2"" (2 1/4"" or 2 3/8"" OD)"  $ 5.62 
C40034004 "U-BOLT ASSEMBLY 3/8""-16 C/C 3 5/16"" IW 2 15/16"" IL 4 7/8"" THD 2"" (2 3/4"" or 2 7/8"" OD)"  $ 17.44 
C40034005 "U-BOLT ASSEMBLY 3/8""-16 C/C 1 1/2"" IW 1 1/8"" IL 1 13/16"" THD 3/4"" (1"" OD)"  $ 4.92 
C40034006 "U-BOLT ASSEMBLY 1/2""-13 C/C 3 1/16"" IW 2 9/16"" IL 5 1/2"" THD 3"" (2 1/2"" OD)"  $ 15.91 
C40034007 "U-BOLT ASSEMBLY 1/2""-13 C/C 3 9/16"" IW 3 1/16"" IL 6"" THD 3"" (3"" OD)"  $ 8.32 
C40034009 "U-BOLT ASSEMBLY 1/2""-13 C/C 4 5/16"" IW 3 13/16"" IL 6 3/4"" THD 3"" (3 3/4"" OD)"  $ 8.79 
C40034011 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 1/16"" IW 1 9/16"" IL 3 1/2"" THD 2"" (1 1/2"" OD)"  $ 7.04 
C40034012 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 5/16"" IW 1 13/16"" IL 3 3/4"" THD 2"" (1 3/4"" or 1.66 OD)"  $ 5.71 
C40034013 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 9/16"" IW 2 1/16"" IL 5"" THD 3"" (2"" or 1.9"" OD)"  $ 7.69 
C40034014 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 15/16"" IW 2 7/16 IL 5 3/8"" THD 3"" (2 1/4"" or 2 3/8"" OD)"  $ 6.15 
C40034015 "U-BOLT ASSEMBLY 1/2""-13 C/C 3 7/16"" IW 2 15/16"" IL 5 3/4"" THD 3"" (2 3/4"" or 2 7/8"" OD)"  $ 6.87 
C40034016 "U-BOLT ASSEMBLY 1/2""-13 C/C 4 1/16"" IW 3 9/16"" IL 6 1/2"" THD 3""(3 1/2"" OD)"  $ 6.31 
C40034017 "U-BOLT ASSEMBLY 1/2""-13 C/C 4 9/16"" IW 4 1/16"" IL 7"" THD 3"" (4' OD)"  $ 11.09 
C40034018 "U-BOLT ASSEMBLY 1/2""-13 C/C 5 1/16"" IW 4 9/16"" IL 7 1/2"" THD 3"" (4 1/2"" OD)"  $ 11.20 
C40034020 "U-BOLT ASSEMBLY 5/8""-11 C/C 2 3/16"" IW 1 9/16"" IL 3 1/2"" THD 2"" (1 1/2"" OD)"  $ 6.63 
C40034021 "U-BOLT ASSEMBLY 5/8""-11 C/C 2 7/16"" IW 1 13/16"" IL 3 3/4"" THD 2"" (1 3/4"" or 1.66"" OD)"  $ 8.80 
C40034022 "U-BOLT ASSEMBLY 5/8""-11 C/C 2 11/16"" IW 2 1/16"" IL 5"" THD 3"" (2"" or 1.9"" OD)"  $ 7.78 
C40034023 "U-BOLT ASSEMBLY 5/8""-11 C/C 3 1/16"" IW 2 7/16"" IL 5 3/8"" THD 3"" (2 1/4"" or 2 3/8"" OD)"  $ 7.35 
C40034024 "U-BOLT ASSEMBLY 5/8""-11 C/C 3 3/16"" IW 2 9/16"" IL 5 1/2"" THD 3"" (2 1/2"" OD)"  $ 7.64 
C40034025 "U-BOLT ASSEMBLY 5/8""-11 C/C 3 9/16"" IW 2 15/16"" IL 5 7/8"" THD 3"" (2 3/4"" or 2 7/8"" OD)"  $ 9.04 
C40034026 "U-BOLT ASSEMBLY 5/8""-11 C/C 3 11/16"" IW 3 1/16"" IL 6"" THD 3"" (3"" OD)"  $ 11.95 
C40034027 "U-BOLT ASSEMBLY 5/8""-11 C/C3 15/16"" IW 3 5/16"" IL 6 1/4"" THD 3"" (3 1/4"" OD)"  $ 12.87 
C40034028 "U-BOLT ASSEMBLY 5/8""-11 C/C 4 3/16"" IW 3 9/16"" IL 6 1/2"" THD 3"" (3 1/2"" OD)"  $ 9.79 
C40034029 "U-BOLT ASSEMBLY 5/8""-11 C/C 4 7/16"" IW 3 13/16"" IL 6 3/4"" THD 3"" (3 3/4"" OD)"  $ 10.32 
C40034030 "U-BOLT ASSEMBLY 5/8""-11 C/C 4 11/16"" IW 4 1/16"" IL 7"" THD 3"" (4"" OD)"  $ 10.19 
C40034031 "U-BOLT ASSEMBLY 5/8""-11 C/C 4 15/16"" IW 4 5/16"" IL 7 1/4"" THD 4"" (4 1/4"" OD)"  $ 13.81 
C40034032 "U-BOLT ASSEMBLY 5/8""-11 C/C 5 3/16"" IW 4 9/16"" IL 7 1/2"" THD 3"" (4 1/2"" OD)"  $ 10.99 
C40034033 "U-BOLT ASSEMBLY 5/8""-11 C/C 5 7/16"" IW 4 13/16"" IL 7 3/4"" THD 3"" (4 3/4"" OD)"  $ 19.88 
C40034034 "U-BOLT ASSEMBLY 5/8""-11 C/C 5 11/16"" IW 5 1/16"" IL 8"" THD 3"" (5"" OD)"  $ 14.55 
C40034035 "U-BOLT ASSEMBLY 5/8""-11 C/C 6 1/4"" IW 5 5/8"" IL 8 9/16"" THD 3"" (5 9/16"" OD)"  $ 12.46 
C40034036 "U-BOLT ASSEMBLY 5/8""-11 C/C 7 5/16"" IW 6 11/16"" IL 9 5/8"" THD 3"" (6 5/8"" OD)"  $ 13.03 

�20



C40034037 "U-BOLT ASSEMBLY 5/8""-11 C/C 9 5/16"" IW 8 11/16"" IL 11 5/8"" THD 3"" (8 5/8"" OD)"  $ 14.21 
C40034038 "U-BOLT ASSEMBLY 5/8""-11 C/C 11 7/16"" IW 10 13/16"" IL 13 3/4"" THD 3"" (10 3/4"" OD)"  $ 21.45 
C40034039 "U-BOLT ASSEMBLY 5/8""-11 C/C 13 1/2 IW 12 7/8"" IL 15 3/4"" THD 3"" (12 3/4"" OD)"  $ 22.63 
C40034040 "U-BOLT ASSEMBLY 5/8""-11 C/C 14 3/4"" IW 14 1/8"" IL 17"" THD 3"" (14"" OD)"  $ 33.25 
C40034041 "U-BOLT ASSEMBLY 5/8""-11 C/C 2"" IW 1 3/8"" IL 3 1/8"" THD 1 3/4"" (1 1/4"" OD)"  $ 13.01 
C40034044 "U-BOLT ASSEMBLY 5/8""-11 C/C 6 7/16"" IW 5 13/16"" IL 8 3/4"" THD 3"" (5 3/4"" OD)"  $ 31.37 
C40034045 "U-BOLT ASSEMBLY 3/4""-10 C/C 5 5/16"" IW 4 9/16 IL 8 1/2"" THD 4"" (4 1/2"" OD)"  $ 25.15 
C40034046 "U-BOLT ASSEMBLY 3/4""-10 C/C 6 3/8"" IW 5 5/8"" IL 9 9/16"" THD 4' (5 9/16"" OD)"  $ 31.20 
C40034047 "U-BOLT ASSEMBLY 3/4""-10 C/C 7 7/16"" IW 6 11/16"" IL 10 5/8"" THD 4"" (6 5/8"" OD)"  $ 22.09 
C40034048 "U-BOLT ASSEMBLY 3/4""-10 C/C 9 7/16"" IW 8 11/16"" IL 12 5/8"" THD 4"" (8 5/8"" OD)"  $ 30.63 
C40034049 "U-BOLT ASSEMBLY 3/4""-10 C/C 11 9/16"" IW 10 13/16"" IL 14 3/4"" THD 4"" (10 3/4"" OD)"  $ 18.62 
C40034050 "U-BOLT ASSEMBLY 3/4""-10 C/C 13 5/8"" IW 12 7/8"" IL 16 3/4"" THD 4"" (12 3/4"" OD)"  $ 19.91 
C40034052 "U-BOLT ASSEMBLY 3/8""-16 C/C 2 7/16"" IW 2 1/16"" IL 3 5/8"" THD 1 3/4"" (2' OD)"  $ 5.09 
C40034053 "U-BOLT ASSEMBLY 3/8""-16 C/C 2 3/4"" IW 2 3/8"" IL 3 5/8"" THD 1 1/2"" (2 1/4"" OD)"  $ 5.83 
C40034054 "U-BOLT ASSEMBLY 3/8""-16 C/C 3"" IW 2 5/8"" IL 3 5/8"" THD 1 1/2"" (2 1/2"" OD)"  $ 11.09 
C40034056 "U-BOLT ASSEMBLY 3/8""-16 C/C 3 1/2"" IW 3 1/8"" IL 4 3/8"" THD 2"" (3"" OD)"  $ 18.91 
C40034060 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 9/16"" IW 2 1/16"" IL 3 1/2"" THD 1 3/4"" (2"" or 1.9"" OD)"  $ 7.03 
C40034061 "U-BOLT ASSEMBLY 1/2""-13 C/C 4 13/16"" IW 4 5/16"" IL 7 1/4"" THD 3"" (4 1/4"" OD)"  $ 10.39 
C40034081 "U-BOLT ASSEMBLY 1/2""-13 C/C 2 9/16"" IW 2 1/16"" IL 10"" THD 8"" (2"" or 1.9"" OD)"  $ 10.67 
C40035003 "U-BOLT ASSEMBLY SQUARE 5/8""-11 C/C 4 1/4"" IW 3 5/8"" IL 5 1/2"" THD 2""  (3 1/2"" X 3 1/2"" TS)"  $ 9.91 
C40035004 "U-BOLT ASSEMBLY SQUARE 5/8""-11 C/C 4 3/4"" IW 4 1/8"" IL 6"" THD 4"" (4"" X 4"" TS)"  $ 11.40 
C40035005 "U-BOLT ASSEMBLY SQUARE 5/8""-11 C/C 5 3/4"" IW 5 1/8"" IL 7"" THD 5"""  $ 27.91 
C40035007 "U-BOLT ASSEMBLY SQUARE 5/8""-11 C/C 7 3/4"" IW 7 1/8"" IL 9"" THD 4"""  $ 12.97 
C40035101 "U-BOLT ASSEMBLY SQUARE 1/2""-13 C/C 4 1/2"" IW 4"" IL 6 1/2"" THD 4"""  $ 10.67 
C40035102 "U-BOLT ASSEMBLY SQUARE 1/2""-13 C/C 7"" IW 6 1/2"" IL 9 1/2"" THD 5"""  $ 13.81 
C40036007 "BENT V-BOLT ASSEMBLY 90 DEG 5/8""-11 C/C 6 9/16"" IW 5 15/16"" IL 5 3/4"" THD 2 1/2"" (4"" X 4"" Angle)"  $ 11.61 
C40038007 "BENT BOLT ASSEMBLY 3/8"" X 2 1/4"" X 4"" (1 1/4"" THD) Fits 1 3/4"" X 1 3/4"" Angle"  $ 8.38 
C40038030 "BENT BOLT ASSEMBLY 5/8"" X 8 1/8"" X 10 5/8"" (2 1/2""THD) Fits 8"" X 8"" Angle"  $ 14.09 
C40038998 "BENT BOLT ASSEMBLY 1/2 X 1 13/16 X 3 11/16 (1 1/2""THD) For 1800 TLWD Guy Bracket"  $ 4.70 
C40039001 "J-BOLT ASSEMBLY 3/8"" X 5 3/4"" X 1/2"" X 1"" (3"" THD)"  $ 2.84 
C40039002 "J-BOLT ASSEMBLY 3/8"" X 7 1/4"" X 1/2"" X 1"" (3"" THD)"  $ 2.63 
C40039003 "J-BOLT ASSEMBLY 3/8"" X 9"" X 1/2"" X 1"" (3"" THD)"  $ 5.30 
C40039004 "J-BOLT ASSEMBLY 1/2"" X 3"" X 1/2"" X 1"" (1 1/2"" THD)"  $ 6.67 
C40039005 "J-BOLT ASSEMBLY 3/8"" X 9"" X 1/2"" X 1"" (7"" THD)"  $ 4.75 
C40039006 "J-BOLT ASSEMBLY 1/2"" X 6"" X 1/2"" X 1"" (3"" THD)"  $ 7.04 
C40039008 "J-BOLT ASSEMBLY 1/2"" X 9"" X 1 1/2"" X 1 3/8"" (7"" THD)"  $ 9.38 
C40039010 "J-BOLT ASSEMBLY 1/2"" X 3"" X 3/4"" X 1"" (1 3/4"" THD)"  $ 6.67 
C40039015 "J-BOLT ASSEMBLY 3/8"" X 4"" X 1/2"" X 1"" (2 1/2"" THD)"  $ 2.75 
C40040015 "J-BOLT ASSEMBLY SQ 3/8"" X 6"" X 1 1/2"" X 1/2"" (4"" THD)"  $ 2.56 
C40041001 "ANCHOR BOLT ASSY 3/4"" X 2'-6"" (9"" THD EA END) A572 GR 50"  $ 19.78 
C40041002 "ANCHOR BOLT ASSY 1"" X 5'-9"" (12"" THD EA END) A572 GR 50"  $ 65.62 
C40041003 "ANCHOR BOLT ASSY 1 1/2"" X 3'-4"" (12"" THD / 6"" THD) A572 GR 50"  $ 100.39 
C40041004 "ANCHOR BOLT ASSY 1 1/2"" X 5'-9"" (12"" THD EA END) A572 GR 50"  $ 190.38 
C40041005 "ANCHOR BOLT ASSY 1 3/4"" X 7'-6"" (12"" THD EA END) A572 GR 50"  $ 233.08 
C40041006 "ANCHOR BOLT ASSY 2"" X 10'-0"" (18"" THD EA END) A572 GR 50"  $ 412.27 
C40041007 "ANCHOR BOLT ASSY 2 1/4"" X 7'-0"" (12"" THD EA END) A615 GR 75"  $ 462.53 
C40041009 "ANCHOR BOLT ASSY 3/4"" X 3'-3"" (9"" THD EA END) A449"  $ 41.42 
C40041010 "ANCHOR BOLT ASSY 7/8"" X 3'-9"" (9"" THD EA END) A449"  $ 53.97 
C40041011 "ANCHOR BOLT ASSY 1"" X 4'-3"" (9"" THD EA END) A449"  $ 79.78 
C40041012 "ANCHOR BOLT ASSY 1 1/4"" X 5'-3"" ( 9"" THD EA END) A449"  $ 142.58 
C40041013 "ANCHOR BOLT ASSY 1 1/2"" X 6'-6"" (12"" THD EA END) A449"  $ 241.33 
C40041014 "ANCHOR BOLT ASSY 1 3/4"" X 7'-3"" (12"" THD EA END) A449"  $ 418.97 
C40041015 "ANCHOR BOLT ASSY2"" X 8'-3"" (12"" THD EA END) A449"  $ 630.14 
C40041016 "ANCHOR BOLT ASSY2 1/4"" X 8'-9"" (12"" THD EA END) A449"  $ 750.80 
C40041057 "ANCHOR BOLT ASSY 3/4"" X 3'-3"" (9"" THD EA END) F1554/105 RED"  $ 38.92 
C40041059 "ANCHOR BOLT ASSY 1 1/4"" X 5'-3"" (9"" THD EA END) F1554/105 RED"  $ 150.84 
C40042001 "NUT, HEAVY HEX 3/4""-10 A194 GR 2H HDG"  $ 0.96 
C40042002 "NUT, HEAVY HEX 1""-8 A194 GR 2H HDG"  $ 1.95 
C40042003 "NUT, HEAVY HEX 1 1/2""-6 A194 GR 2H HDG"  $ 6.91 
C40042004 "NUT, HEAVY HEX 1 3/4""-5 A194 GR 2H HDG"  $ 12.56 

�21



C40042005 "NUT, HEAVY HEX 2""-4 A194 GR 2H HDG"  $ 20.63 
C40042006 "NUT, HEAVY HEX 2 1/4""-4 A194 GR 2H HDG"  $ 24.07 
C40042007 "NUT, HEAVY HEX 5/8""-11 A194 GR 2H HDG"  $ 0.68 
C40043001 "NUT,  HEAVY HEX JAM 3/4""-10 ASTM A563 GR A HDG"  $ 10.05 
C40043002 "NUT,  HEAVY HEX JAM 1""-8 ASTM A563 GR A HDG"  $ 17.59 
C40043003 "NUT,  HEAVY HEX JAM 1 1/2""-6 ASTM A563 GR A HDG"  $ 12.19 
C40043004 "NUT,  HEAVY HEX JAM 1 3/4""-5 ASTM A563 GR A HDG"  $ 22.89 
C40043005 "NUT,  HEAVY HEX JAM 2""-4 1/2 ASTM A563 GR A HDG"  $ 21.16 
C40043006 "NUT,  HEAVY HEX JAM 2 1/4""-4 1/2 ASTM A563 GR A HDG"  $ 9.38 
C40044001 "STEP BOLT ASSY 5/8"" X 6 1/2"" (2 1/2"" THREAD) HDG E/W 2 HEX NUTS"  $ 19.18 
C40044002 "STEP BOLT ASSY 5/8"" X 7"" (1 3/4"" THREAD) HDG E/W 2 HEX NUTS"  $ 4.36 
C40044003 "STEP BOLT ASSY LOOP 5/8"" X 8"" (2 1/4"" THREAD) HDG E/W 1 HEX NUTS"  $ 54.75 
C40044007 "STEP BOLT ASSY 3/4"" X 8"" (3 1/2"" THREAD) E/W 2 HEX NUTS"  $ 12.56 
C40044025 "STEP BOLT ASSY 3/4"" X 7 1/2"" (1 3/4"" THREAD) E/W 2 HEX NUTS W STL"  $ 13.64 
C40045001 "BEVEL WASHER 1/2"""  $ 0.55 
C40045002 "BEVEL WASHER 5/8"""  $ 0.67 
C40045003 "BEVEL WASHER 3/4"""  $ 0.80 
C40045004 "BEVEL WASHER 7/8"""  $ 2.62 
C40045005 "BEVEL WASHER 1"""  $ 2.02 
C40046001 "FENDER WASHER 3/8"" FENDER WASHER 1 1/2"" OD"  $ 0.21 
C40047001 "RINGFILL for 1/2"" BOLT 9/16 HOLE 1/4"" THK (1-1/2"" OD)"  $ 1.56 
C40047002 "RINGFILL for 5/8"" BOLT 11/16 HOLE 1/4"" THK (1-1/2"" OD)"  $ 1.61 
C40047003 "RINGFILL for 5/8"" BOLT 11/16 HOLE 3/8"" THK (1-1/2"" OD)"  $ 1.26 
C40047004 "RINGFILL for 3/4"" BOLT 13/16 HOLE 3/8"" THK (1-1/2"" OD)"  $ 1.59 
C40047005 "RINGFILL for 1/2"" BOLT 9/16 HOLE 3/8"" THK (1-1/2"" OD)"  $ 1.00 
C40047006 "RINGFILL for 7/8"" BOLT 15/16' HOLE 3/8"" THK (1-1/2"" OD)"  $ 1.30 
C40048005 "BACK UP PLATE 5/8"" 6"" X 6"" X 1/4       11/16 HOLE"  $ 10.36 
C40051001 "JAW-JAW TURNBUCKLE 1/4"" X 4"" WRK LD 500 LBS  Details 8 1/4"" Length Closed"  $ 4.77 
C40051002 "JAW-JAW TURNBUCKLE 1/2"" X 12"" WRK LD 2200 LBS  Details 19 5/16"" Length Closed"  $ 16.53 
C40051003 "JAW-JAW TURNBUCKLE 5/8"" X 12"" WRK LD 3500 LBS  Details 21 1/2"" Length Closed"  $ 20.63 
C40051004 "JAW-JAW TURNBUCKLE 3/4"" X 12"" WRK LD 5200 LBS  Details 23 1/16"" Length Closed"  $ 31.44 
C40051005 "JAW-JAW TURNBUCKLE 7/8"" X 12"" WRK LD 7200 LBS  Details 24 5/8"" Length Closed"  $ 54.43 
C40051006 "JAW-JAW TURNBUCKLE 1"" X 12"" WRK LD 10000 LBS  Details 26 5/8"" Length Closed"  $ 84.63 
C40051007 "JAW-JAW TURNBUCKLE 1 1/4"" X 12"" WRK LD 15200LBS  Details 29 7/8"" Length Closed"  $ 131.16 
C40051008 "JAW-JAW TURNBUCKLE 1 1/2"" X 12"" WRK LD 21400LBS  Details 32 3/8"" Length Closed"  $ 198.60 
C40051009 "JAW-JAW TURNBUCKLE 3/8"" X 6"" WRK LD 1200 LBS  Details 11 7/8"" Length Closed"  $ 7.91 
C40051018 "JAW-JAW TURNBUCKLE 1/2"" X 6"" WRK LD 2200 LBS"  $ 9.30 
C40052001 "JAW-EYE TURNBUCKLE 1/4"" X 4"" WRK LD 500 LBS  Details 8 1/4"" Length Closed"  $ 12.87 
C40052002 "JAW-EYE TURNBUCKLE 1/2"" X 12"" WRK LD 2200 LBS  Details 19 5/16"" Length Closed"  $ 13.66 
C40052003 "JAW-EYE TURNBUCKLE 5/8"" X 12"" WRK LD 3500 LBS  Details 21 1/2"" Length Closed"  $ 22.68 
C40052004 "JAW-EYE TURNBUCKLE 3/4"" X 12"" WRK LD 5200 LBS  Details 23 1/16"" Length Closed"  $ 28.92 
C40052005 "JAW-EYE TURNBUCKLE 7/8"" X 12"" WRK LD 7200 LBS  Details 24 5/8"" Length Closed"  $ 46.58 
C40052006 "JAW-EYE TURNBUCKLE 1"" X 12"" WRK LD 10000 LBS  Details 26 5/8"" Length Closed"  $ 59.01 
C40052007 "JAW-EYE TURNBUCKLE 1 1/4"" X 12"" WRK LD 15200 LBS  Details 29 7/8"" Length Closed"  $ 130.14 
C40052008 "JAW-EYE TURNBUCKLE 1 1/2"" X 12"" WRK LD 21400 LBS  Details 32 3/8"" Length Closed"  $ 201.08 
C40052009 "JAW-EYE TURNBUCKLE 3/8"" X 6"" WRK LD 1200 LBS  Details 11 7/8"" Length Closed"  $ 7.59 
C40052010 "JAW-EYE TURNBUCKLE 1 1/4"" X 18"" WRK LD 15200 LBS  Details 35 7/8"" Length Closed"  $ 646.89 
C40052012 "JAW-EYE TURNBUCKLE 3/4"" X 18"" WRK LD 5200 LBS  Details 29 1/16"" Length Closed"  $ 55.30 
C40052013 "JAW-EYE TURNBUCKLE 7/8"" X 18"" WRK LD 7200 LBS  Details 30 5/8"" Length Closed"  $ 126.29 
C40052014 "JAW-EYE TURNBUCKLE 1"" X 18"" WRK LD 10000 LBS  Details 32 5/8"" Length Closed"  $ 174.29 
C40052015 "JAW-EYE TURNBUCKLE 1"" X 24"" WRK LD 10000 LBS  Details 38 5/8"" Length Closed"  $ 124.85 
C40052204 "JAW-EYE TURNBUCKLE 3/4"" X 12"" WRK LD 5200 LBS CHICAGO 026543"  $ 188.41 
C40052206 "JAW-EYE TURNBUCKLE 7/8"" X 12"" WRK LD 7200 LBS CHICAGO 026659"  $ 342.82 
C40053000 "SHACKLE SCREW 3/16"" NOMINAL LOAD 1/3 TON"  $ 5.97 
C40053001 "SHACKLE SCREW 1/4"" NOMINAL LOAD 1/2 TON"  $ 3.54 
C40053002 "SHACKLE SCREW 3/8"" NOMINAL LOAD 1 TON"  $ 2.29 
C40053003 "SHACKLE SCREW 1/2"" NOMINAL LOAD 2 TONS"  $ 4.82 
C40053004 "SHACKLE SCREW 5/8"" NOMINAL LOAD 3 1/4 TONS"  $ 6.74 
C40053005 "SHACKLE SCREW 3/4"" NOMINAL LOAD 4 3/4 TONS"  $ 12.15 
C40053006 "SHACKLE SCREW 7/8"" NOMINAL LOAD 6 1/2 TONS"  $ 15.73 

�22



C40053007 "SHACKLE SCREW 1"" NOMINAL LOAD 8 1/2 TONS"  $ 23.28 
C40053008 "SHACKLE SCREW 1 1/8"" NOMINAL LOAD 9 1/2 TONS"  $ 33.45 
C40053009 "SHACKLE SCREW 1 1/4"" NOMINAL LOAD 12 TONS"  $ 33.81 
C40055001 "THIMBLE 5/16"" HEAVY DUTY OPEN THIMBLE"  $ 0.53 
C40055002 "THIMBLE 3/8"" HEAVY DUTY OPEN THIMBLE"  $ 0.99 
C40055003 "THIMBLE 7/16"" HEAVY DUTY OPEN THIMBLE"  $ 1.26 
C40055004 "THIMBLE 1/2"" HEAVY DUTY OPEN THIMBLE"  $ 2.22 
C40055005 "THIMBLE 9/16"" HEAVY DUTY OPEN THIMBLE"  $ 2.43 
C40055006 "THIMBLE 5/8"" HEAVY DUTY OPEN THIMBLE"  $ 3.08 
C40055007 "THIMBLE 3/4"" HEAVY DUTY OPEN THIMBLE"  $ 6.17 
C40055008 "THIMBLE 7/8"" HEAVY DUTY OPEN THIMBLE"  $ 8.58 
C40055009 "THIMBLE 1"" HEAVY DUTY OPEN THIMBLE"  $ 12.24 
C40055010 "THIMBLE 1 1/8"" - 1 1/4"" HEAVY DUTY OPEN THIMBLE"  $ 16.03 
C40055011 "THIMBLE 3/16"" HEAVY DUTY OPEN THIMBLE"  $ 0.24 
C40055012 "THIMBLE 1/4"" HEAVY DUTY OPEN THIMBLE"  $ 0.65 
C40056001 "WIRE ROPE CLIP 3/16"""  $ 0.87 
C40056002 "WIRE ROPE CLIP 1/4"""  $ 1.26 
C40056003 "WIRE ROPE CLIP 5/16"""  $ 1.64 
C40056004 "WIRE ROPE CLIP 3/8"""  $ 2.29 
C40056005 "WIRE ROPE CLIP 7/16"""  $ 3.74 
C40056006 "WIRE ROPE CLIP 1/2"""  $ 3.98 
C40056007 "WIRE ROPE CLIP 9/16"""  $ 5.59 
C40056008 "WIRE ROPE CLIP 5/8"""  $ 5.64 
C40056009 "WIRE ROPE CLIP 3/4"""  $ 9.01 
C40056010 "WIRE ROPE CLIP 7/8"""  $ 9.62 
C40056011 "WIRE ROPE CLIP 1"""  $ 18.03 
C40056012 "WIRE ROPE CLIP 1 1/4"""  $ 33.45 
C40057001 "DEAD-END SLEEVE 1/4"" (ICE CLIP)"  $ 4.62 
C40057002 "DEAD-END SLEEVE 5/16""  (ICE CLIP)"  $ 4.58 
C40057003 "DEAD-END SLEEVE 3/8""  (ICE CLIP)"  $ 4.75 
C40057004 "DEAD-END SLEEVE 7/16""  (ICE CLIP)"  $ 4.92 
C40057005 "DEAD-END SLEEVE 1/2""  (ICE CLIP)"  $ 5.30 
C40057006 "DEAD-END SLEEVE 9/16""  (ICE CLIP)"  $ 5.54 
C40057007 "DEAD-END SLEEVE 5/8""  (ICE CLIP)"  $ 11.20 
C40057008 "DEAD-END SLEEVE 3/4"" (ICE CLIP)"  $ 12.43 
C40057009 "DEAD-END SLEEVE 7/8"" (ICE CLIP)"  $ 14.51 
C40057010 "DEAD-END SLEEVE 1"" (ICE CLIP)"  $ 19.11 
C40057011 "DEAD-END SLEEVE 3/16"" (ICE CLIP)"  $ 3.76 
C40057012 "DEAD-END SLEEVE 11/16"" (ICE CLIP)"  $ 12.43 
C40058001 "DEAD-END GRIP 1/4"" PREFORM LEFT HAND LAY"  $ 8.72 
C40058002 "DEAD-END GRIP 5/16"" PREFORM LEFT HAND LAY"  $ 10.79 
C40058003 "DEAD-END GRIP 3/8"" PREFORM LEFT HAND LAY"  $ 14.79 
C40058004 "DEAD-END GRIP 7/16"" PREFORM LEFT HAND LAY"  $ 20.58 
C40058005 "DEAD-END GRIP 1/2"" PREFORM LEFT HAND LAY"  $ 30.67 
C40058006 "DEAD-END GRIP 9/16"" PREFORM LEFT HAND LAY"  $ 46.53 
C40058007 "DEAD-END GRIP 5/8"" PREFORM LEFT HAND LAY"  $ 77.28 
C40058008 "DEAD-END GRIP 3/4"" PREFORM LEFT HAND LAY"  $ 132.94 
C40058009 "DEAD-END GRIP 7/8"" PREFORM LEFT HAND LAY"  $ 290.26 
C40058010 "DEAD-END GRIP 1"" PREFORM LEFT HAND LAY"  $ 564.22 
C40058011 "DEAD-END GRIP 3/16"" PREFORM LEFT HAND LAY"  $ 7.06 
C40058012 "DEAD-END GRIP 11/16"" PREFORM LEFT HAND LAY"  $ 207.66 
C40059001 "GUY STRAND EHS 1/4"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 0.32 
C40059002 "GUY STRAND EHS 5/16"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 0.48 
C40059003 "GUY STRAND EHS 3/8"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 0.63 
C40059004 "GUY STRAND EHS 7/16"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 0.89 
C40059005 "GUY STRAND EHS 1/2"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 1.13 
C40059006 "GUY STRAND EHS 9/16"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 1.47 
C40059007 "GUY STRAND EHS 5/8"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 1.78 
C40059008 "GUY STRAND EHS 3/4"" GUY STRAND LEFT HAND LAY 1 X 19"  $ 2.80 
C40059009 "GUY STRAND EHS 7/8"" GUY STRAND LEFT HAND LAY 1 X 19"  $ 3.81 

�23



C40059010 "GUY STRAND EHS 1"" GUY STRAND LEFT HAND LAY 1 X 19"  $ 5.04 
C40059011 "GUY STRAND EHS 3/16"" GUY STRAND LEFT HAND LAY 1 X 7"  $ 0.31 
C40059012 "GUY STRAND EHS 11/16""GUY STRAND LEFT HAND LAY 1 X 19"  $ 2.63 
C40060021 "TY RAP NATURAL .35 X 30"" (50/BAG) 9"" DIA MAX"  $ 24.58 
C40062001 MULTI-LOK TIES .276 276 x 12 38 MAX DIA 100CT  $ 360.96 
C40067001 "GUY STRAIN INSULATOR PORCELAIN 10,000 LB ULT STRENGTH TO 3/8"""  $ 12.97 
C40067002 "GUY STRAIN INSULATOR PORCELAIN 12,000 LB ULT STRENGTH TO 1/2"""  $ 11.06 
C40067003 "GUY STRAIN INSULATOR PORCELAIN 20,000 LB ULT STRENGTH TO 5/8"""  $ 12.53 
C40067005 "GUY STRAIN INSULATOR PORCELAIN 50,000 LB ULT STRENGTH TO 3/4"""  $ 234.62 
C40068001 COLD GALVANIZING SPRAY 14 OZ COLD GALVANIZING SPRAY 14 OZ  $ 9.91 
C40071001 SILICONE LUBRICANT 13.25 OZ 3M SILICONE LUBRICANT 1325 OZ  $ 17.32 
C40074003 VINYL ELEC TAPE 3/4' X 66' BLACK SUPER 33+  $ 7.71 
C40074004 "VINYL ELEC TAPE 3/4"" X 44' BLACK SUPER 88"  $ 6.05 
C40074005 "VINYL ELEC TAPE 3/4"" X 66' BLACK SUPER 88"  $ 7.78 
C40074007 "VINYL ELEC TAPE 1 1/2"" X 44' BLACK SUPER 88"  $ 11.40 
C40074008 "VINYL ELEC TAPE 2"" X 108' BLACK SUPER 88"  $ 36.10 
C40074011 "VINYL ELEC TAPE 2"" X 20' BLACK"  $ 2.50 
C40074012 "VINYL ELEC TAPE 2"" X 30' BLACK"  $ 5.08 
C40075001 "VINYL ELEC TAPE 3/4"" X 66' RED"  $ 2.46 
C40075002 "VINYL ELEC TAPE 3/4"" X 66' BLUE"  $ 2.46 
C40075003 "VINYL ELEC TAPE 3/4"" X 66' WHITE"  $ 2.46 
C40075004 "VINYL ELEC TAPE 3/4"" X 66' YELLOW"  $ 2.46 
C40075005 "VINYL ELEC TAPE 3/4"" X 66' GREEN"  $ 2.46 
C40075006 "VINYL ELEC TAPE 3/4"" X 66' ORANGE"  $ 2.46 
C40075007 "VINYL ELEC TAPE 3/4"" X 66' VIOLET"  $ 2.46 
C40075008 "VINYL ELEC TAPE 3/4"" X 66' GRAY"  $ 2.46 
C40075009 "VINYL ELEC TAPE 3/4"" X 66' BROWN"  $ 2.46 
C40075010 "VINYL ELEC TAPE 3/4"" X 66' LIGHT BLUE"  $ 7.26 
C40077001 WEATHERPROOF KIT (DELUXE) MASTIC TAPE & VINYL-ELEC TAPE  $ 17.26 
C40079001 "EYEBOLT ASSEMBLY 3/8""X1 1/4"" EYEBOLT ASSEMBLY 3/8 x 1-1/4"""  $ 6.87 
C40079002 "EYEBOLT ASSEMBLY 5/8""X1 3/4"" EYEBOLT ASSEMBLY 5/8"" x 1-3/4"""  $ 14.10 
C40080001 "INSULATOR GUY STRAIN 7/16"" MAX 10 FOOT-CLEVIS/CLEVIS-21K MACLEAN"  $ 92.97 
C40080002 "INSULATOR GUY STRAIN 7/16"" MAX 10 FOOT-CLEVIS/THIMBLE EYE-21K MACLEAN"  $ 91.73 
C40080013 "INSULATOR GUY STRAIN 7/16"" MAX 3 FOOT-CLEVIS/CLEVIS-21K BS 3/4"" X 3'-0"""  $ 66.58 
C40080019 "INSULATOR GUY STRAIN 7/16"" MAX 20 FOOT-CLEVIS/CLEVIS-21K"  $ 184.70 
C40083001 "BIRD FLIGHT DIVERTER YELLOW 3/16"" -7/32"" (.175-.249)  Details 3/8"" diameter Rod 7"" Overall Length"  $ 13.15 
C40083002 "BIRD FLIGHT DIVERTER YELLOW 1/4"" -11/32"" (.250-.349)  Details 3/8"" diameter Rod 8 1/2"" Overall Length"  $ 11.90 
C40083003 "BIRD FLIGHT DIVERTER YELLOW 3/8"" -7/16"" (.350-.449)  Details 3/8"" diameter Rod 9 1/2"" Overall Length"  $ 13.45 
C40083004 "BIRD FLIGHT DIVERTER YELLOW 1/2"" -9/16"" (.450-.599)  Details 3/8"" diameter Rod 11"" Overall Length"  $ 18.12 
C40083005 "BIRD FLIGHT DIVERTER YELLOW 5/8"" -3/4"" (.600-.770)  Details 1/2"" diameter Rod 13"" Overall Length"  $ 17.15 
C40083006 "BIRD FLIGHT DIVERTER YELLOW 3/4"" -13/16"" (.771-.858)  Details 1/2"" diameter Rod 15"" Overall Length"  $ 19.81 
C40083007 "BIRD FLIGHT DIVERTER YELLOW 7/8"" -15/16"" (.859-.942)  Details 1/2"" diameter Rod 16 1/2"" Overall Length"  $ 18.62 
C40091004 "BAND-IT BAND 201 S.S. .030"" X 1/2"" X 100 FEET C204"  $ 110.27 
C40091006 "BAND-IT BAND   201 SS .030"" X 3/4"" X 100 FT C206"  $ 193.50 
C40092004 "BAND-IT BUCKLES100/PK FOR 1/2"" BAND C254"  $ 92.19 
C40092006 "BAND-IT BUCKLES100/PK FOR 3/4"" BAND C256"  $ 136.46 
C40094002 "THREADED ROD ASSY 5/8"" X 18"" A36 - (1) ROD (4) NUTS (4) LW"  $ 8.41 
C40094004 "THREADED ROD ASSY  5/8"" X 24"" A36 - (1) ROD (4) NUTS (4) LW"  $ 7.78 
C40094005 "THREADED ROD ASSY 5/8"" X 28.5"" A36 - (1) ROD (4) NUTS (4) LW"  $ 12.44 
C40094104 "THREADED ROD ASSY 3/4"" X 24"" A36 - (1) ROD (3) NUTS (3) LW"  $ 9.11 
C40098001 "GUY MARKER ORANGE 9"" DIA - FITS 1/4"" TO 1"" OD"  $ 125.04 
C40098003 "GUY MARKER ORANGE 20"" DIA - FITS 1/4"" TO 1"" OD"  $ 227.81 
C40099001 "THREADED ROD ASSY 5/8""-11 X 8"" A193 B-7"  $ 5.47 
C40099002 "THREADED ROD ASSY 5/8""-11 X 12"" A193 B-7"  $ 7.50 
C40099003 "THREADED ROD ASSY 5/8""-11 X 18"" A193 B-7"  $ 8.65 
C40099004 "THREADED ROD ASSY 5/8""-11 X 26"" A193 B-7"  $ 12.31 
C40099005 "THREADED ROD ASSY 5/8""-11 X 9"" A193 B-7"  $ 6.10 
C40100010 "GUY CABLE HARDWARE KIT FOR 5/16"" DIA EHS GUY STRAND"  $ 51.76 
C40100011 "GUY CABLE HARDWARE KIT FOR 3/8"" DIA EHS GUY STRAND"  $ 59.71 
C40100012 "GUY CABLE HARDWARE KIT FOR 7/16"" DIA EHS GUY STRAND"  $ 68.48 

�24



C40100013 "GUY CABLE HARDWARE KIT FOR 1/2"" DIA EHS GUY STRAND"  $ 105.15 
C40100014 "GUY CABLE HARDWARE KIT FOR 9/16"" DIA EHS GUY STRAND"  $ 138.41 
C40100015 "GUY CABLE HARDWARE KIT FOR 5/8"" DIA EHS GUY STRAND"  $ 198.05 
C40100016 "GUY CABLE HARDWARE KIT FOR 3/4"" DIA EHS GUY STRAND"  $ 346.00 
C40100017 "GUY CABLE HARDWARE KIT FOR 7/8"" DIA EHS GUY STRAND"  $ 643.81 
C40100018 "GUY CABLE HARDWARE KIT FOR 1"" DIA EHS GUY STRAND"  $ 1,074.96 
C40100019 "GUY CABLE HARDWARE KIT FOR 1/4"" DIA EHS GUY STRAND"  $ 36.43 
C40100020 "GUY CABLE HARDWARE KIT FOR 3/16"" DIA EHS GUY STRAND"  $ 32.48 
C40100030 "GUY CABLE HARDWARE KIT FOR11/16"" DIA EHS GUY STRAND FOR 1-1 1/4"" A PL 1 1/4"" G LUG"  $ 458.07 
C40100110 "GUY CABLE HARDWARE KIT FOR 5/16"" DIA EHS GUY STRAND"  $ 46.72 
C40100111 "GUY CABLE HARDWARE KIT FOR 3/8"" DIA EHS GUY STRAND"  $ 54.68 
C40100119 "GUY CABLE HARDWARE KIT FOR 1/4"" DIA EHS GUY STRAND"  $ 31.40 
C40101001 "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-4"" ANGLE 20' LADDER"  $ 22.58 
C40101004DP "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-6"" ANGLE 20' LADDER"  $ 22.65 
C40101005 "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-6"" ANGLE 5'-10' LADDER"  $ 12.00 
C40101005DP "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-6"" ANGLE 5'-10' LADDER"  $ 12.00 
C40101008 "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-3"" ROUND 20' LADDER"  $ 38.60 
C40101021DP "LADDER ATTACHMENT HARDWARE KIT 3/4""-4 1/2"" OD 5' & 10' LADDER 1"" - 4"" ANGLE"  $ 22.97 
C40101022 "LADDER ATTACHMENT HARDWARE KIT 3/4""-4 1/2"" OD 20' LADDER 1"" - 4"" ANGLE"  $ 40.43 
C40108001 "LADDER ATTACHMENT HARDWARE KIT 1 1/2""-3"" ANGLE 1 1/4"" SINGLE RAIL"  $ 14.17 
C40108002 "LADDER ATTACHMENT HARDWARE KIT 3 1/2""-6"" ANGLE 1 1/4"" SINGLE RAIL"  $ 17.08 
C40110001 "U-BOLT BACK UP PLATE 1/2"" X 1 1/2"" X 4 15/16""  (9/16"" HOLE  FOR 2 1/4 & 2 3/8)"  $ 6.38 
C40114001 "WEATHERPROOF ENCLOSURE 1/2"" TO ANTENNA CONNECTION"  $ 34.75 
C40114002 "WEATHERPROOF ENCLOSURE 1/2"" TO 7/8"" CONNECTION"  $ 43.62 
C40114003 "WEATHERPROOF ENCLOSURE 1/2"" TO 1 1/4"" CONNECTION"  $ 57.54 
C40114004 "WEATHERPROOF ENCLOSURE 1/2"" TO 1 5/8"" CONNECTION"  $ 40.92 
C40126019 "BOLT, 5/8""-11 X 1 1/4"" (FULL THD) A325 HDG"  $ 1.01 
C40132002 BOLT ASSEMBLY AJAX M20 X 95MM  $ 18.10 
C40134005 "COTTER PIN 3/16"" X 2"" SS"  $ 0.46 
C40140001 "BOLT ASSEMBLY A307 3/4""-10 X 10"" (6"" OR FULL THD) HDG"  $ 4.80 
C40140002 "BOLT ASSEMBLY A307 3/4""-10 X 15"" (9"" THD) HDG BOLT-HEX NUT-LOCK & FLATWASHER"  $ 25.69 
C40140004 "BOLT ASSEMBLY A307 5/8""-11 X 8"" (FULL THD) HDG"  $ 7.44 
C40140005 "BOLT ASSEMBLY A307 3/4""-10 X 10"" (FULL THD) HDG"  $ 5.38 
C40204100 "CROSSOVER CLAMP  (90 DEG)  HVY 1.5"" & 2"" NOMINAL PIPE SIZE 1 7/8"" OD & 2 3/8"" OD PIPE"  $ 12.60 
C40204101 "CROSSOVER CLAMP  (90 DEG)  HVY 1.5"" & 2.5"" NOMINAL PIPE SIZE 1.9"" OD X 2 7/8"" OD PIPE"  $ 80.00 
C40204112 "CROSSOVER CLAMP  (90 DEG)  HVY 2"" & 2"" NOMINAL PIPE SIZE 2 3/8"" OD & 2 3/8"" OD PIPE"  $ 22.07 
C40207001 "CROSSOVER CLAMP 2"" NOMINAL PIPE 3 X 3 SQ TUBE 2 3/8"" OD PIPE - 3 X 3 SQ TUBE"  $ 26.56 
C40998007 "SQ HD SET SCREW 5/8"" X 2 1/2"""  $ 1.33 
C40998090 "CARRIAGE BOLT ASSEMBLY SN 5/8"" X 2"" (1 1/2"" THD) SHORT NECK"  $ 2.19 
C40998142 "STUD DOUBLE END 2 1/4-4 1/2 X 4'-6""  A449 AB HDG (12"" THD EACH END) E/W 1 DH NUT 2 JAM NUTS 1 SQ PLATE 1"" THK  1 F/W 1/4"" THICK"  $ 344.12 
C40998143 "BOLT ASSEMBLY7/8-9 X 1'-0""  A449 HEAVY HEAD HDG (5 1/2"" THD) E/W 1 DH HEAVY NUT 2 JAM NUTS 1 SQ PLATE 1/4"" THK  1 SQ PLATE 7/8"" THK"  $ 113.97 
C40998147 "ANCHOR BOLT ONLY 3/4 X 5'-3"" (6""THD ONE END) A36 3/4"" DIA X 6'-3 18"""  $ 37.38 
C40999027 "BOLT ASSEMBLY A490 7/8""-9 X 2 1/2"" (1"" THD) (BLACK)"  $ 3.95 
C50011001 PAINT MITT  $ 11.20 
C50067101 DBI HARNESS TOOL BAG - 11 POCKETS  $ 71.16 
C50067102 DBI HARNESS TOOL BAG - 15 POCKETS  $ 69.01 
C50067103 "CANVAS UTILITY BAG - 9"" X 10"" X 5"""  $ 43.15 
C50067104 "CANVAS UTILITY BAG - 10"" X 12"" X 5"""  $ 46.68 
C50067105 "CANVAS UTILITY BAG - 14"" X 6"" X 14"""  $ 87.71 
C50067106 "CANVAS UTILITY BAG, CAMO - 14"" X 6"" X 14"""  $ 90.48 
C50067107 "CANVAS BOLT BAG - 5"" X 9"" X 10"""  $ 20.74 
C50067108 "NYLON EQUIPMENT BAG - 24"" X 10"" X 18"""  $ 165.62 
C50067109 "LEATHER BOTTOM BUCKET - 12"" X 12"" X 17"""  $ 104.46 
C50082001 "BANDING TENSIONER 1/2"" to 3/4"""  $ 318.53 
C50083001 "BANDING CRIMPER 1/2"""  $ 188.60 
C50083002 "BANDING CRIMPER 3/4"""  $ 210.38 
C50090010 BAND-IT TOOL C001 2400+ LBS. TENSION CAPABILTY  $ 173.15 
C50100013 "CLEAT BOX E/W CLEAT 9"""  $ 206.70 
C50100025 "RETAINER RING ASSEMBLY 36"""  $ 268.14 
C50100104 FLAG NYLON U.S. 12' X 18' U.S. FLAG  $ 393.28 

�25



CS00004 "CABLE GUIDE SUPPORT 5 X 3 X 1/4 X 0'-6 1/8"" FITS 2"" TO 3"" OD"  $ 10.97 
CS00005 "CABLE GUIDE SUPPORT 5 X 3 X 1/4 X 0'-7 3/8"" FITS 3-1/4"" TO 4-1/4"" OD"  $ 13.45 
CS00006 "CABLE GUIDE SUPPORT 4-1/2"" TO 5"" OD"  $ 14.85 
CS00007 "CABLE GUIDE SUPPORT 5 X 3 X 1/4 X 0'-9 3/4"" FITS 5-1/4"" TO 6-5/8"" OD"  $ 16.46 
CS00008 "CABLE GUIDE SUPPORT 8-5/8"" & 12-3/4"" OD LEG"  $ 22.62 
CS00015 "BRACKET OB LIGHT MOUNT 1/4 X 2 X 1'-9 1/4"" FITS 1-1/2"" TO 5"" OD"  $ 63.97 
CS00016 "BRACKET OB LIGHT MOUNT 1/4 X 2 X 2'-0 3/4"" FITS 5-1/2"" TO 8 5/8"""  $ 27.78 
CS00017 "PIPE ADAPTER CLAMP 1/2 X 4 X 0'-8 7/8"" 4 HOLE 1-1/2"" TO 5"" OD"  $ 13.81 
CS00018 "PIPE ADAPTER CLAMP 1/2 X 4 X 1'-2 15/16"" 4 HOLE 4"" TO 10-3/4"" OD"  $ 20.92 
CS00023 "BACK UP 3/8 X 7 1/4 X 0'-7 1/4"""  $ 54.68 
CS00024 "BACK UP 3/8 X 2 1/2 X 0'-7 1/4"""  $ 46.43 
CS00029 "BENT STANDOFF ARM 30 DEG 3/8 X 9 X 1'-8 5/16"""  $ 52.00 
CS00030 "BENT STANDOFF ARM 90 DEG 3/8 X 9 X 2'-11 1/4"""  $ 69.95 
CS00031 "WALL PIPE MOUNT 6 X 6 X 3/8 X 0'-9"""  $ 28.39 
CS00032 "WALL MOUNT 6 X 4 X 3/8 X 1'-1 1/2"""  $ 38.21 
CS00037 "BACK UP SPLICE 1/4 X 1 1/2 X 0'-3 1/2"""  $ 0.89 
CS00038 "CROSSOVER 3/8 X 15 1/2 X 1'3 1/2"""  $ 54.58 
CS00044 "ANTENNA MOUNTING 1.9 X .145 X 2'-0"" 1 1/2"" NOMINAL SIZE - SCH 40"  $ 12.97 
CS00053 "WAVEGUIDE BRIDGE SUPPORT 6 X 4 X 3/8 X 3'-2 3/4"" 4 POST BRIDGE"  $ 79.79 
CS00067 "BOOM SUPPORT 6 X 6 X 3/8 X 0'-8 3/4"" FITS 1-1/2"" TO 5"" OD"  $ 56.00 
CS00068 "WG BRIDGE SPLICE 1/4 X 1 1/2 X 1'-6"""  $ 4.89 
CS00071 "PIPE CROSSOVER 3/8 X 7 X 0'-10 3/8"" 2-3/8""OD - 3-1/2""OD"  $ 16.31 
CS00072 "PIPE CROSSOVER 3/8 X 7 X 0'-11 1/2"" 2-3/8""OD - 4-1/2""OD"  $ 18.39 
CS00077 "PIPE CROSSOVER 3/8 X 8 1/4 X 0'-11 1/2"" 3-1/2""OD - 4-1/2""OD"  $ 28.74 
CS00078 "PIPE CROSSOVER 3/8 X 9 1/4 X 0'-11 1/2"" 4-1/2""OD - 4-1/2""OD"  $ 9.52 
CS00079 "TIEBACK STRUT 3 X 3 X 1/4 X 2'-2 1/4"""  $ 22.41 
CS00080 "WALL MOUNT 6 X 3 1/2 X 3/8 X 2'-0"""  $ 41.91 
CS00081 "WALL MOUNT 6 X 3 1/2 X 3/8 X 0'-11 1/2"""  $ 25.28 
CS00082 "PIPE MOUNT 6 X 3 1/2 X 3/8 X 0'-5 7/8"""  $ 16.09 
CS00083 "FORMED CHANNEL 11 GA X 7 X 1'-6"""  $ 33.42 
CS00084 "BACK UP 2 X 2 X 3/16 X 1'-6"""  $ 10.00 
CS00085 "CLIP 3 X 3 X 1/4 X 0'-2"""  $ 5.18 
CS00086 "HORIZONTAL 2 X 2 X 3/16 X 1'-9 3/4"""  $ 11.85 
CS00087 "DIAGONAL 2 X 2 X 3/16 X 2'-5 3/4"""  $ 14.12 
CS00088 "ICE COVER 3.0# X 15 7/8 X 2'2 1/2"""  $ 58.65 
CS00090 "TIEBACK 2 7/8 X .203 X 20'-0"""  $ 204.77 
CS00091 "TIEBACK 6 X 4 X 3/8 X 0'-10"" FITS 1-1/2"" TO 5"" OD"  $ 19.42 
CS00092 "COLLAR 3 1/2 X .216 X 0'-1 3/4"""  $ 7.86 
CS00096 "BENT 3/8 X 2 1/2 X 0'-10 5/16"""  $ 22.55 
CS00097 "COLLAR 2 7/8 X .203 X 0'-1 3/4"""  $ 3.16 
CS00098 "BENT 3/8 X 2 1/2 X 0'-9 7/8"""  $ 21.47 
CS00108 "BENT PLATE 3/16 X 1 3/4 X 0'-7 1/4"""  $ 1.01 
CS00144 "PIPE ADAPTER CLAMP 1/2 X 2 X 0'-8 7/8"" 2 HOLE 1-1/2"" TO 5"" OD"  $ 5.11 
CS00145 "PIPE ADAPTER CLAMP 1/2 X 2 X 1'-2 15/16"" 2 HOLE 4"" TO 10-3/4""OD"  $ 10.70 
CS00146 "WG LADDER RAIL 20' 1 3/4 X 1 3/4 X 1/8 X 20'-0"" 4'-0"" SPACING (5 RUNG)"  $ 61.11 
CS00149 "WG LADDER RAIL 5' 1 3/4 X 1 3/4 X 1/8 X 5'-0"" 3'-0"" SPACING (2 RUNG)"  $ 26.48 
CS00150 "WG SUPPORT RUNG 1 3/4 X 1 3/4 X 1/8 X1'-9 1/8"" (8) 3/4"" & (8) 7/16"" HOLES"  $ 6.32 
CS00151 "WAVEGUIDE SUPPORT RUNG 1 3/4 X 1 3/4 X 1/8 X 2'-6 1/8"" (12) 3/4"" & (12) 7/16"" HOLES"  $ 9.54 
CS00152 "WG SUPPORT 1/8 X 1 3/4 X 1'-5 5/8"" (8) 3/4"" & (8) 7/16"" HOLES"  $ 2.55 
CS00153 "WG SUPPORT 1/8 X 1 3/4 X 2'-2 5/8"" (12) 3/4"" & (12) 7/16"" HOLES"  $ 9.54 
CS00154 "SPACER 1.05 X .113 X 0'-5"""  $ 1.26 
CS00155 "ICE SHIELD SUPPORT 3 X 3 X 1-4 X 7'-0"""  $ 68.02 
CS00156 "ICE SHEILD MOUNT 3/8 X 14 3/4 X 1'-4 1/2"""  $ 57.11 
CS00158 "ICE SHIELD BACKUP 1/4 X 2 X 1'-4"""  $ 4.51 
CS00160 "SUPPORT ICE SHIELD 3 X 3 X 1/4 X 4'-11 3/4"""  $ 70.22 
CS00162 "TIEBACK ICE SHIELD 3 X 3 X 1/4 X 1'-2 1/4"" FITS 4"" TO 10 3/4"" OD"  $ 20.24 
CS00164 "LEG ADAPTER MC6 X 12# X 1'-2 1/4"""  $ 38.19 
CS00167 "BACKUP PLATE 1/4 X 4 X 0'-5 3/4"" SAFETY CLIMB BACKUP PLATE"  $ 3.68 
CS00169 "J CLIP LADDER ATTACHMENT 3/16 X 1 1/2 X 0'-6 15/16"" FITS 1-1/2"" TO 4"" ANGLE"  $ 1.37 
CS00170 "J CLIP LADDER ATTACHMENT 3/16 X 1 1/2 X 0'-8 9/16"" FOR 5"" TO 6"" ANGLE"  $ 1.76 

�26



CS00171 "J CLIP LADDER ATTACHMENT 3/16 X 1 1/2 X 0'-8 13/16"" FITS 1-1/2"" TO 6"" ANGLE"  $ 1.85 
CS00209 "BEACON MOUNT 1/4 X 12 X 1'-0"" (4) 13/16"" HOLES ON 6-1/8"" BC"  $ 23.66 
CS00214 "PIPE MOUNT 6 X 6 X 1/2 X 0'-8 3/4"" FITS 1-1/4"" OD TO 5"" OD"  $ 36.22 
CS00215 "LEG MOUNT 6 X 4 X 1/2 X 0'-8 3/4' FITS 1-1/4"" OD TO 5"" OD"  $ 28.60 
CS00216 "LEG MOUNT 1/2 X 8 3/4 X 0'-11 1/16"" FIT 1-1/4"" OD TO 5"" OD"  $ 35.93 
CS00217 "LEG MOUNT 8 X 6 X 1/2 X 0'-8 3/4"" FIT 1-1/4"" OD TO 5"" OD"  $ 45.76 
CS00218 "LEG MOUNT 6 X 6 X 1/2 X 1'-0"" FIT 5"" OD TO 8-5/8"" OD"  $ 46.58 
CS00219 "LEG MOUNT 8 X 6 X 1/2 X 1'-0"" FIT 1-1/4"" OD TO 5"" OD"  $ 56.15 
CS00222 "PIPE MOUNT 8 X 6 X 1/2 X 0'-8 3/4"" FIT 1-1/4"" OD TO 5"" OD"  $ 50.80 
CS00249 "TIEBACK STIFFARM 2 7/8 X .203 X 15'-6"" FOR 2-7/8"" STIFFARM"  $ 246.91 
CS00331 "W/G LADDER RAIL 20' 1 3/4 X 1 3/4 X 1/8 X 20'-0"" THREE FOOT RUNG SPACING"  $ 46.60 
CS00333 "LADDER BACKUP PLATE 1/4 X 2 X 0'-5 1/2"" FOR 1-1/2"" TO 3"" ROUNDS"  $ 3.97 
CS00334 "LADDER BACKUP PLATE 1/4 X 2 X 0'-7""  Usage Information For 3"" to 4 1/2"" OD"  $ 2.51 
CS00427 "CROSSOVER PLATE 1/2"" HWD 1/4 X 10 X 0'-10"" 1-1/2"" TO 5"" ANGLES & ROUND"  $ 18.05 
CS00428 "CROSSOVER PLATE 5/8"" HWD 1/4 X 10 X 0'-10"" 1-1/2"" TO 5"" ANGLE & ROUNDS"  $ 17.71 
CS00467 "STABILIZER HORIZOTAL C12 X 20.7# X 4'-1 5/8"""  $ 494.49 
CS00499 "STIFFARM TUBE 4 X 4 X 1/4 X 23'-0"""  $ 502.32 
CS00502 "STIFFARM PLATE 3/8 X 6 X 1'-0"""  $ 20.63 
CS00514 "STIFFARM TUBE 3 1/2 X 3 1/2 X 3/16 X 9'-0"""  $ 149.06 
CS00515 "STIFFARM TUBE 3 1/2 X 3 1/2 X 3/16 X 11'-0"""  $ 189.86 
CS00516 "STIFFARM TUBE 3 1/2 X 3 1/2 X 3/16 X 13'-0"""  $ 223.40 
CS00517 "STIFFARM TUBE 4 X 4 X 1/4 X 15'-0"""  $ 382.00 
CS00518 "STIFFARM TUBE 4 X 4 X 1/4 X 17'-0"""  $ 470.36 
CS00519 "STIFFARM TUBE 4 X 4 X 1/4 X 19'-0"""  $ 412.97 
CS00544 "PIPE ATTACHMENT 3/8 X 12 X 0'-8 1/2"" 4-1/2"" OD - 4"" X 4"" TS"  $ 64.74 
CS00601 "STIFFARM TUBE 4 X 4 X 1/4 X 21'-0"""  $ 563.98 
CS00675 "LIGHTNING ROD STIFFENER 3/8 X 3 X 1'-4 5/8"" FOR 5/8"" LIGHTNING ROD"  $ 22.12 
CS00679 "DRAIN 3/8 X 5 1/4 X 0'-5 27/32"" TRIANGULAR (3) 9/16"" - 5"" B-C"  $ 10.96 
CS00680 "STIFFARM MOUNT 5 X 5 X 3/8 X 1'-10"" 1 1/4 TO 5 OD-3.5X3.5 & 4X4 TS"  $ 61.45 
CS00681 "STIFFARM MOUNT 5 X 5 X 3/8 X 1'-10"" 1 1/4 TO 5 OD-3.5X3.5 & 4X4 TS"  $ 61.45 
CS00690 "STIFFARM MOUNT 5 X 5 X 3/8 X 2'-2 3/4"" 5 1/4TO8 5/8OD-3.5X3.5 & 4X4TS"  $ 62.85 
CS00691 "STIFFARM MOUNT 5 X 5 X 3/8 X 2'-2 3/4"" 5 1/4TO8 5/8OD-3.5X3.5 & 4X4TS"  $ 74.79 
CS00730 "SIDEARM 3 FOOT 1 3/4 X 1 3/4 X 3/16 X 5'-2 1/2"" FOR 1200 & 1800 TOWER"  $ 35.44 
CS00748 "ANCHOR HEAD 4 HOLE 1/2 X 5 3/4 X 0'-8 1/4"""  $ 29.49 
CS00758 "FLOOR 12' LP SQ PLATF C6 X 8.2# X 12'-5 1/2"" 12' SQ PLATF 12"" TO 18"" POLE"  $ 341.91 
CS00759 "BENT END PLATE 1/2 X 12 3/16 X 2'-6 1/8"" 12' SQ PLATF 12"" TO 18"" POLE"  $ 153.40 
CS00760 "BENT TIE PLATE 1/2 X 4 1/2 X 2'-1 3/4"" 12' SQ PLATF 12"" TO 18"" POLE"  $ 111.42 
CS00761 "LP PLATFORM 1 X 1/8 X 36 X 12'-5 1/2"" 12' SQ PLATF 12"" TO 18"" POLE"  $ 1,020.72 
CS00762 "GRATING SUPPORT 2 1/2 X 2 1/2 X 3/16 X 5'-7 1/4"" 12' SQ PLATF 12"" TO 18"" POLE"  $ 52.70 
CS00780 "HANDRAIL PLATE 3/8 X 6 X 2'-4 1/2"""  $ 38.09 
CS00795 "SAFETY CLIMB GUIDE SUP 5 X 3 X 1/4 X 0'-2 1/2"""  $ 4.48 
CS00876 "STIFFARM MOUNT 5 X 5 X 3/8 X 2'-4 1/8"" 10-3/4"" OD - 4"" X 4"" TS"  $ 60.00 
CS00925 "STIFFARM PLATE 3/8 X 6 X 1'-1"""  $ 30.58 
CS00946 "BACKUP 1/2 X 4 1/4 X 0'-9 1/2"""  $ 11.95 
CS00956 "CABLE GUIDE SUPPORT 5 X 3 X 1/4 X 0'-6 1/8"" FITS 1"" TO 2"" OD"  $ 92.20 
CS01034 "HANDRAIL 2 1/2 X 2 1/2 X 3/16 X 12'-5 1/2"""  $ 243.25 
CS01067 "FACE MOUNT 5 X 5 X 3/16 X 25'-0"""  $ 645.26 
CS01090 "HANDRAIL SUPPORT 4 X 3 X 1/4 X 2'-8"""  $ 34.05 
CS01360 "MOUNTING BRACKET 1/4 X 7 3/16 X 1'-1 3/4"""  $ 20.32 
CS01427 "PIPE MOUNT 6 X 4 X 1/2 X 0'-9"""  $ 24.39 
CS01428 "PIPE MOUNT 6 X 4 X 1/2 X 0'-9"""  $ 23.81 
CS01476 "MOUNTING BRACKET 6 X 4 X 3/8 X 1'-3 3/4"""  $ 33.06 
CS01477 "MOUNTING BRACKET 6 X 4 X 3/8 X 1'-3 3/4"""  $ 38.24 
CS01491 "BACK-UP PLATE 1/2 X 2 X 0'-8 5/8"""  $ 8.00 
CS01498 "PIPE ADAPTER CLAMP 4 HOLE 1/2 X 4 X 0'-11 5/8"""  $ 27.37 
CS01532 "PLATFORM SPLICE 1/2 X 2 X 1'-4 5/16"""  $ 13.91 
CS01533 "HANDRAIL SUPPORT 3/8 X 4 3/4 X 2'-3 3/8"""  $ 38.22 
CS01565 "PIVOTING T-FRAME CONNECTION 1/2 X 3 X 1'-9 1/2"""  $ 24.43 
CS01570 "TRI-POD PLATE 3/16 X 3 X 0'-9 11/16"""  $ 15.11 
CS01571 "TRI-POD FLAT 3/16 X 1 1/2 X 3'-1 7/8"""  $ 21.45 

�27



CS01572 "TRI-POD PLATE 3/16 X 6 1/4 X 1'-9 5/8"""  $ 23.30 
CS01573 "TRI-POD PLATE 3/16 X 11 1/4 X 1'-0 13/16"""  $ 24.14 
CS01585 "STABILIZER HORIZONTAL C15 X 33.9# X 7'-2 5/16"""  $ 967.88 
CS01612 "WAVEGUIDE SUPPORT 1/8 X 3 25/32 X 1'-10 1/2"""  $ 7.50 
CS01637 "SECTOR FRAME 10' FRONT FACE 3 X 3 X 1/4 X 10'-6"""  $ 132.41 
CS01638 "SECTOR FRAME VERTICAL 2 1/2 X 2 1/2 X 1/4 X 2'-10 1/4"""  $ 26.91 
CS01639 "SECTOR FRAME DIAGONAL 2 X 2 X 1/4 X 4'-9 7/8"""  $ 36.46 
CS01640 "SECTOR FRAME TIE-BACK 2 X 2 X 1/4 X 5'-10 3/4"""  $ 44.58 
CS01645 "HANDRAIL PIPE MOUNT 3/8 X 6 X 1'-2 11/32"""  $ 28.92 
CS01646 "HANDRAIL PIPE MOUNT 3/8 X 6 X 1'-2 21/32"""  $ 27.66 
CS01708 "WAVEGUIDE SUPPORT RUNG 12 HOLE 1/8 X 4 5/32 X 2'-6 1/4"""  $ 18.32 
CS01709 "WAVEGUIDE SUPPORT RUNG 6 HOLE 1/8 X 2 29/32 X 1'-3 1/4"""  $ 3.06 
CS01710 "SPLICE PLATE 1/4 X 1 1/2 X 0'-4 1/4"""  $ 1.54 
CS01749 "BACKUP PLATE 3/8 X 2 1/2 X 0'-7"""  $ 7.58 
CS01750 "BACKUP PLATE 3/8 X 2 1/2 X 0'-9 1/2"""  $ 8.15 
CS01754 "BAR GRATING 1 X 3/16 X 24 X 8'-0"""  $ 607.79 
CS01757 "STRUT 1 5/8 X 1 5/8 X 10'-0"" E/W SLOTS"  $ 49.30 
CS01763 "BAR GRATING STAIR TREAD 2 1/2 X 8 9/16 X 2'-6"""  $ 129.61 
CS01851 "BEACON EXTN PIPE SUPPORT 4 X 4 X 1/4 X 1'-8 1/8"""  $ 30.05 
CS01854 "STANDOFF SADDLE CLAMP 3/8 X 11 1/2 X 1'-0"""  $ 33.62 
CS01855 "SEPARATION KIT          2 FOOT 3/8 X 6 5/8 X 2'-8 1/2"""  $ 56.15 
CS01886 "BTS SIDE 4 FOOT 3 X 3 X 1/4 X 3'-11 3/4"""  $ 47.73 
CS01888 "BTS SIDE 6 FOOT 3 X 3 X 1/4 X 5'-11 3/4"""  $ 73.08 
CS01890 "BTS SIDE 8 FOOT 3 X 3 X 1/4 X 7'-11 3/4"""  $ 98.43 
CS01893 "BTS CENTER 4 FOOT 3 X 3 X 1/4 X 3'-5 7/16"""  $ 41.49 
CS01896 "BTS FLOOR 2 FOOT X 7 FOOT 1 X 3/16 X 24 X 6'-0"""  $ 237.28 
CS01902 "BTS FLOOR 3 FOOT X 8 FOOT 1 X 3/16 X 36 X 8'-0"""  $ 455.98 
CS01906 "T-BOOM ADAPTER 1/2 X 10 X 0'-8 1/16"""  $ 25.50 
CS01907 "T-BOOM CONNECTION 1/2 X 5 1/2 X 1'-2 5/32"""  $ 27.23 
CS01908 "T-BOOM CONNECTION 1/2 X 5 X 1'-1 1/2"""  $ 25.08 
CS01909 "TIEBACK SUPPORT 1/4 X 6 1/2 X 0'-9"""  $ 13.11 
CS01910 "TIEBACK STIFFARM 1.9 X .120 X 10'-0"""  $ 41.64 
CS01912 "PIVOTING T-FRAME CONNECTION 1/2 X 5 3/4 X 1'-1 1/2"""  $ 25.91 
CS01925 "ICE SHIELD TIE BACK 3 X 3 X 1/4 X 0'-8 5/8"""  $ 11.69 
CS01926 "ICE SHIELD HANGER 6 X 4 X 3/8 X 1'-5 1/2"""  $ 30.43 
CS01929 "BTS CENTER 6 FOOT 3 X 3 X 1/4 X 5'-5 7/16"""  $ 65.68 
CS01991 "10' WG LADDER RAIL 1 1/4 X 1 1/4 X .135 X 10'-0"" 3 RUNGS-4'-0"" SPACING"  $ 77.68 
CS01992 "20' WG LADDER RAIL 1 1/4 X 1 1/4 X .135 X 20'-0"" 5 RUNGS-4'-0"" SPACING"  $ 125.44 
CS01993 "FACE MOUNT SUPPORT TOP 5 X 5 X 3/8 X 2'-3 3/4"" 1.5"" - 8.625"" OD 3.5"" - 4"" TS"  $ 59.74 
CS01994 "FACE MOUNT SUPPORT TOP 5 X 5 X 3/8 X 2'-2"" 1.5"" - 8.625"" OD 3.5"" - 4"" TS"  $ 55.59 
CS01998 "MOUNTING BRACKET 1/4 X 5 3/16 X 0'-8 1/2"""  $ 9.71 
CS02019 "WAVEGUIDE BRIDGE 3 X 3 X 1/4 X 3'-0"""  $ 46.79 
CS02020 "WAVEGUIDE BRIDGE 3 X 3 X 1/4 X 6'-0"""  $ 95.59 
CS02089 "TIEBACK STIFFARM 2 3/8 X .145 X 13'-3"""  $ 72.36 
CS02099 "TIEBACK STIFFARM 2 3/8 X .145 X 10'-0"""  $ 55.66 
CS02173 "STANDOFF 3/16 X 1 1/2 X 0'-5 19/32"""  $ 4.46 
CS02174 "STANDOFF 3/16 X 4 X 0'-5 19/32"""  $ 9.69 
CS02175 "TOOL 1/8 X 1 X 3'-11 7/8"""  $ 3.06 
CS02176 "FORMED WAVEGUIDE HANGER 1/8 X 2 1/2 X 3'-1 3/8"""  $ 25.37 
CS02177 "WAVEGUIDE COVER 18 GA X 29 5 15/16 X 8'-0"""  $ 320.79 
CS02223 "STIFFENER 8 X 2 X 3/16 X 2'-5 1/8"""  $ 110.29 
CS02229 "PIPE 1.9 X .148 X 12'-6"""  $ 45.08 
CS02230 "PIPE 1.9 X .148 X 10'-6"""  $ 40.68 
CS02231 "PIPE 1.9 X .148 X 8'-6"""  $ 59.20 
CS02249 "WAVEGUIDE BRIDGE 4 X 4 X 1/4 X 10'-0"""  $ 113.06 
CS02264 "UNISTRUT 12 GA  1 5/8 X 1 5/8 X 10'-0"" 3/4"" HOLES & 7/16"" X 1 1/8"" SLOTS"  $ 51.40 
CS02265 UNISTRUT END CAPS 1 5/8  $ 4.22 
CS02319 "SADDLE CLAMP 1/2 X 1 1/2 X 0'-6 7/32"""  $ 7.09 
CS02320 "WALL MOUNT 3/16 X 7 27/32 X 1'-2 1/2"""  $ 16.00 
CS02321 CROSSOVER PLATE 3/8 X 10 X 0'-7 5/8  $ 25.59 

�28



CS02322 "ICE SHIELD DIAGONAL 3 X 3 X 1/4 X 9'-4"""  $ 79.56 
CS02323 "ICE SHIELD VERTICAL 3 X 3 X 1/4 X 4'-10"""  $ 48.27 
CS02324 "ICE SHIELD BOTTOM 3 X 3 X 1/4 X 7'-7 7/8"""  $ 72.62 
CS02325 "WAVEGUIDE SUPPORT RUNG 9 HOLE 12 GA X 3.346 X 1'-11.441"" (9) 3/4"" & (9) 7/16"" HOLES"  $ 11.93 
CS02363 "LEG ADAPTER, LARGE 1/4 X 8 15/32 X 1'-1 3/4"""  $ 40.79 
CS02448 ADAPTER 1/2 X 11 1/2 X 1'-4 5/32  $ 92.62 
CW00013 SWIVEL PLATE WELDMENT SWIVEL PLATE WELDMENT  $ 20.46 
CW00014 T-ARM WELDMENT T-ARM WELDMENT  $ 259.35 
CW00015 SUPPORT PIPE SUPPORT PIPE  $ 232.09 
CW00016 SUPPORT PIPE SUPPORT PIPE  $ 272.34 
CW00018 2' STANDOFF ARM WELDMENT 2' STANDOFF ARM WELDMENT  $ 116.55 
CW00019 "4' STANDOFF ARM WELDMENT 9 1/4 X 9 1/4 X 4'-0"""  $ 306.27 
CW00021 PIPE MOUNT WELDMENT PIPE MOUNT WELDMENT  $ 49.74 
CW00022 SWIVEL PLATE WELDMENT SWIVEL PLATE WELDMENT  $ 21.83 
CW00026 "WAVEGUIDE BRIDGE SUPPORT ARM 1'-0"" WIDE BRIDGE"  $ 22.58 
CW00027 WG BRIDGE SUPPORT ARM 2' CHNL WG BRIDGE SUPPORT ARM 2' CHNL  $ 28.87 
CW00028 "CLIMB LADDER WELDMENT 5'X12"" CLIMB LADDER WELDMENT 5'X12"""  $ 39.54 
CW00029 "CLIMB LADDER WELDMENT 10' X 12"" CLIMB LADDER WELDMENT 10'X12"""  $ 77.73 
CW00031 "CLIMB LADDER WELDMENT 20'X12"" CLIMB LADDER WELDMENT 20'X12"""  $ 156.80 
CW00032 LIGHTNING ROD EXTENSION 21' LIGHTNING ROD EXTENSION WL  $ 245.78 
CW00033 "LIGHTNING ROD EXTENSION 10'-6""LIGHTNING ROD EXTENSION"  $ 134.91 
CW00035 "WATER TOWER MOUNTING FOOT 3 3/8 X 7 X 0'-7"""  $ 19.71 
CW00043 "BEACON MOUNT 6 1/2 x 14 x 1'-5 3/8"""  $ 65.81 
CW00045 "BEACON ICE SHIELD 2 X 15 X 1'-5"""  $ 47.15 
CW00046 "WAVEGUIDE BRIDGE POST WELDMENT 6 X 6 X 10'-6"" 3-1/2"" OD X 10'-6"""  $ 197.20 
CW00047 "WAVEGUIDE BRIDGE POST WELDMENT 6 X 6 X 12'-0"" 3-1/2"" OD X 12' PIPE"  $ 374.15 
CW00048 "WAVEGUIDE BRIDGE POST WELDMENT 6 X 6 X 14'-0"" 3-1/2"" OD X 14' PIPE"  $ 248.48 
CW00232 "ROOF MOUNTED ANCHOR 5 1/2 X 6 3/4 X 0'-10"""  $ 90.48 
CW00236 "PLATFORM ARM 11 1/2 X 11 1/2 X 7'-9"""  $ 379.45 
CW00237 "FLOOR CHANNEL PLATFORM SQ 4 X 6 X 7'-7 5/8"""  $ 361.61 
CW00338 "WORK PLATFORM SUPPORT 4 1/4 X 9 1/2 X 3'-1 1/8"""  $ 87.78 
CW00442 "BEACON EXTENSION 7 X 7 X 4'-0"" (4) 13/16"" - 6-1/8"" B-C"  $ 134.65 
CW00480 "COLLAR MOUNT 11 1/2 X 8 1/4 X 1'-11 5/8"""  $ 201.20 
CW00481 "COLLAR MOUNT 11 1/2 X 13 3/16 X 3'-5"""  $ 373.30 
CW00484 "STANDOFF ARM 1' WELDMENT 11 1/2 X 11 1/2 X 1'-0 1/8"""  $ 132.27 
CW00491 "T-ARM 2'-0"" 11 1/2 X 18 X 2'-1 3/4"""  $ 365.69 
CW00492 "QUAD-COLLAR BRACKET 5 3/8 X 11 1/2 X 1'-7"""  $ 170.12 
CW00521 "T-BOOM MOUNT 6 X 11 1/2 X 5'-3"""  $ 186.75 
CW00525 "3' STANDOFF ARM 9 1/4 X 9 1/4 X 3'-0"""  $ 158.43 
CW00552 "PLATFORM ARM 11 1/2 X 11 1/2 X 5'-1 1/2"""  $ 213.42 
CW00560 "PLATFORM CORNER 5 1/2 X 67 3/8 X 7'-1"""  $ 633.35 
CW00569 "PLATFORM CORNER 5 1/2 X 77 3/4 X 8'-1"""  $ 803.15 
CW00587 "TRAPEZE 2 1/2 X 11 X 3'-0 1/4"""  $ 26.26 
CW00589 "CONNECTOR 2 X 4 1/2 X 0'-6"""  $ 7.20 
CW00667 "SQUARE T-ARM       3' STANDOFF 11 1/2 X 11 1/2 X 3'-0 3/8"""  $ 178.21 
CW00668 "T-ARM 3 1/2 X 12 X 10'-6"""  $ 245.37 
CW00677 "2 FOOT STANDOFF 8 3/8 X 26 X 3'-0"""  $ 92.15 
CW00692 "BEACON EXTENSION 16 X 20 3/16 X 15'-0"""  $ 423.95 
CW00694 "WAVEGUIDE BRIDGE POST 12 X 12 X 10'-5 7/8"""  $ 205.95 
CW00774 "T-ARM 6'-6"" 3 1/2 X 12 X 6'-6"""  $ 254.31 
CW00814 "CORNER BTS PLATFORM 3 3/4 X 6 3/8 X 0'-9 1/32"""  $ 43.45 
CW00899 "SUPPORT PIPE 3' FACE 5 1/4"" X 8"" X 4'-0"" 3-1/2"" OD X 4'-0"" PIPE"  $ 95.37 
CW00921 "WAVEGUIDE BRIDGE POST 5 X 10 X 10'-6 3/4"""  $ 174.39 
CW00925 "T-ARM 12 X 22 1/4 X 5'-7"""  $ 349.93 
CX-164026 "BOLT ASSEMBLY 5/8"" X 1 1/2"""  $ 1.90 
CX-165502 "J-BOLT ASSEMBLY 3/8"" X 5 1/2"""  $ 1.33 
CX-165503 "J-BOLT ASSEMBLY 3/8"" X 9 1/4"""  $ 1.79 
CX-606301 "WAVEGUIDE LADDER 20'-0"""  $ 303.61 
CX-693012 MOUNTING BRACKET  $ 7.49 
DEL-45HB12 "45 DEG HORIZONTAL BEND 12"" WIDE X 2"" TALL"  $ 18.92 

�29



DEL-45HB18 "45 DEG HORIZONTAL BEND 18"" WIDE X 2"" TALL"  $ 34.62 
DEL-45HB2 "45 DEG HORIZONTAL BEND 2"" WIDE X 2"" TALL"  $ 7.71 
DEL-45HB24 "45 DEG HORIZONTAL BEND 24"" WIDE X 2"" TALL"  $ 43.59 
DEL-45HB4 "45 DEG HORIZONTAL BEND 4"" WIDE X 2"" TALL"  $ 8.85 
DEL-45HB6 "45 DEG HORIZONTAL BEND 6"" WIDE X 2"" TALL"  $ 11.28 
DEL-45HB8 "45 DEG HORIZONTAL BEND 8"" WIDE X 2"" TALL"  $ 12.97 
DEL-90HB12 "90 DEG HORIZONTAL BEND 12"" WIDE X 2"" TALL"  $ 22.17 
DEL-90HB18 "90 DEG HORIZONTAL BEND 18"" WIDE X 2"" TALL"  $ 36.85 
DEL-90HB2 "90 DEG HORIZONTAL BEND 2"" WIDE X 2"" TALL"  $ 8.22 
DEL-90HB24 "90 DEG HORIZONTAL BEND 24"" WIDE X 2"" TALL"  $ 50.70 
DEL-90HB4 "90 DEG HORIZONTAL BEND 4"" WIDE X 2"" TALL"  $ 9.83 
DEL-90HB6 "90 DEG HORIZONTAL BEND 6"" WIDE X 2"" TALL"  $ 11.93 
DEL-90HB8 "90 DEG HORIZONTAL BEND 8"" WIDE X 2"" TALL"  $ 15.06 
DEL-BR12 "WALL MOUNT BRACKET 12"" WIDE TRAY"  $ 11.69 
DEL-BR18 "WALL MOUNT BRACKET 18"" WIDE TRAY"  $ 18.48 
DEL-BR2 "WALL MOUNT BRACKET 2"" WIDE TRAY"  $ 4.41 
DEL-BR24 "WALL MOUNT BRACKET 24"" WIDE TRAY"  $ 23.79 
DEL-BR4 "WALL MOUNT BRACKET 4"" WIDE TRAY"  $ 4.96 
DEL-BR6 "WALL MOUNT BRACKET 6"" WIDE TRAY"  $ 7.98 
DEL-BR8 "WALL MOUNT BRACKET 8"" WIDE TRAY"  $ 8.79 
DEL-C45HB12 "45 DEG HORIZONTAL BEND COVER 12"" WIDE"  $ 12.82 
DEL-C45HB18 "45 DEG HORIZONTAL BEND COVER 18"" WIDE"  $ 17.69 
DEL-C45HB2 "45 DEG HORIZONTAL BEND COVER 2"" WIDE"  $ 4.53 
DEL-C45HB24 "45 DEG HORIZONTAL BEND COVER 24"" WIDE"  $ 27.64 
DEL-C45HB4 "45 DEG HORIZONTAL BEND COVER 4"" WIDE"  $ 5.47 
DEL-C45HB6 "45 DEG HORIZONTAL BEND COVER 6"" WIDE"  $ 6.77 
DEL-C45HB8 "45 DEG HORIZONTAL BEND COVER 8"" WIDE"  $ 8.29 
DEL-C90HB12 "90 DEG HORIZONTAL BEND COVER 12"" WIDE"  $ 15.71 
DEL-C90HB18 "90 DEG HORIZONTAL BEND COVER 18"" WIDE"  $ 21.85 
DEL-C90HB2 "90 DEG HORIZONTAL BEND COVER 2"" WIDE"  $ 5.26 
DEL-C90HB24 "90 DEG HORIZONTAL BEND COVER 24"" WIDE"  $ 31.98 
DEL-C90HB4 "90 DEG HORIZONTAL BEND COVER 4"" WIDE"  $ 4.14 
DEL-C90HB6 "90 DEG HORIZONTAL BEND COVER 6"" WIDE"  $ 5.88 
DEL-C90HB8 "90 DEG HORIZONTAL BEND COVER 8"" WIDE"  $ 9.26 
DEL-CA12 "COMPLEMENTARY FITTING (SPLICE) 12"" WIDE X 8"" LONG X 2"" TALL"  $ 16.00 
DEL-CA18 "COMPLEMENTARY FITTING (SPLICE) 18"" WIDE X 8"" LONG X 2"" TALL"  $ 20.87 
DEL-CA2 "COMPLEMENTARY FITTING (SPLICE) 2"" WIDE X 8"" LONG X 2"" TALL"  $ 3.79 
DEL-CA24 "COMPLEMENTARY FITTING (SPLICE) 24"" WIDE X 8"" LONG X 2"" TALL"  $ 28.79 
DEL-CA4 "COMPLEMENTARY FITTING (SPLICE) 4"" WIDE X 8"" LONG X 2"" TALL"  $ 5.23 
DEL-CA6 "COMPLEMENTARY FITTING (SPLICE) 6"" WIDE X 8"" LONG X 2"" TALL"  $ 8.51 
DEL-CA8 "COMPLEMENTARY FITTING (SPLICE) 8"" WIDE X 8"" LONG X 2"" TALL"  $ 11.15 
DEL-CCA12 "COMPLEMENTARY ACCESSORY COVER 12"" WIDE (DEL-CCF12)"  $ 16.00 
DEL-CCA18 "COMPLEMENTARY ACCESSORY COVER 18"" WIDE (DEL-CCA18)"  $ 15.25 
DEL-CCA2 "COMPLEMENTARY ACCESSORY COVER 2"" WIDE (DEL-CCF2)"  $ 3.13 
DEL-CCA24 "COMPLEMENTARY ACCESSORY COVER 24"" WIDE (DEL-CCF24)"  $ 17.88 
DEL-CCA4 "COMPLEMENTARY ACCESSORY COVER 4"" WIDE (DEL-CCF4)"  $ 3.78 
DEL-CCA6 "COMPLEMENTARY ACCESSORY COVER 6"" WIDE   (DEL-CCF6)"  $ 5.45 
DEL-CCA8 "COMPLEMENTARY ACCESSORY COVER 8"" WIDE  (DEL-CCF8)"  $ 7.42 
DEL-CLD12 "LEFT DEVIATION COVER 12"" WIDE"  $ 11.93 
DEL-CLD18 "LEFT DEVIATION COVER 18"" WIDE"  $ 25.61 
DEL-CLD2 "LEFT DEVIATION COVER 2"" WIDE"  $ 1.97 
DEL-CLD24 "LEFT DEVIATION COVER 24"" WIDE"  $ 37.66 
DEL-CLD4 "LEFT DEVIATION COVER 4"" WIDE"  $ 3.35 
DEL-CLD6 "LEFT DEVIATION COVER 6"" WIDE"  $ 5.03 
DEL-CLD8 "LEFT DEVIATION COVER 8"" WIDE"  $ 6.97 
DEL-CRD12 "RIGHT DEVIATION COVER 12"" WIDE"  $ 11.93 
DEL-CRD18 "RIGHT DEVIATION COVER 18"" WIDE"  $ 25.61 
DEL-CRD2 "RIGHT DEVIATION COVER 2"" WIDE"  $ 1.97 
DEL-CRD24 "RIGHT DEVIATION COVER 24"" WIDE"  $ 37.62 
DEL-CRD4 "RIGHT DEVIATION COVER 4"" WIDE"  $ 3.35 

�30



DEL-CRD6 "RIGHT DEVIATION COVER 6"" WIDE"  $ 4.96 
DEL-CRD8 "RIGHT DEVIATION COVER 8"" WIDE"  $ 6.97 
DEL-CRFC12/8 "REDUCER COVER 12"" TO 8"""  $ 14.55 
DEL-CRFC18/12 "REDUCER COVER 18"" TO 12"""  $ 26.10 
DEL-CRFC24/18 "REDUCER COVER 24"" TO 18"""  $ 35.56 
DEL-CRFC4/2 "REDUCER COVER 4"" TO 2"""  $ 2.67 
DEL-CRFC6/4 "REDUCER COVER 6"" TO 4"""  $ 6.32 
DEL-CRFC8/6 "REDUCER COVER 8"" TO 6"""  $ 8.29 
DEL-CST12 "STRAIGHT CABLE TRAY COVER 12"" WIDE X 10' LONG"  $ 57.04 
DEL-CST18 "STRAIGHT CABLE TRAY COVER 18"" WIDE X 10' LONG"  $ 101.06 
DEL-CST2 "STRAIGHT CABLE TRAY COVER 2"" WIDE X 10' LONG"  $ 14.21 
DEL-CST24 "STRAIGHT CABLE TRAY COVER 24"" WIDE X 10' LONG"  $ 132.22 
DEL-CST4 "STRAIGHT CABLE TRAY COVER 4"" WIDE X 10' LONG"  $ 21.15 
DEL-CST6 "STRAIGHT CABLE TRAY COVER 6"" WIDE X 10' LONG"  $ 28.80 
DEL-CST8 "STRAIGHT CABLE TRAY COVER 8"" WIDE X 10' LONG"  $ 36.31 
DEL-CT12 "UNION ""T"" COVER 12"" WIDE"  $ 17.98 
DEL-CT18 "UNION ""T"" COVER 18"" WIDE"  $ 25.44 
DEL-CT2 "UNION ""T"" COVER 2"" WIDE"  $ 6.17 
DEL-CT24 "UNION ""T"" COVER 24"" WIDE"  $ 35.26 
DEL-CT4 "UNION ""T"" COVER 4"" WIDE"  $ 7.71 
DEL-CT6 "UNION ""T"" COVER 6"" WIDE"  $ 10.56 
DEL-CT8 "UNION ""T"" COVER 8"" WIDE"  $ 12.43 
DEL-CVB12 "VERTICAL BEND COVER 12"" WIDE X 24"" LONG"  $ 16.65 
DEL-CVB18 "VERTICAL BEND COVER 18"" WIDE X 24"" LONG"  $ 18.14 
DEL-CVB2 "VERTICAL BEND COVER 2"" WIDE X 24"" LONG"  $ 8.29 
DEL-CVB24 "VERTICAL BEND COVER 24"" WIDE X 24"" LONG"  $ 25.04 
DEL-CVB4 "VERTICAL BEND COVER 4"" WIDE X 24"" LONG"  $ 11.21 
DEL-CVB6 "VERTICAL BEND COVER 6"" WIDE X 24"" LONG"  $ 11.37 
DEL-CVB8 "VERTICAL BEND COVER 8"" WIDE X 24"" LONG"  $ 12.34 
DEL-CX12 "4-WAY CROSS COVER 90 DEG 12"" WIDE"  $ 20.97 
DEL-CX18 "4-WAY CROSS COVER 90 DEG 18"" WIDE"  $ 28.96 
DEL-CX2 "4-WAY CROSS COVER 90 DEG 2"" WIDE"  $ 6.99 
DEL-CX24 "4-WAY CROSS COVER 90 DEG 24"" WIDE"  $ 38.97 
DEL-CX4 "4-WAY CROSS COVER 90 DEG 4"" WIDE"  $ 9.01 
DEL-CX6 "4-WAY CROSS COVER 90 DEG 6"" WIDE"  $ 11.98 
DEL-CX8 "4-WAY CROSS COVER 90 DEG 8"" WIDE"  $ 14.97 
DEL-EC12 "END CAP 12"" WIDE X 2"" TALL"  $ 7.37 
DEL-EC18 "END CAP 18"" WIDE X 2"" TALL"  $ 16.65 
DEL-EC2 "END CAP 2"" WIDE X 2"" TALL"  $ 3.85 
DEL-EC24 "END CAP 24"" WIDE X 2"" TALL"  $ 22.92 
DEL-EC4 "END CAP 4"" WIDE X 2"" TALL"  $ 4.63 
DEL-EC6 "END CAP 6"" WIDE X 2"" TALL"  $ 5.26 
DEL-EC8 "END CAP 8"" WIDE X 2"" TALL"  $ 6.03 
DEL-FS18/24 "FLOOR SUPPORT BRACKET 18"" TO 24"""  $ 15.11 
DEL-FS2/4 "FLOOR SUPPORT BRACKET 2"" TO 4"""  $ 5.61 
DEL-FS6/12 "FLOOR SUPPORT BRACKET 6"" TO 12"""  $ 8.38 
DEL-LD12 "LEFT DEVIATION 12"" WIDE X 2"" TALL"  $ 22.21 
DEL-LD18 "LEFT DEVIATION 18"" WIDE X 2"" TALL"  $ 39.13 
DEL-LD2 "LEFT DEVIATION 2"" WIDE X 2"" TALL"  $ 7.83 
DEL-LD24 "LEFT DEVIATION 24"" WIDE X 2"" TALL"  $ 60.74 
DEL-LD4 "LEFT DEVIATION 4"" WIDE X 2"" TALL"  $ 9.98 
DEL-LD6 "LEFT DEVIATION 6"" WIDE X 2"" TALL"  $ 13.66 
DEL-LD8 "LEFT DEVIATION 8"" WIDE X 2"" TALL"  $ 15.59 
DEL-RD12 "RIGHT DEVIATION 12"" WIDE X 2"" TALL"  $ 22.21 
DEL-RD18 "RIGHT DEVIATION 18"" WIDE X 2"" TALL"  $ 39.13 
DEL-RD2 "RIGHT DEVIATION 2"" WIDE X 2"" TALL"  $ 7.83 
DEL-RD24 "RIGHT DEVIATION 24"" WIDE X 2"" TALL"  $ 60.74 
DEL-RD4 "RIGHT DEVIATION 4"" WIDE X 2"" TALL"  $ 9.98 
DEL-RD6 "RIGHT DEVIATION 6"" WIDE X 2"" TALL"  $ 13.66 
DEL-RD8 "RIGHT DEVIATION 8"" WIDE X 2"" TALL"  $ 15.59 

�31



DEL-RFC12/8 "REDUCER 12"" TO 8"" X 2"" TALL"  $ 34.48 
DEL-RFC18/12 "REDUCER 18"" TO 12"" X 2"" TALL"  $ 57.16 
DEL-RFC24/18 "REDUCER 24"" TO 18"" X 2"" TALL"  $ 78.27 
DEL-RFC4/2 "REDUCER 4"" TO 2"" X 2"" TALL"  $ 17.54 
DEL-RFC6/4 "REDUCER 6"" TO 4"" X 2"" TALL"  $ 22.21 
DEL-RFC8/6 "REDUCER 8"" TO 6"" X 2"" TALL"  $ 24.80 
DEL-SLT124D "STRAIGHT CABLE TRAY 12"" WIDE X 4"" TALL X 10' LONG"  $ 125.61 
DEL-SLT184D "STRAIGHT CABLE TRAY 18"" WIDE X 4"" TALL X 10' LONG"  $ 133.47 
DEL-SLT244D "STRAIGHT CABLE TRAY 24"" WIDE X 4"" TALL X 10' LONG"  $ 141.35 
DEL-SLT45124D "45 DEG HORIZONTAL BEND 12"" WIDE X 4"" TALL"  $ 38.27 
DEL-SLT45184D "45 DEG HORIZONTAL BEND 18"" WIDE X 4"" TALL"  $ 43.08 
DEL-SLT45244D "45 DEG HORIZONTAL BEND 24"" WIDE X 4"" TALL"  $ 47.79 
DEL-SLT90124D "90 DEG HORIZONTAL BEND 12"" WIDE X 4"" TALL"  $ 60.58 
DEL-SLT90184D "90 DEG HORIZONTAL BEND 18"" WIDE X 4"" TALL"  $ 70.99 
DEL-SLT90244D "90 DEG HORIZONTAL BEND 24"" WIDE X 4"" TALL"  $ 79.59 
DEL-SLTAVB12 "VERTICAL ARTICULATED BEND, UNIVERSAL 12"" WIDE X 4"" TALL"  $ 36.94 
DEL-SLTAVB18 "VERTICAL ARTICULATED BEND, UNIVERSAL 18"" WIDE X 4"" TALL"  $ 40.36 
DEL-SLTAVB24 "VERTICAL ARTICULATED BEND, UNIVERSAL 24"" WIDE X 4"" TALL"  $ 43.78 
DEL-SLTC12 "STRAIGHT CABLE TRAY COVER 12"" WIDE X 10' LONG"  $ 45.62 
DEL-SLTC18 "STRAIGHT CABLE TRAY COVER 18"" WIDE X 10' LONG"  $ 65.90 
DEL-SLTC24 "STRAIGHT CABLE TRAY COVER 24"" WIDE X 10' LONG"  $ 86.14 
DEL-SLTC4512 "45 DEG HORIZONTAL BEND COVER 12"" WIDE"  $ 12.09 
DEL-SLTC4518 "45 DEG HORIZONTAL BEND COVER 18"" WIDE"  $ 18.82 
DEL-SLTC4524 "45 DEG HORIZONTAL BEND COVER 24"" WIDE"  $ 27.11 
DEL-SLTC9012 "90 DEG HORIZONTAL BEND COVER 12"" WIDE"  $ 21.76 
DEL-SLTC9018 "90 DEG HORIZONTAL BEND COVER 18"" WIDE"  $ 35.95 
DEL-SLTC9024 "90 DEG HORIZONTAL BEND COVER 24"" WIDE"  $ 47.28 
DEL-SLTCAVB12 "VERTICAL ARTICULATED BEND COVER, UNIVERSAL 12"" WIDE"  $ 6.17 
DEL-SLTCAVB18 "VERTICAL ARTICULATED BEND COVER, UNIVERSAL 18"" WIDE"  $ 8.92 
DEL-SLTCAVB24 "VERTICAL ARTICULATED BEND COVER, UNIVERSAL 24"" WIDE"  $ 11.83 
DEL-SLTCC COVER CLIPS  $ 0.96 
DEL-SLTHT12 "UNION ""T"" 12"" WIDE X 4"" TALL"  $ 91.01 
DEL-SLTHT18 "UNION ""T"" 18"" WIDE X 4"" TALL"  $ 100.02 
DEL-SLTHT24 "UNION ""T"" 24"" WIDE X 4"" TALL"  $ 109.03 
DEL-SLTHTC12 "UNION ""T"" COVER 12"" WIDE"  $ 43.91 
DEL-SLTHTC18 "UNION ""T"" COVER 18"" WIDE"  $ 62.65 
DEL-SLTHTC24 "UNION ""T"" COVER 24"" WIDE"  $ 83.38 
DEL-SLTHX12 "4-WAY CROSS 90 DEG 12"" WIDE X 4"" TALL"  $ 108.70 
DEL-SLTHX18 "4-WAY CROSS 90 DEG 18"" WIDE X 4"" TALL"  $ 119.09 
DEL-SLTHX24 "4-WAY CROSS 90 DEG 24"" WIDE X 4"" TALL"  $ 129.28 
DEL-SLTHXC12 "4-WAY CROSS COVER 90 DEG 12"" WIDE"  $ 61.62 
DEL-SLTHXC18 "4-WAY CROSS COVER 90 DEG 18"" WIDE"  $ 85.76 
DEL-SLTHXC24 "4-WAY CROSS COVER 90 DEG 24"" WIDE"  $ 111.23 
DEL-SLTR1224 "REDUCER 12"" X 24"" WIDE"  $ 26.60 
DEL-SLTRC1224 "COVER REDUCER 12"" X 24"" WIDE"  $ 22.65 
DEL-SLTSS4D STRAIGHT SPLICE, STANDARD  $ 1.69 
DEL-SLTVS4D ADJUSTABLE VERTICAL SPLICES  $ 18.85 
DEL-SP2 "SPLICE PLATE 2"" WIDE"  $ 4.21 
DEL-SP4/24 "SPLICE PLATE 4"" TO 24"" WIDE"  $ 2.79 
DEL-SS-025 SELF TAP SCREW (SLOTTED HEX WASHER HEAD) 10/PACK  $ 1.33 
DEL-ST12 "STRAIGHT CABLE TRAY 12"" WIDE X 2"" TALL X 10' LONG"  $ 75.59 
DEL-ST18 "STRAIGHT CABLE TRAY 18"" WIDE X 2"" TALL X 10' LONG"  $ 135.79 
DEL-ST2 "STRAIGHT CABLE TRAY 2"" WIDE X 2"" TALL X 10' LONG"  $ 33.01 
DEL-ST24 "STRAIGHT CABLE TRAY 24"" WIDE X 2"" TALL X 10' LONG"  $ 170.53 
DEL-ST4 "STRAIGHT CABLE TRAY 4"" WIDE X 2"" TALL X 10' LONG"  $ 41.69 
DEL-ST6 "STRAIGHT CABLE TRAY 6"" WIDE X 2"" TALL X 10' LONG"  $ 50.10 
DEL-ST8 "STRAIGHT CABLE TRAY 8"" WIDE X 2"" TALL X 10' LONG"  $ 57.83 
DEL-T12 "UNION ""T"" 12"" WIDE X 2"" TALL"  $ 41.88 
DEL-T18 "UNION ""T"" 18"" WIDE X 2"" TALL"  $ 46.56 
DEL-T2 "UNION ""T"" 2"" WIDE X 2"" TALL"  $ 11.44 

�32



DEL-T24 "UNION ""T"" 24"" WIDE X 2"" TALL"  $ 65.95 
DEL-T4 "UNION ""T"" 4"" WIDE X 2"" TALL"  $ 13.88 
DEL-T6 "UNION ""T"" 6"" WIDE X 2"" TALL"  $ 16.00 
DEL-T8 "UNION ""T"" 8"" WIDE X 2"" TALL"  $ 18.27 
DEL-TRD12 "DOUBLE ROD TRAPEZE FOR 12"" TRAY"  $ 11.66 
DEL-TRD18 "DOUBLE ROD TRAPEZE FOR 18"" TRAY"  $ 17.09 
DEL-TRD24 "DOUBLE ROD TRAPEZE FOR 24"" TRAY"  $ 22.03 
DEL-TRD4 "DOUBLE ROD TRAPEZE FOR 4"" TRAY"  $ 7.33 
DEL-TRD6 "DOUBLE ROD TRAPEZE FOR 6"" TRAY"  $ 9.76 
DEL-TRD8 "DOUBLE ROD TRAPEZE FOR 8"" TRAY"  $ 10.97 
DEL-TRS2 "SINGLE ROD TRAPEZE FOR 2"" TRAY"  $ 4.41 
DEL-TRS4 "SINGLE ROD TRAPEZE FOR 4"" TRAY"  $ 4.96 
DEL-TRS6 "SINGLE ROD TRAPEZE FOR 6"" TRAY"  $ 7.98 
DEL-TRS8 "SINGLE ROD TRAPEZE FOR 8"" TRAY"  $ 8.79 
DEL-VB12 "VERTICAL BEND 12"" WIDE X 24"" LONG X 2"" TALL"  $ 24.65 
DEL-VB18 "VERTICAL BEND 18"" WIDE X 24"" LONG X 2"" TALL"  $ 36.82 
DEL-VB2 "VERTICAL BEND 2"" WIDE X 24"" LONG X 2"" TALL"  $ 14.48 
DEL-VB24 "VERTICAL BEND 24"" WIDE X 24"" LONG X 2"" TALL"  $ 44.00 
DEL-VB4 "VERTICAL BEND 4"" WIDE X 24"" LONG X 2"" TALL"  $ 16.75 
DEL-VB6 "VERTICAL BEND 6"" WIDE X 24"" LONG X 2"" TALL"  $ 18.24 
DEL-VB8 "VERTICAL BEND 8"" WIDE X 24"" LONG X 2"" TALL"  $ 19.81 
DEL-X12 "4-WAY CROSS 90 DEG 12"" WIDE X 2"" TALL"  $ 31.40 
DEL-X18 "4-WAY CROSS 90 DEG 18"" WIDE X 2"" TALL"  $ 46.56 
DEL-X2 "4-WAY CROSS 90 DEG 2"" WIDE X 2"" TALL"  $ 15.66 
DEL-X24 "4-WAY CROSS 90 DEG 24"" WIDE X 2"" TALL"  $ 66.24 
DEL-X4 "4-WAY CROSS 90 DEG 4"" WIDE X 2"" TALL"  $ 17.47 
DEL-X6 "4-WAY CROSS 90 DEG 6"" WIDE X 2"" TALL"  $ 18.92 
DEL-X8 "4-WAY CROSS 90 DEG 8"" WIDE X 2"" TALL"  $ 22.27 

�33



Part Number Part Description MSRP

C20114001 "GROUNDING KIT CLICK ON 1/2"" 1/2 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 20.85 
C20114002 "GROUNDING KIT CLICK ON 7/8"" 7/8 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 18.68 
C20114003 "GROUNDING KIT CLICK ON 1 1/4"" 1 1/4 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.05 
C20114004 "GROUNDING KIT CLICK ON 1 5/8"" 1 5/8 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.41 
C20114005 "GROUNDING KIT CLICK ON 2 1/4"" 2 1/4 COAXIAL CABLE  Specification 2 Hole Lug Crimp-On 60"" Lead"  $ 21.47 
C20115002 GROUNDING KIT UNIVERSAL    BLK 3'LEAD W/UNATTACHED 2-HOLE LUG  $ 29.99 
C20115003 GROUNDING KIT UNIVERSAL    BLK 5'LEAD W/UNATTACHED 2-HOLE LUG  $ 30.90 
C20116001 "BUTTERFLY HANGER 1/2"" 1/2 CORR & COMSCOPE (10PK)"  $ 16.31 
C20116002 "BUTTERFLY HANGER 7/8"" 7/8 CORR & COMSCOPE (10PK)"  $ 14.95 
C20116003 "BUTTERFLY HANGER 1 1/4"" 1 1/4 CORR  (10PK)"  $ 15.89 
C20116004 "BUTTERFLY HANGER 1 5/8"" 1 5/8 CORR & COMSCOPE (10PK)"  $ 16.36 
C20116005 "BUTTERFLY HANGER 2 1/4"" 2 1/4 CORR  (10PK)"  $ 19.04 
C20117001 "SNAP IN HANGER 1/2"" 1/2 CORR & COMSCOPE (10PK)"  $ 13.54 
C20117002 "SNAP IN HANGER 7/8"" 7/8 CORR  (10 PK)"  $ 15.80 
C20117003 "SNAP IN HANGER 1 1/4"" 1 1/4 CORR  (10PK)"  $ 22.52 
C20117004 "SNAP IN HANGER 1 5/8"" 1 5/8 CORR & COMSCOPE (10PK)"  $ 17.03 
C20117005 "SNAP IN HANGER 2 1/4"" 2 1/4 CORR  (10PK)"  $ 17.38 
C20118001 "STACKABLE HANGER 1/2"" 1/2 CORR (10 PK) 3 DEEP"  $ 21.05 
C20118002 "STACKABLE HANGER 7/8"" 7/8 CORR (10 PK) 3 DEEP"  $ 21.81 
C20118003 "STACKABLE HANGER 1 1/4"" 1-1/4 CORR (10 PK) 2 DEEP"  $ 25.45 
C20118004 "STACKABLE HANGER 1 5/8"" 1-5/8 CORR (10 PK) 2 DEEP"  $ 25.88 
C20119001 ANGLE ADAPTER ANGLE ADAPTER (10PK)  $ 62.54 
C20119002 ANGLE ADAPTER ANGLE ADAPTER (2 PK)  $ 12.71 
C20120010 ANGLE SNAP IN SS ANGLE ADAPTER  SNAP-INS (10PK)  $ 54.19 
C20120100 "UNIVERSAL ANGLE ADAPTER ANGLE ADAPTER E/W INSERT (10PK  Usage Information For Snap-In or 3/8"" Hardware"  $ 60.85 
C20121001 "ROUND MEMBER ADAPTER 1"" - 2"" ROUND MEM ADAP (10PK)  Specification SAE Size 24"  $ 11.51 
C20121002 "ROUND MEMBER ADAPTER 2"" - 3"" ROUND MEM ADAP (10PK)  Specification SAE Size 40"  $ 12.76 
C20121003 "ROUND MEMBER ADAPTER 2.5"" - 4.5"" ROUND MEM ADAP (10PK)  Specification SAE Size 64"  $ 14.14 
C20121004 "ROUND MEMBER ADAPTER 3.5"" - 5.5"" ROUND MEM ADAP (10PK)  Specification SAE Size 80"  $ 14.01 
C20121005 "ROUND MEMBER ADAPTER 4"" - 6"" ROUND MEM ADAP (10PK)  Specification SAE Size 88"  $ 27.53 
C20121006 "ROUND MEMBER ADAPTER 5"" - 7"" ROUND MEM ADAP (10PK)  Specification SAE Size 99"  $ 51.62 
C20121103 "ROUND MEMBER ADAPTER SINGLE 1/2"" BAND CLAMP 2 1/2""-4 1/2""  Specification SAE Size 64"  $ 1.21 
C20121104 "ROUND MEMBER ADAPTER SINGLE 1/2"" BAND CLAMP 3 1/2""-5 1/2""  Specification SAE Size 80"  $ 1.30 
C20123001 "TOWER STANDOFF BRACKET 4""-6"" 3/8 HARDWARE (10PK)"  $ 41.83 
C20123002 TOWER STANDOFF BRACKET  3/4 HARDWARE  SNAP-INS (10PK)  $ 36.91 
C20123010 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 3/4"" TO 1-1/2"" OD    10 PK  Equipped With Round Member Adapters"  $ 53.43 
C20123011 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 1-1/2"" T0 2"" OD      10 PK  Equipped With Round Member Adapters"  $ 42.05 
C20123012 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 2"" TO 3"" OD           10PK  Equipped With Round Member Adapters"  $ 61.90 
C20123013 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 3"" TO 4"" OD  10PK  Equipped With Round Member Adapters"  $ 50.95 
C20123014 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 4"" TO 5"" OD   10 PK  Equipped With Round Member Adapters"  $ 57.92 
C20123015 "TOWER STANDOFF KIT FOR 3/8 HWD FOR 5"" T0 6"" OD          10 PK  Equipped With Round Member Adapters"  $ 63.37 
C20123022 "TOWER STANDOFF KIT FOR SNAP IN FOR 1-1/2"" T0 3"" OD      10 PK  Equipped With Round Member Adapters"  $ 48.51 
C20123023 "TOWER STANDOFF KIT FOR SNAP IN FOR 3"" T0 4"" OD          10 PK  Equipped With Round Member Adapters"  $ 54.48 
C20123024 "TOWER STANDOFF KIT FOR SNAP IN FOR 4"" T0 5"" OD          10 PK  Equipped With Round Member Adapters"  $ 46.50 
C20123025 "TOWER STANDOFF KIT FOR SNAP IN FOR 5"" T0 6"" OD          10 PK  Equipped With Round Member Adapters  $ 57.14 
C20123032 "TOWER STANDOFF UNIVERSAL FOR 1-1/2"" T0 3"" OD      10 PK  Equipped With Round Member Adapters"  $ 68.33 

�1



C20131001 "ENTRY PANEL (4"") 1 HOLE 1 X 1  Specifications 7"" X 7"" Total 4"" X 4"" Wall"  $ 23.71 
C20131002 "ENTRY PANEL (4"") 6 HOLE 2 X 3  Specifications 23"" X 17 1/2"" Total 15"" X 9 1/2"" Wall"  $ 84.44 
C20131003 "ENTRY PANEL (4"") 12 HOLE 3 X 4  Specifications 25 1/2"" X 25 1/2"" Total 20 1/2"" X 15"" Wall"  $ 173.80 
C20131004 "ENTRY PANEL (4"") 2 HOLE 1 X 2  Specifications 17 1/2"" X 9 1/2"" Total 10"" X 4"" Wall"  $ 42.48 
C20131005 "ENTRY PANEL (4"") 4 HOLE 2 X 2  Specifications 17 1/2"" X 17 1/2"" Total 10"" X 12"" Wall"  $ 72.38 
C20131006 "ENTRY PANEL (4"") 4 HOLE 1 X 4  Specifications 25 1/2"" X 9 1/2"" Total 20 1/2"" X 4"" Wall"  $ 89.38 
C20131007 "ENTRY PANEL (4"") 8 HOLE 2 X 4  Specifications 25 1/2"" X 17 1/2"" Total 20 1/2"" X 9 1/2"" Wall"  $ 123.79 
C20131008 "ENTRY PANEL (4"") 18 HOLE 3 X 6  Specifications 39 1/2"" X 31"" Total 31 1/2"" X 15"" Wall"  $ 233.37 
C20131009 "ENTRY PANEL (4"") 24 HOLE 4 X 6  Specifications 39 1/2"" X 31"" Total 31 1/2"" X 20 1/2"" Wall"  $ 301.99 
C20131010 "ENTRY PANEL (4"") 3 HOLE 1 X 3  Specifications 20"" X 9 1/2"" Total 15"" X 4"" Wall"  $ 53.83 
C20131011 "ENTRY PANEL (4"") 16 HOLE 4 X 4  Specifications 25 1/2"" X 25 1/2"" Total 20 1/2"" X 20 1/2"" Wall"  $ 181.24 
C20132001 "BOOT ASSEMBLY 4"" (1/2""-1) 1/2"" COAX - 1 HOLE  Usage Information For Corrugated & Smooth Coax Cable"  $ 21.00 
C20132002 "BOOT ASSEMBLY 4"" (1/2""-3) 1/2"" COAX - 3 HOLE  Usage Information For Corrugated & Smooth Coax Cable"  $ 20.51 
C20132003 "BOOT ASSEMBLY 4"" (7/8""-1) 7/8"" COAX - 1 HOLE  Usage Information For Corrugated Coax Cable"  $ 20.04 
C20132004 "BOOT ASSEMBLY 4"" (7/8""-3) 7/8"" COAX - 3 HOLE  Usage Information For Corrugated Coax Cable"  $ 20.04 
C20132005 "BOOT ASSEMBLY 4"" (1-1/4""-1) 1-1/4"" COAX - 1 HOLE  Usage Information For Corrugated Coax Cable"  $ 21.50 
C20132006 "BOOT ASSEMBLY 4"" (1-5/8""-1) 1-5/8"" COAX - 1 HOLE  Usage Information For Corrugated & Smooth Coax Cable"  $ 18.79 
C20132007 "BOOT ASSEMBLY 4"" (2-1/4""-1) 2-1/4"" COAX - 1 HOLE  Usage Information For Corrugated Coax Cable"  $ 23.06 
C20132008 "BOOT ASSEMBLY 4"" (EW52-1) EW52 - 1 HOLE"  $ 107.26 
C20132009 "BOOT ASSEMBLY 4"" (EW63-1) EW63 - 1 HOLE"  $ 89.38 
C20132010 "BOOT ASSEMBLY 4"" (EW64-1) EW64 - 1 HOLE"  $ 80.06 
C20132011 "BOOT ASSEMBLY 4"" (1/4""-3) 1/4"" COAX - 3 HOLE  Usage Information For Corrugated Coax Cable"  $ 39.89 
C20132012 "BOOT ASSEMBLY 4"" (3/8""-3) 3/8"" COAX - 3 HOLE  Usage Information For Corrugated Coax Cable"  $ 28.87 
C20132013 "BOOT ASSEMBLY 4"" (5/8""-1) 5/8"" COAX - 1 HOLE  Usage Information For Corrugated Coax Cable"  $ 20.04 
C20132014 "BOOT ASSEMBLY 4"" (5/8""-3) 5/8"" COAX - 3 HOLE  Usage Information For Corrugated Coax Cable"  $ 18.50 
C20132100 "ENTRY PANEL CAP 5"" REPLACEMENT CAP"  $ 3.04 
C20132103 "BOOT ASSEMBLY 5"" (1-5/8""-1) 1-5/8"" COAX (1 HOLE)"  $ 24.49 
C20132104 "BOOT ASSEMBLY 5"" (EW63-1) EW63 (1 HOLE)"  $ 22.90 
C20132999 "BOOT ASSEMBLY 4"" NO CUSHION"  $ 17.38 
C20146001 "CUSHION INSERT 1/2"" 1/2 CORR & COMSCOPE (1 HOLE)"  $ 4.13 
C20146002 "CUSHION INSERT 1/2"" 1/2 CORR & COMSCOPE (3 HOLE)"  $ 3.91 
C20146003 "CUSHION INSERT 7/8"" 7/8 CORR  (1 HOLE)"  $ 4.60 
C20146004 "CUSHION INSERT 7/8"" 7/8 CORR  (3 HOLE)"  $ 4.49 
C20146005 "CUSHION INSERT 1 1/4"" 1 1/4 CORR  (1 HOLE)"  $ 2.77 
C20146006 "CUSHION INSERT 1 5/8"" 1 5/8 CORR & COMSCOPE (1 HOLE)"  $ 3.46 
C20146007 CUSHION INSERT BLANK BLANK (MAKE OWN HOLES)  $ 4.13 

�2


